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Python gbols Lsgmdgzergdo
1.1. IDLE- 58853900l 35690

Python ULol@gdol obbEowsiool 8909y a93bLlbsom
IDLE (Integrated Development and Learning Environment).
0530530039W5© o0bbgds 0bGHgMogd@omwo 695080, GO
9909353 090dwgds 306390 3GMAGMAoOL  sfigco.
AG®50030ws© 9b 0oymb "hello world".

5060360 36MMyM53oL oLSHIMI© L53BMOLOS GO
LEOogmbo:

print("Hello world!")

3903956900 3mo IDLE gobxs6odo s ossFotmgo Enter
©O53L. 900930 399M35 BobxsM5To:

»»¥ print ("Hello world!™)

Hello world!
0 -

L 298 Colid

d903obgo 99090 LEGO®OJmbgdo s  doowgm
99@g3700:

print(3 + 4)

print(3 * 5)

print(3 ** 2)

06@9odBHmeo  Mgg000 9O 9MOL  JOMHOMSWO.
30O MJ396 3O MyMsdmer 3mpl dgobsbogom gsowdo
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5 89909 390390 3ob. sbowro Fs0EroL Aodmbodobo
06&9M0dGMe Gg70ddo soMbogom File — New File 36dsb9ds

@9 5300 gm Ctrl + N 300080653000.

{ & Python 3.6.1 Shell = | B [
Edit Shell Debug Options Window Help

db5, Mar 21 2017, 17:54:52) [M5C v.1900 32 bit (Intel)] 4
Open... Ctrl+0
Open Module... Alt+M
Recent Files 4

2" or "license ()" for more information.

Class Browser  Alt+C
Path Browser

Save Ctrl+S
Save As... Ctrl+Shift+5
Save Copy As.. Alt+5Shift+5

Print Window  Ctrl+P

Close Alt+F4
Exit Ctrl+Q

3oblbo gsBXsMSTo Fg0dsbgo 9990 3mo:

name = input("What is your name? ")

print("Hello,", name)

3060390 LAMoJmbo  09FEI3L  J0MH3L: Bro  AJ300m
093967 @5 9wwMmEgds, LsBSD 0dz96 96 93MIRM Go0dg
A9JbAHL @ osFgMon  Enter  0ogo3bg.  99@oboen
96003690mdsL  99obobog  name  33¢o@do.  dgmGg
bEHOodmbdo  Qsdmygbgdmeros  print  gmbdgos  GH9gJuBHoL
9369699 259mbo@9bs. 5F0Mgm F5 oozl 56 so6Bogom
Run — Run Module 36dsbgds. 3Gmacmsdol 9583905009
LobBHYds F90MAM935Hgd  Goorol Fgbobgsol.  dgobobgom
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3500 LOLYIMZIE SERAOWSL > 5dob J9IEIY 3MIMYMSDd
35993905.

{ @& j.py - C/Users/Guliko/AppData/Local/Programs/Python/Python36-32/].py (3.6.1) o | B et
File Edit Format Run Options Window Help

name = input("What is your name? ")
print {("Hello, ™, name)

== RESTART: C:/Users/Guliko/AppData/Local/Programs/Python/Python36-32/5.py ==
What is your name? Sandro

Hello, Sandro

Fxr

1.2.  960bL LobEsduo

- bE®ogmbol Q3LOLOYIEO 560b 0bLGMmgzool
©oLOLOME0. §9OEGH0WAI0TY 56 FMoMbM39gds;

—  B539690m@0 0bliEMd30900 96»05609d056 derm3gddo
39993900L LooOoL dobggom. d9fg3s Tgodegds ogmls
BgdoLdogmo, 3935005, OMI  ghmo  sdgbgdmwo
dem30L Botyrgddo dghgzs 0ymb gembsoMo.  3mol
Po3000b350MdsL Mbs 809d39L YIMO®IBY;

- doM0m50 0bLEBHMMJ300L 8999y 0hgMgds MOHIMOEGHOEo
@5 ol 335005335 256o3LYds 3MOol Bsd96gdmEo
d@m30, 99090 doM0mso 0blEMmMJzool dodsmrom;

- BoyxIH LoFoMOHms 0fgOML Msdgbodg obliE®mwydsos
96m bEBH®oJmbTo, odmygmaowo FgdEHow-3dodggdom:
a=1;b=2;print(a, b)

099935 530 353907905 bA0MO 5M0LLYIMZ9e00s.
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- sl5339000 90 0bLGOwMJzool 6599b0dg
LBEAHOOJMbs  sfges. Bo3doMobos dolo Bsbids Hyzow

3635, 3350M5GM 56 BogyMOH GBbowgddo:

if(a==1landb==2and
c==3and d ==4): # 5d mOHofgOEGH0wo Mbos
print('spam' * 3)
- GMoOwo obbRH®J300L  GHobo Tgodwrgds Qobmogliogl
d060050 0bLEGHOMJ300L LBHMOJMBT0gg, Bogsoms:
if x > y: print(x)

1.3. 9903969, 3909m@5bs, 3m096EsM0o

99BHobs 5 290mBbs Qoblbgsgzqds dofigazol (>>>" 96
L) a0lgdmdom 96 9M9MLgdMmdom. dof3930L  godmbgbols
09009y 9396 Mbs  s3M0xzmm  GHgJuBo. dsaswomdo
LAHO®OJMbgdo 6  0fygds dofj3gz0m, @odmoEgds  MZom
06@9M36M9BHoG™MMOL  J0gm. F0dsJ309m  YMMO©©ds, MMI
dogocmomdo  dbmermE  dgmMso  dof)g930L  sOLYIMDdS
50bodbogl, ®md d39b Mbs FgoBsbmm  3sGogwo
LEHOogmbo - 58 Loboo 0bEHIMOJGHOIE Hg500d0 500b0TbYds
36935cbEGHM0JMmbosbo Mgz0dol alisltmyeo.

3Md96@s0o Python=do ofjygds # LOIdMEM®MO
3Md9wgds BEGHMOJMbOL dmErMAY. 3mIGbEHSMO Fgodwgds
0fly9dm@gl  LAHOoJmbol sLLHyoldo b 3m@ol F9dwYy,
0058 965 LEHM®OJmbmeo  2sdmlsbmegdol  dogboo.
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LBEGHO0gMbme 258MLobmEgdsdo # Loddmem FoMTMoqbL
dbmerm # LoIdMEMU.
39630bo Mo 3000 gd0:

#9b 306390 303963905
abc=3 #9l 9gmMg 3d96@ M0

#... 9b AgLsdg 3mF96E S0
STRING="# gls 56 56H0b 30996F M0

1.4. ®ogbggdo

06@9M3M9BHoGHMM0  8FomdlL,  OHMaMOE  MOGSEM
39395 GMOO: 09396 3920005, 536M0xzM»
3990bSHYgds S 00 25TMOESBL F9gAL. 2odmbobryegdols
Lob@oduo FoMEGH0300: M3GMGHMOYOO +,-," @S /  39Fomdgb,
OMAMOE  ©3OMYGMsd9d0L  bbgs  9b9gddo.  ©ixyMBgOoL
d0Bb0m 990degds 35dm309y9bmm gGRbowgdo.

9585¢0mM9d0:

>>> 242
4

>>># gl 30009639000

v 242
4

>>> 242 # 300963560 30000L LEGM®oJmbdoggs
4

>>> (50-5*6)/4

13



5
>>> # 00ger®0o3Ebgs 2oymgzzolisls 390930 M35 9ds
... #Bo3gdmdom
.. 7/3
2
>>> 7/-3
-3
M0 MHobzol 99360M9ds:
print(6 + 2) #8

60 Hobzol godm3egds:

print(6 - 2) #4

™60 MHob3ol godcogzwgds:

print(6 * 2) # 12

M0 Hobzol goymas:

print(6/2) # 3.0

™60 MHob30L gWMHOEHIS QogmRo:
print(7//2) #3

sba®olbgds:

print(6 ™ 2) # 36

65900l Jowgds 4ogmaz0l 89gyow:
print(7 % 2) #1

3990bsbMEgdol STMbLbs:
number=3+4*5"2+7

print(number) # 110

14



fobs  dopowomdo  dmddggdqgool  dodgzt™modols
395L5HYMdS© godmYygbgdmeos BMRbowgdO:
number=3+4)*(5"2+7)
print(number) # 224
C %3980l 96900L Abpoglo GHmemdol bodsbo (=)
399Mm0ygy9gbgds (33w solmzol  360dzbgermdols  dobobo-
F90o@. 80boFgdmeo  360936gemds 98 MM 96
399M0@)obgdo:
>>> width =20
>>> height = 5%9
>>> width * height
900
36003690 mds d90dgds d0boFqdmen 0g65b
JOPOOMS© M59gb0dg 33eoDY:
>>>x =y =2z =0# X y © z (3305090
dogboFgdsm 0
>>>X
0
>>>Yy
0
>>>7Z
0
96580 2450m0yg4qbgdos doboFgdol L3930 mEo
M39M530900:
+= 39360900L 89090l 306039d5;
-= 259M3¢900L 9990l 3060 39d5;

15



*= 2506530900l 3990l 3060 Fd;
/= 359mx30L d900930L J0b0Fg0ds;
/1= 807getr03b3s 4oymaol 99090l doboFqds;
*=M03b30L boeolboL d0b0Fgds;
%= 2459ma30L996 doLgdMEro Bsdmol doboFgds.
3525C0mdO:

number = 10

number +=5

print(number) # 15

number -=

print(number) # 12

number *= 4

print(number) # 48

1.5. ®o@Ebggdol gstsddbol gmbjzogdo

Python 9bs30 @59mo0ygbgds Bs89b69dmwo gmbdisogdo,
G0dwgdog 9M85md96 Hobgzgdmsb. 39Mdm, Rwbjgogdo:
int() 5 float() Uodwogqdsl 0dg3006  25000094356mb
86093690 ™d900 dmnge 56 65830 30390, Iglodsdoloc.

952905, dMm3930s 899Ya0 3MEO:

first._number = "2"

second_number = 3

third number = first_ number + second_number

3m©ob gl gdobsl  29bgM0Mgds  F93mao,
(o906 306390 Mogbzo  HoMImoagbl  LEG®oJmbL.
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d93mdoll  sdmgxbzmobmgol  LoFodms  LGHModmbol
3904365 MoEbzs int() 3bd300L IHsMGO00:

first._ number = "2"

second_number =3

third_number = int(first_number) + second_number

print(third_number) # 5

3b65eMa0mEs 9mPsmdl float() xbJ30s, HMIgEos
39M5gddbol  I3Ee3haMGH0owosb  Mogblzs. oo
(03Eb390m56 3dsmdol OML olsmzawoliiobgdgwos, Mma
39653008 9990 90dgds 56 0gml DmliGo.

3929WOMI:

first_number = 2.0001

second_number =5

third number = first number / second_number

print(third_number) # 0.40002000000000004

d9920UL Q5LOIMRZIW YOS d90dgdos
399m30949gbmo round() gwxbJgos:

first_number = 2.0001

second_number = 0.1

third_number = first_ number + second_number

print(round(third_number, 4)) # 2.1001

xmbdisool 306390 396539@H M0 ol
©5LSIMRZ5gdg0 MH0Eb30, bmerm Fgmeg - G5dgbbodbs
mbs 0gmlb Joegdmeo MHoibzol fowao bsforo.

33M9309M G006 Mobggobg ol Lo
dboO©oFIMs.  M3gMoBHMEYd0,  MMIwgdos  9903s396

17



99090 3Ho3gool  m396Mmsbgdl,  2oModdboshb  dogew
39M56L 336530 9O G005 Hods:

>>>4%25/3.3

3.0303030303030303

>>>7.0/2

3.5

31939, ABoOILFIMS 59300  3MB3WgJuH  BoEblgdl.

Po®dmlbobgomo bsffoaro Bsofigdgds T o6 T LwygodLoo.
3339dbmo MoEbzgdo BsofgMgds, Mmame ‘(real+imagj)’
56 890d@gds 89049bsL 53mbd30000: ‘complex(real, imag)’.

>>>1j* 1]

(-1+0))

>>> 1j * complex(0,1)

(-1+0)

>>> 3+1j*3

(3+3))

>>> (3+1j)*3

(9+3j)

>>> (142§)/(1+1j)

(1.5+0.5j)

3339dlweo 6oEbzgdo $o00ma0bgds

33693090 GH0wosbo  mMo  Mogbgzom - bsdzowo  ©o
Potdmbsbgomo  bsfowom. z 3083egduHo Hogbzosb v
Boffoegdol sdmbsmgdo® 3odmoygbgo z.real s z.imag.

>>> a=1.5+0.5j

>>> a.real
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1.5
>>> a.lmag
0.5
dogo @ 93maghodGowosbo  MHoEbggdol
390 ddbol  13wbJzogdo (int(), long() oo float()) o6
0350096  3Mm33gdumeo  Gogbgzgdolmgzgol - sbgmo
39M5ddbs 96990 3b00369wmMm3560s.  godmoygqbgo  abs(z)
LM EHMGo  360d369wmdol  Jolowgds s  z.real
Powoo bsfogol dolomgds.
>>> a=1.5+0.5j
>>> float(a)
Traceback (innermost last):
File "<stdin>", line 1, in ?
TypeError: can’t convert complex to float; use e.g.
abs(z)
>>> a.real
1.5
>>> abs(a)
1.5811388300841898
06@9coddHme M9g0ddo  dmm  asdm@sbowo
36003690mds  dgobobgds  33wedo, o3 LTS gdls
0dwg3s  Python  908mygbgdmee  0dbsl  Lodsgyom
39395 @MM0L Lobom, Bogow0mH:
>>>tax = 17.5 /100
>>> price = 3.50

>>> price * tax

19



0.61249999999999993

>>> price + _

4.1124999999999998

>>> print (round(_, 2))

4.11

dmdbdocmgdgerds  bs  F0sGML  dsl,  OHmymE3
33wo©L, MHMIgeoa dobsfigomdos dbmerm@ Holsgzomba.
dsb 56 dosboFmo 3bss 9603369 ™ds - md3z9b d9jdboom
©3M30QIVIL  WMIPWYO  33OQL 03537  Lbgwoo,
B539690 330U 2oboo domfizmagel.

1.6. ULE®mogmbgdo

©o3bzgool oMo Python 98sm0dL  bGH®OJmbgdmab
5699 string 30390096, HMBgd03 d90dwqds Bsfgmowo ogml
bbgoolibgs qbgdom. obobo 8godergds Bslidwmwr 0dbsb ghom
56 Mo M FYoengddo:
>>>’spam eggs’
‘spam eggs’
>>>’doesn\'t’
"doesn’t"
>>> "doesn’t"
"doesn’t"
>>>""Yes," he said.’
"Yes," he said.’
>>> "\"Yes,\" he said."
""Yes," he said.’
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>>>""Isn\'t," she said.’

"Isn\'t," she said.’

3Md9gwo BEGHMOJMbMo 2odmbobrengds G9odwgds s0gmls
bbgoslibgs  bgdbgdom 59gbodg LEHModmbsw.  sbsero
LAHO0JMbols Loddmerm  Jgodwgds FgodErgds  EOTSEIMEN
09656 99366 gdemo  Lewgdol (/) ©OHTMGO00.
3929WOMI:

hello = "gb a®dgwo ULEHMoJmbmwo  godmbobwmegdss,
3o 990393L \n\

6590096009 LH®OJMBL\N\“

print (hello)

390920 0g69d:

b 3®dgeo  BEGHMOJMbMwo  2sdmbobregdss,  MHMIgEo3
3903393V

65996039 LGH®OJmbL

bbg0650650, 3H9du@o 890dgds Bsolgol boddog dMFYoergd-
do: " " "B 7T 7 L bE®odmbgdol  IdMErmgdgdo 53
09dobggzsdo 96  bs  0Toml,  Boa®Msd  obobo
Bog61390056 39du3do:

print ("""

Usage: thingy [OPTIONS]

-h Display this usage message
-H hostname Hostname to connect to
")

399M0@sbl d9gaL:

Usage: thingy [OPTIONS]
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-h Display this usage message

-H hostname Hostname to connect to

5MLgdMAL  LAH®OJMbol  FgBEobols  oydMdsggdgwo
95000, HMIgEoi 99odwgds 3obbmME0gw®gl T b R’
LoddMEMgdom  dMFYoegdol  Fob. 88  Fgdmbggzsdo
4906bgd o Lewgdo  Jgodegds  2odmyggbgden  0dbsl
96520 96 MGBsa0 dMFYogdols To30LmM30L, vy dso
fob MLHEO9dL F906Mbgdmwo Lewgdol 39630 MomEabmds.
09939 0300 Jg0MHbgdMEo Lewgdo sMBgds LEGHMOJMbol
Boffoes. 0459¢0q 93 M90880 LEBHMOJMbO 56 T3S
3906bgd o Lergdol 39bGo MomEIbmdom.  IMIv)-
9539090  Mg9g0do  LOELOGIYJIWMS 03  JgBmbzgz9ddo,
LG LoFomms d9d6MHbgdmewo bewgdol 3603369 m3zs60
6509bMdOL Fg¢obs, 0599005 MY IOV godmbo-
bmegdqddo.

LEGHO0JMbgdo Fgodwgds 2o9MH0bEIL + M3gMSGHMEMOL
3°9my9690000 s PodM53eEIL * M3gMHOEGHMMO0):

>>>word = "Help’ + A’

>>> word

‘HelpA’

>>> <"+ word™5 + >’

‘<HelpAHelpAHelpAHelpAHelpA>’

96O»s6gmoL  23960©om BsfigMowo mmo LE®modmbog
399600056 900. dmyzsbogn dsgomomdo 306390
LEHOoJmbo 890dwgds BsoHgMmL d9dgabsoMs:

‘word = "Help’’A”.
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0dae g dgom©o 3dsmdls Fbmerm@ GMHMTsbgmoL
33900  sfgMoo  bEM®OoJmbgdobmzols  @s oMo
6900d30960 LEBHMOJMbo A5dMBIbMEgdoLm30U.

>>>str’ ’ing’ # LHmGoo

‘string’

>>>’str’.strip() + ’ing’ # LHMEO0s

‘string’

>>>"str’.strip() 'ing’ # d93mass

File "<stdin>", line 1

str’.strip() 'ing’

A

SyntaxError: invalid syntax

LAHOoJmboll  6gdoldogmo  LoTdMEEMl  5TMEYdS
d90dgds  dolbo 0bgduol gd3zgmdom. C gbols Abgoglo
306390 LoddmEml 0bgdlos - 0. LoddMmEMBMZ0L (35039
G030 96 56MOL.  LoddMWM GOl geHMgMwo  LogMdol
LEOodmbo. J39uEHModmbo dgodgds gobolisDwz®mmlb Mol
d9039mdom - MO0 0bgdlom, HMIWIOOE AITMYMBOOS
MOF9OEGHOWOom.

>>> word[4]

A

>>> word[0:2]

He’

>>> word[2:4]

p’
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Python gbs3o  ULEHModmbols  dgagzers  99dengdgeos.
LoddMEOMU 39330l 9309w Mds 39bLsBEZEIMEn
3mD030590 96 J3qlBHMmogmbado 259mof393L g3 ™asls:
>>>word[0] =X

Traceback (innermost last):

File "<stdin>", line 1, in ?

TypeError: object doesn’t support item assignment
>>>word[:-1] = Splat’

Traceback (innermost last):

File "<stdin>", line 1, in ?

TypeError: object doesn’t support slice assignment

F6oL  0bgdugdl  5gd30  Lobotmygdem  360d3bgwmds

©30E0m:  253MmGH™M390wo 3063900 0bgdlo 0m3zwgds
0-0b GMWsE, 5dMEHM390o dgmeg obgdlo oderggs
03039 99093L, OMAMO3 Mmomdml Jomomgdmwo  ogml
LEHOOJMbol dererm LoddmEml 0bgduo.

>>> word|[ 2] # 30639¢0-m60 LoddME ™

He’

>>> word[2: ] # dogaro bLEHMoJmbo AsM©s 30MH3go MOO
LoddMEMUS

IpA’

FOoL  m396M5300L  LoboMRJOEM  FoM0sbGos: s[:i] + s[i:],
(9903 GHMEWOos 5-0b.

>>> word[:2] + word[2:]

"HelpA’

>>> word[:3] + word[3:]
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‘HelpA’

0v) 0bgdbo 530G LEHGOJMbol LogMdgl, oo
5385300905 oMb LBEGHMOJMbol LoaMAoL GHmo ogmb.
0v) B9 LBBE35MHO 6530005 J39W0PY, IdMIMBLYOS
396090 LAModmbo.

>>> word[1:100]

‘elpA’

>>> word[10:]

»

>>> word[2:1]

0bgdugdl  Fgodegds  3Jmbge  obymzomo
3600836903900 d ™Mb Qosm3molbmazol:

>>> word[-1] # dcmem Loddmerm

A

>>> word[-2] # dc@ombfobs Loddmem

. 0

P
>>> word[-2:] # dm@om M0 LoddmE ™

DA’
>>> word[:-2] # dmgom MmO LOIdMW ML QoM
'Hel’
-0 030399, ®53 0, 56v) 56 25H0M3eGds drEP M.
>>>word[-0]  # (©509bss3 -0 040399, M5 0)
STE
MoOymxzomo  0bgdugdo  FMqddo, OGMIWIdoE 2oL
LoBO3MYd0IB, 330905 oMMl olobo Bmerol GHmero
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0ygmb. Fbmem@ 56 J99350mm om0 godmygbgds oM EHogz0
060094L9doLmM30L (9MmM9EX9gd96EH0s60).

>>> word[-100:]

‘HelpA’

>>> word[-10] # 9g;300md

Traceback (innermost last):

File "<stdin>", line 1

IndexError: string index out of range

B58969090 1396300 len() 536690l LGHGodmbol Log®mdgl:
>>> s = 'supercalifragilisticexpialidocious’
>>> len(s)

34

1.7. Unicode Ly®Mogdmbgdo

1.6. 396000  hygoemo  Python  gbsdo
dobshzomdos Imbsggdms sboewo @Godo Ggdu@ol dglsboboc -
Unicode bE®odmbol. o0go 890dwgds 998myqbadme 0dbsls
A9JuAH9b BsdMdom , HMIGOE JONOOMMEs© Jgo3egL
SbMadL s Msdgbodg 9bol  LoTdMEPmgdL. Unicode
LAHOodmbgdo  LOMs© 063 JM0MHIds B39 gdMOg
LEAHO0JMbgdMb,  93BHMIdGHMO©  bgbab goMsddbgdL
LoFommgdol dJobggz00.

Unicode 593l 860d3bgem3zsbo  MB3oGsGHglmds -
Poto9bl 93900 LoddmemU 2459myqbgdols
d9L5dGOMBSL, MHmIwgdo3 399y9gb9d0s
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056599060Mm39 ©s 939 B9Ju@gddo. scg Tglsdergdgero
0ym 256 LOAdMEOML 459MYqbgds 2obloBMZMO 3OO

339000, Gsg  LoMmwmwgl Jdbos  IOMPMIFMWO
MBOHMB39gmRol 06EHIOBsE0MbsEr0Bs300LsL.  Unicode
09393L 08  36MMdEgIL  g43z9ges  LodMWMbmM30L  9HDO
3MOIO0 33960L goblsbrzmom.

Unicode UB@®Mogmbgdo 3560350 8904dbgds:

>>>uHello World I’

u'Hello World I’

353oMy u sl dMFYoemols fob »Bgz9bgdl, ™I Mbs
d904dbsb Unicode  LyModmbgdo. v b bG®odmbdo
BoGromo 1393000 LoddMEWMgdo,  dsdmoygbgom
305603900 d0dy3e)MdqdO:

>>>u'Hello\u0020World

uw'Hello World I’

0050390  809936M™ds \u0020 doMm»ocgdl, ™I
3(30009dg0s  Booligsl  Unicode  Loddmeom  GHogyomo
bmdmom  smzol  m9d3Ldg@Emdom  LolEgdsdo  0x0020
(b5639%0).

0dol @odm, Mmd 3o6Mgzgwo 256 Unicode Loddmeom
030399 M3 LEHBIOEGHMw Latin-1 30©0M9d5d0, dg@9qL
9690D9 G9duGobL 893 9bs FoEH03900.

OmamO3  B39wgdmHo30  LE®odmbgdobmgzgol, sligag
Unicode UL&®0odmbgdobomgol  sMbgdmdl  ©ow)dwdsgzqdgero
69:000, M™Igog dmEgdeos T 96 ‘R’ Loddmermgdoom
0 Fgogdols  §ob. 8FsOMZgWO©  0m3Egds  Fbmerm
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909930 d9d0, O@Awado3  9dmoygbgds  Unicode

LoddMEMYOOL sMLO60Abs® s FbMWME YY) 498M0Ygbgds

3906mbgd o Lergdol 39bGHo Bromgbmds U’ sbimb {ob:
>>>ur'Hello\u0020World

u'Hello World I’

>>> ur’'Hello\u0020World I’

u'Hello\\\\u0020World !’

Bgdmom  sefghowo  IgmmEol  gots  Python
3305350md  Unicode LEOogmbols 3999960l

99L5dgdMASL  3bMmdo  3mEPoMmgdsdo  LEG®OJmbob
bog3mdzgandy.  Bd9gbgd o g3mbdios unicode() dgodergds
dmdomdql Latin-1, ASCII, UTF-8, UTF-16 s ULbgs
36535 m36. Mool 3Mobio3om Python oygbgdl ASCII
3MOMgOsL, dogoomo print  0blEGMwJz00m  936M56%9
3900boEObs©O s Foowdo Bsfgmolsl. 0 mdzgh aod3m
dmbo3gdgdo bbbz  3moMgdsdo,  Unicode
LEHOOJMbol Jobowgds godmoygbgm bs89bgdmwo Bmbdizos
unicode(), doMPOMIM JMPOMYdS  TgMEg  SORMIIBEHOL
Loboo.

o) Unicode LE®odmbo 99033038 Loddmemqdls 127-%g
390 3mom, ASCII -8o go0ogdbs d9mdergdgeros:

>>> str(s)

Traceback (most recent call last):

File "<stdin>", line 1, in ?

UnicodeError: ASCII encoding error: ordinal not in

range(128)
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II ®s30
385(0039¢0 M39M5¢HMM9O0

2.1. if-elif-else 0bLEHMMI 509

395693™gdol  Mm39MHoEHMMO Python-8o  58m®bg30l
doMomoo  0blEGHMMIgbE0s. 0ao  9dmoMmBI3L  MHMIgero
9mgdd9ggds by gL gl  30MHMdOL  F9amdgdosb
3980m30bs6Y.
0930530039ws  ofiggds if  Bsfoero  3oM@dol
50360393690 godmbobrmgdom, 89dgy sl Fgodergds
dmy3qL elif gmmo 6 ©53gbodg 9o ME0wgdgo boflowo
Q5 DML, 5559 30egdgo else bsfoero.
Dm0 Lobg 9989065065 godmoygmemgods:
if test1:
statel
elif test2:
state2
else:

state3

356030 3535e0mo 893Fo3L 'true’ - Mosb 1 sGol
F983s6m0@0:

>>>1if 1:
print('true')
... else:

print('false")

29



true

3999 9535omTo 9990 ©3M3090I0s 035Dy,
0] 65 9903565 ImIbA>69dge0dos:

a = int(input())
ifa<-5:
print('Low’)
elif -5<=a<=5:
print('Mid')
else:
print('High')
3MbLEOWMJ3050 M599b0dy elif Q5dmygbgdom dgodeng-
0o Bosbo3gml switch — case 3mbLEGMY300 I3MHMYMTgdOL
Lbgs 9b9ddo.

©MY037M0 M3GMHSEHMMIOO:

X and Y - 393056005, GmEbsg mmo3g X s Y
3600836903900 6oL 3930003 0;

XorY - 398956003095, HmqLsig 00bss ghm-ghmo X
5 Y 36093690 ™0930q56 sG>0l 39835603 0;

not X - 39895600305, 099 X 9305600.

3obgzobowmm 0bbBMMJaos, Lo X
960036903056 25dmdobstg A -l B0gboFgds Y 96 Z.
3M6309@Mwo, 099 X 390050005, 35d0b A -b do9gboFqds Y,
boem o X 93096000, A - 0960390 Z.

if X:

A=Y
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else:
A=7
03039 0bLE®M®J305, T9odegds  ©I3hgOHMmm  MROH™
dorgeg:
A=YifXelseZ

39630bomm 303 9O Fsoomo:
>>> x = int(input("890&sbgo Moibgo: "))
>>>1fx < 0:
..x=0
... print (99s6gmzo0mbL 3;33om 0-007')
.. elifx==0:
... print (bwewo’)
..elifx==1:
... print ('9H»0’)
... else:
... print (99@0’)
39050900l Mm39M5300L 8535¢009d0:
a=5
b=6
result = 5 == 6 # 30bsbsgm ™3gMs3zool g9l

33wodo
print(result) # False - 5 56 v)co60b 6
print(a !=b) # True
print(a > b) # False - 5 653¢09d05 6
print(a < b) # True
booll = True
bool2 = False
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print(booll == bool2) # False - booll s6 ¢)co6olb bool2
©M037M0 M3GMHSE00L 3535¢0mgdO:

and (@ma03996M0 2od6M0309ds)

5) age = 22

weight = 58

result = age > 21 and weight == 58
print(result) # True

0) age = 22

weight = 58

isMarried = False

result = age > 21 and weight == 58 and isMarried
print(result) # False, ®50g0b isMarried = False

or (gm0l 893609ds)

age =22

isMarried = False

result = age > 21 or isMarried

print(result) # True, ®5ob age > 21 sG>0l True

not (EoM0329M0 V)5MYMGI):

age =22

isMarried = False

print(not age > 21) # False

print(not isMarried) # True

9cmg0d990900L 908936 ™MdoL 3933300Lm30L
990d9ds 259myqbgden 0gbsls IMy35w0 gMRbowgdo:
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age =22

isMarried = False

weight = 58

result = (weight == 58 or isMarried) and not age > 21 #
False

print(result)

2.2. While 303emo0

While 30300 96Om-9600 g439wsbg Mbo39MLocwHos
Python-ob (303e9d0sb, sd0GH™3 ULszdom bgeros. 0yo
3030l Gobl goleregdl 95659, Lobsd (3030l 3oMMds
F900560@05. 303¢00b LobEoduo:

while 306HMds_g5dmlabwyangds:

0bLBHMMI30900

3M0 093053l 5-sb 15-d7 3963 MoEbgzgdL:
i=5
>>> while i < 15:
print(i)
i=i+2

— O N Ul
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aobgobormm godmbsBoll  MoiEbzgdol asdmmgzgerols
36OHMyM5IME0 3MOO:

>>> # 0dmbshob (360 030:

... # m60 Hobs MHoEbgzol xsdo 4obLsbE3MOZL

... # 000©936mUL

..a,b=0,1

>>>while b < 10:

... print (b)

...a,b=b, a+b

Ul w N~ =

8
39630bomm 3545000 BMR6EHWWs:

- 306390 LEGHMOoJmbo Fgoegl IM3EMdom JoboFgdol: a
© b (33wsydL  gMmOOHMYwI©  9boFgdom  360d3b69-
©wMmd900, dgbodsdolo 0 s 1. dmwm LEHGodmbdo ogo
LEOHMOGdS bgsbes, Mog wh39600L, a s b (33 YOL
9096039050 sboero 360d369emdgd0.

— while gogwo ULOMEEYds, 35658 306MHMds b < 10 5ol
F900sm0@0. Omymeg bbgs 969080, Python-do 6gdoldogMo
556 m3560 3603369e0mds 03w gds F9FoM0ES, beagnm
0 -93056M5@. 3060HMdoL Lobom Fgodwgds ogml LEGMogmbo,
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bos 96 bgdobdogMo  800g3ermds. 909¢936M™Mds>
565bmmgsbo  Log®doom  s®OL  Fg8doGo@Go, (356090
000936M™ds -  93M0.  F9oMgooL  LEBIBIOEH™MEOo
M39M5@MM9d0 0fjgMqds C gbols sbosmpaom®s: <, >, ==, <=,
>= Qo =
- 303e0ob Gobo sfgmowos dghg30m, o3 29dmoygbgds
©IX3BIOM0 0bLEOWJ300L BolsfgMo.

print  obLEMMJ30oL  AodMogd3l oLy  PoIEYIMEO
36003690mds. 063 gmogd@Eome Mgi0ddo print 0bLEGHOYI300L
LEAHOOJMbo godMmogal ¥ FYoegdol 256M9dg s gargdgb@gdl
dm60b Roligzodl bo®zqbl.
>>>1=256"256
>>> print ("1 33¢50L 36093690™mds GHmoy’, i)
39g30:
i 33o@obL 36033690mMds GHrmos 65536

©535LMME9gdgo 3dodg Lo gdsls 0derggzs 360d3zbg-
@Mmdol  20dm@obol 890y  ©IML3SL  boMzgbo  sbogn
LEHOOJMEBY 3oLzl boggwrso:
>>>a,b=0,1
>>>while b < 1000:
... print (b),
..a,b=b,a+b

11235813213455 89 144 233 377 610 987

39630b0wmm 3MMAEMSToL 3mEOo, MMIgEoE 0m3wol
(0oEb30L BOJBHMOH0SEU:
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number = int(input("9go&obgo Moibgo: "))
i=1
factorial = 1
while i <= number:
factorial "= i
i+=1
print("®o@bgol ", number, "BodGHmO0sw0 GHmeos", factorial)
JQJ0:
39039690 Moibgo: 5
6oEbzol 5 Bog@mMoswo Gmeos 120

2.3. for gozeo

for @gogwo  TgsMgdom  OHMWWos,  BsJergds
mbB039MLOEMM0o, GRYNORY! 39E0 9000 LHGoR5©
bLEOMPEOGds, 3069 while 3o3ero. gl 303wo  As03¢oL
B9oobdoge  0FHIO0MIOME  ™mdogJBHdg  (LEAH®OJMEDY 6
LosBY) S (39C3IMO 2930l OML SLOEIGOL F0ZOL
Aobu.

La lk.py - C:/Users/Guliko/AppData/Local/Programs/Python/Python36-32/lk.py (3.6.1) l =NACH X
File Edit Formst Run Options Window Help
i 'hello world': 4

print{i * 2, end='")

|
990930
== RESTART: C:/Users/Guliko/AppData/Local/Programs/Python/Python36-32/1k.py ==

hheelllloo wwoorrlldd
Fry
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for 3ozeo 259m0dsbgds o 3gMeo  Mosbzobomgzol
Moisbgzms  3mwgdaosdo, Mmmdgwog  dgodergds  dgoddbsls
range() xbJ3z00L 259mygbgdom. (3030l  FMOTSEMEGO
29bLOBOZOO:

for int_var in @¢«b6J305_range:

0bLGHMMJ30900

3030l FgbemHegdol 3063900 393woLLL (3030
800090L 306039 ®oEb3L 3Mw9J300IH, BgMmMg 353 OLSL -

99mMglb s sbg 9999y, Lobsd o6  A5s50MBg3L  g39ges

6o3bal, ®ob 990009393 03O LML Fw)domdI.
39630b0Mm B59BHMMH05OL godmmM3EPol Foqsomo:
number = int(input("dgo@sbgm Gogbgo: "))

factorial = 1

for i in range(1, number+1):

factorial "= i

print("gsgj@mmoseo”, number, "Gogbzol GHmEos",
factorial)

0530530039 99235J3L  3MBLMmEosd  ®ogbgo.
303w3do  2obgLoBzMszm 1 (33we©L, MMIgedoz 0bsbgds
(oEb30 3Me9dE00sb, 99Jdboo range 36400l doge. o
23bJ30s range 0L MmO sGOHRMIGBAHL - 3Megdigool Lafigolo
Goabal, of sMob Moisbgo 1 s Moibal, HMIgesdga wbos
©5935@ ™ML MoEbggdo - number +1.

5399350 30bLME0sb FgEoboer 04bs 6, 35d0b range
53BJ300L godmdsbgds J00wgdl 8909y BMEOISL:

range(1, 6+1):
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9L 8b6Ji0s 894dbol 3memgdEosl, MHMAgeroE s0fygds
I-om @5 300@y3eMmd0m gozLgds domgwo Mosbzgdom 7-

90g. 969 9L 0gbgds 3megdaos [1, 2, 3, 4, 5, 6].

3030l gl gdolsl sbodbmwo  3megd300sb
900936M™MdOm 25593995 Mobzgdo i 33wsdo, bmem
0300 (303030 dmbgds 1 3300@OL 25dMsggds factorial
3309 DY. 89009390 303009000 MHO(3b3930L BoJEHMO0SWL.

d9gp0:

3905690 Mobgo: 6

2399 BHMOH050 6 MoiEbzol GHmeros 720

range 339693050 593b 999920 BMOHIgd0:

— range(stop) - 506¥bgdL yzgs domger Goabgl 0-sb
stop-0QY;

— range(start, stop) - 90MbgdL g3z9gews ;g Hosbgzl
d995gdo:  start-ob  (Poodgom) stop-0g (o6
Bom3mom). 335dBHMM05oL godmm3Eol dogow003do
LHmO9g gb O3S 0gm 459mygbgdmeo;

— range(start, stop, step) - 506(bgdl doger MoiEbzgdlL
dpegdo:  start-ob  (Bomgerom) stop-0g (o6
Bomgmom), MmIwgdos 0BM©I00s6 step 3600369-

WMO0m.
3obg30boermo range 53bdiz00L 399mdsbgdols
3525 0mMdO:
range(5) #0,1,2,3,4

range(1, 5) #1,2,3,4
range(2,10,2) #2,4,6,8
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range(5,0,-1) #5,4,3,2,1

9529 0mMs©,  35dM3039bmo  d0d93MrMd00  Yyz9ws

6obz0 0-sb 4-0¢9:
for i in range(5):
print(i, end="")

0] 3m399M@0s Bos, MHMIgEoE 99ygds dogeo MHoyo
9999639d0L0b. 9309300390 (3030 J0TSMMS3L
30639 9gdgb@l, 0909y TgmEgl, gLsdgl @s  dby
8990093 35390 9gdghd By LOEYWPIDS JHOW0E0Z)
9cmd099ds (303w0L 3HobTo. 56 sGOL LsFoMm 9wgdgbEgdols
50m90s 06gJugdols Jobgz00m s 963 0dol  JoBLEBOZMS
0¥ G®MIJro gegdgb@oom d0og30©gds Los. 3030 M30m™b
3900550BI3L 5 4oBLIBOZMZL ILOLEOYIENL.

39630bowmm  dogoomo, Lss3g GO  S3MIMbg3L
Lo0sb 9argdghEgdl d0dEI3MdOm:

#659009b0d9 LEGHOOJMbOL LoaMIoL AsBLYBOZM.:
a=['35®9", 'bL3om', '399MHPEIWO']

for xin a;

print (x, len(x))

8900930:
395G 4
b3ogrMm 5

30ORIwo 8
3obgobomom  dsoomo,  Losg  Los G990
o3Eb3900L90, F9IPIP 0093 JdS 2-000  QOHBOOWO
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(oEb3900. dm3gdNe  dspdsomdo  LBosdo MoEbzgdo oG
03390

La or.py - C:/Users/Guliko/AppData/Local/Programs/Python/Pythan36-32/oepy (3.6.1) o | E e
File Edit Format Run Options Window Help

list = [10, 40, 20, 30] .
for element in list:

print (element + 2)

99¢09%0:

== RESTART: C:/Users/Guliko/kppData/Local/Programs/Python/Python3e-32/om.py ==

12

42

22

32

57 | -
Ln:108 Colid

k

Dmaxg®  LsFoOMS ™300 Loob  Fg33ws,  BoRdWOMI©
090(3350ml  (35¢039w0  9argdgb@ol 360dzbgermds 6 od
99996¢39080L 36033690 Mdqd0, MHMAEO03 530594M530gd96
3obLoBEZOIME  306MHMdSL. 53  Fgdmbgzggzsdo  mdgBgb
99dbgg3s5do  LoFoMms  (33oolL  Fgdm@obs, GmIgeros
50b0dbsgl 9agdgb@ol 0bgduls:

& o e e

FEile Edit Format Run Options Window Help

i=0

iisc = [10, =20, 20, 30]

for element in l1ist:
lisc[i]l=element + 2
i4=1

printc (li=t)
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39©930:

== RESTART: C:/Users/Guliko/ApplData/Lc
i
[12, 42, 22, 32]

FFF

2.4. continue Mm39M5G™MMO

continue M396M5GHMOO  539MIOL  F5ILZWSL  303X0l
3990099 0¢JM5(305PY.

2963000 M F5g90m0, Losg ‘O’ sbml gdmbggzedo
3030l 3obo 56 g gds:
File Edit Format BRun Options Window

i '"hello world':

i=="-\-"-

print(i * 2, end='")

39©930:

hheellll wwrrlldd
g )

2.5. break m3gMs&™O0

break ™39Ms@HmOo  0(j393b  3ogwol  M3oM™dMmE
990g390°L-

M99 dogoomdo 303¢0 d9H9393L, 399dsmdsls ‘O’
LOTdMEMBMS6:
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for i in 'hello world":
ifi=="o0"
break
print(i * 2, end=")

39©930:
hheellll

M99 dspocmomdo (303edo 2odmygbgdgaros else.
0blG®Jzool  dewmzo else-ob  Jogboo gl gds
dbmermE 08 d90mbzg35d0, v 3030 goligers Imbs
break-ols go6909:

>>> for i in 'hello world":

ifi=="a"
break
... else:
print(‘a sbe 56 sG0oL LEGH®OJMb3o')

a sbm 56 sGOL LEBH®OJmbJo

3ob30bowmm oo omo, o MEHOL 25933090
391693 o:

print(" sl gdoLm30L IsFoMHgm Y")
while True:

data = input("890@&s69m Msbbs goigwroliomzol: ")

if data.lower() == "y":

break # 3030056 olgems
money = int(data)
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cache = round(money / 2.56)
print("©s0(399s", cache, "©MmEs®0")
print("3533womo 3mbJ@ob 990omdos
©LOYLIII0’)

39©930:

== RESTLET: C:stefstuli]-:r:uH—LppData,-’LDcalfPIngIaIr.s,fi
slifrmgboliongol ssFoMgm Y

dgohebpm mubby gopgmobimgoli: 100

in3)ds 39.06 mmsfo

dg0Gebym mebbe epamobogoli: 200

©soE)ds 78.12 rmsfo

dgoGebym mebbs epamoliogoli: 450

uoEgde 175,78 eamafo

dgodebgm mabbs opgmobogol: v

aoizamomo Jabgdol dmdends iLfmmybmmos
>

2.6. B5¢0 00900 3030900

96Omo 3030 Fgodgds 9903393098 Lb3s (303¢090b.
39630bowMo 2596530930l 3bMHOOL Jogowomo:
foriin range(1, 10):
for j in range(1, 10):
print(i *j, end="\t")
print("\n")
3909 gogwo for i in range(l, 10) 0dwdsggdl 9-x9M,
6596 range wbJzools Joge IdMHBYdME 3mengdzosdo 9
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6oEb305. d0s 303wo for j in range(1, 10) 03m3o390L 9-x 96

3969 303W0L gMmMo 0GYMS300LM30L s Fglsdsdoloq, 81-

X9IO 39609 303¢00L 4395 0GHYMHHEFO0LM30L.

dos  (30300L 339X 0GJMOE0s30  3MmbLMmbY
399M0@obgds i o

89@9aL:
== EESTLRT:
1 2
2 4
3 a
4 g8
5 10
a 1z
T 14
8 1&
a 18

C:/Users/Guliko/AppData/Local/Programs/Eytho

&

10

15

20

25

30

35

40

45

44

6

1z

18

24

30

3a

42

48

54

7

14

21

28

35

42

49

=1

]

n/Python
g

j ©0o3bggool bs3Gmsgwo. 3030090m

36-32/bv.py
g

18
27
36
45

54
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III 30
do6005¢0 3mbs39dms 03900

3.1. ®o3bggdo: dmgwo, 659300, 3md3egdliy®o

Python gbs8o ©o@Ebggdo s6sg6om  256Lb3s3900005

B30mwgdM030  M0oEbggooLysh.  domBg  3ME39XYds
B399 906030 3509353H0329M0 M39615(30900:

X+Yy 3936905

X-y 2903093

X"y 3996530905

x/y 39YMRS

x/ly 909M03b35 ROYMes

x%y 399Mg30L 99009250 d00gd)emo bsdmo
-X 6oi3bzol 6odbob 9933

abs(x) 6o3bz0L o

divmod(x, y) | §y30wo (x//y,x % y)

x™y sbooLbgds

pow(x, y[, x¥ dmwyerol dobggzom (00vg ImEeo
z]) dm(39005)

wbs 500b0dbml, MHmd python-do domgwo Gosbggodo,
bbgs 9653500 96900L56 25b6Llbgsggdom, Tbo®L  Fg69b
3Md9 (065350M39M530006) 5G0MTgBH039L, M»MIi3s olbobo
dmombm3z9b o IgbliogMgdsL.

>>> 255 + 34

289

>>>5%2

10
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>>>20/3

6.666666666666667

>>>20//3

6

>>>20% 3

2

>>> 3" 4

81

>>> pow(3, 4)

81

>>> pow(3, 4, 27)

0

>>> 3" 150
36998848503512697292470078245169664418647310038972297
3815184405301748249

3060 39630900

dog ©oEbgzgdbg dgodegds gl do@wemo
M39M530900.

x|y | 96 m3965300
XNy | 2990360330530 96 Mm3965305

x&y | ©5 m3965300

X << 1 | 53365 doM3bbog

X >>y | 59365 363603
X 003900L 06396l

46



53539000 3gnMEYdO

dgoomeo int.bit_length() - 0dwggzs 30Ol Momey-
Bmdsl, Gmdgoi  LsFodms  Moabzol  Fomdmboygbos
mOmdomo  bsbom,  bodbolb s Lofigobo  Byewols
39035¢0lHobgdol as69dy:

>>> n=-37

>>> bin(n)

'-0b100101"

>>>n.bit_length()

6

dgoomoo int.to_bytes(length, byteorder, *, signed=False) -
©5306HgdL B503HGdoL BEHMOJMbL, HMAgeoi HoMmBmoygbls
5d HoEbal.
>>> (1024).to_bytes(2, byteorder="big'")
b"\x04\x00'
>>> (1024).to_bytes(10, byteorder='big')
b"\x00\x00\x00\x00\x00\x00\x00\x00\x04\x00'
>>> (-1024).to_bytes(10, byteorder='big', signed=True)
b \xfAx A\ A\ FAX A \xff\xfc\x00'
>>>x = 1000
>>> x.to_bytes((x.bit_length() // 8) + 1, byteorder='little")
b"\xe8\x03'

dgomeo int.from_bytes(bytes, byteorder, *, signed=False)
- Q950M19690L MHO3b3L B50EJOOL dm39dYo bEHMOJMb0Ib.
>>> int.from_bytes(b"\x00\x10', byteorder="big")
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16

>>> int.from_bytes(b"\x00\x10', byteorder='little")

4096

>>> int.from_bytes(b"\xfc\x00', byteorder='big', signed=True)
-1024

>>>int.from_bytes(b"\xfc\x00', byteorder="big', signed=False)
64512

>>> int.from_bytes([255, 0, 0], byteorder="big")

16711680

3.2. 5003¢ol Lol gdgdo

Sm3wol  ghomo  bobEgdosb  dgmeégdo  Gogbgzol
293LY3965¢0 Python 9bsdo s®ol Ms8gbodg i3bjzos:
int([object], [s003olb LolEBgdol Bwydg]) - MOl sSOMdOM
bobBH9dsdo  @oMsddbs.  2ohMdgd0om  SM3ErolL  Lolidgds
SMMI0MO0, oMsd G90drgds do39999c 0gbsl Bgdoldog®mo
1A 2-sb 36-0l Bosmn3e00m.
bin(x) - dongeo HoEbzol 3oMsddbs mOMd0m LEMOoJmbs.
hex(x) - dogeo Gogbgzol smogdbs 16-mdom LEGHMoJmbo.
oct(x) - dogero MHobzolb 4oMeddbs M35md0m LEGHMOJMbo.
39630bow Mo 350 009d0:
>>>a =int('19") #bEHO0odmbols gowsyzs6s MoiEbzdo
>>>b =1int('19.5") # LEBHOodmbo 6 sGol dmgero Moibzo
Traceback (most recent call last):

File "", line 1, in

ValueError: invalid literal for int() with base 10: '19.5'
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>>> ¢ = int(19.5) # go9mygbgdos dzMegfaMGH0w0sbo
Mob3z0Lbm30L, 5FMoL fowsw bofowl.
>>> print(a, ¢)
1919
>>> bin(19)
'0b10011"
>>> oct(19)
'0023'
>>> hex(19)
'0x13'
>>> 0bl10011  # sbg 9godergds Bsofgdml Hoisbzomo
d0©doggd03
19
>>>int('10011", 2)
19
>>>int('0b10011', 2)
19

3.3. 639g0e0o MoEbzgdo - float

bsdgoo  Gogbgzgdog  dbsGL  mFgMgb 00539
M39M53090L,  MLsg  dmgwo  Mogbggdo.  dbmem,
30330vGgmdo  Hoabgzol  Homdmygbosb  godmdobaty
Bsdgzomo  ®ogbggdo  sMIBMBEG0s,  Meds3  90dwgds
39900{30mb 3Mmdogds:
>>>01+01+01+01+01+01+01+0.1+0.1+0.1
0.9999999999999999
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95050 BLOBMBEBHOLMZOL Fodmoygbgds bLbgs Mmdogd@Hgodo
(0595c0mo Decimal o Fraction). bsdgomo Hoibggdo
5O 9FIgMHgb  dbodL  aMdger (I35 M39M530056)
5603930 3oL:

>>>a=3" 1000

>>>a+0.1

Traceback (most recent call last):
File "", line 1, in

OverflowError: int too large to convert to float
(03Eb390m96 37)FomdOL o 5e0mMgdO:

>>> ¢ =150
>>>d=12.9
>>>c+d
162.9
>>>p =abs(d - ¢) # Mogynp yucia
>>> print(p)
137.1
>>>round(p) # OxpyrieHue
137
535350000 390000930

loat.as_integer ratio() - dogeo ©oEbggdol fyzowo,

HMIJ S IIMI0IOIGdS BHME0s 58539 MHob3ob.
float.is_integer() - 5ol 0v) 565 8603369 mds dmgeo
Moibgo.

50



float.hex() - go5094356L float-U hex (sogerols mgdalidg-

A™d00m LoliEgdsdo.

396s.

float.fromhex(s) - 09d3ld9gEH™Md006 float-do osy-

>>> (10.5).hex()

'0x1.5000000000000p+3'

>>> float.fromhex('0x1.5000000000000p+3")
10.5

BGObIOGHIO  25dMBobEgdgdols AoM©s Moibgnd-

056 L3N dsme Python 96530 sGols H599b0dg LaboMAGdT™
dmE0o.

math dmmEo - Fo6dmoygbl Fgscmgdom Mo

953935¢ 036 5369 (3090U.

>>> import math

>>> math.pi

3.141592653589793

>>> math.sqrt(85)

9.219544457292887

random  dmEuo  s3969MoMgdl  dgdmbgzgzom

(oEb390L s 99dmbggz0mo sMBR9g30L BMbd309dL.

>>> import random
>>> random.randomy()
0.15651968855132303
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3.4. 3m33¢gdbmo Hogbgzgdo - complex

Python gbsdo Bsd9gbgdmemos  sbg39, 3A3egdlmeo
Moibggdo:

>>> x = complex(1, 2)

>>> print(x)

(1+2))

>>>y = complex(3, 4)

>>> print(y)

(3+4j)

>>>Z =X+ y

>>> print(x)

(1+2j)

>>> print(z)

(4+6j)

>>>z7=X"y

>>> print(z)

(-5+105)

>>>z=x/y

>>> print(z)

(0.44+0.08;)

>>> print(x.conjugate()) # 30b60Q530lL Mogbzo

(1-2j)

>>> print(x.imag) # {omImbsbgomo bsfowro

2.0

>>> print(x.real) # 6580g30¢0 bsfoero

1.0
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>>> print(x >y) # 3m33@9dlmmo MHobggool dgsdgds
56 890dengdos

Traceback (most recent call last):

File "", line 1, in

TypeError: unorderable types: complex() > complex()

>>> print(x ==y) # 890dwgds 999mHdgl GHmwmdsHg

False

>>> abs(3 + 4j) # 3md3egdumEo Gosbgol dmvyero

5.0

>>> pow(3 + 4j, 2) # sbomolbgdo

(-7+24j)

3.5. LG®ogmbgdo

LEH®oJmbgdo Python-8o - LOddMEMgdol dmfgbeoyg-

0o 809930MMdss, MMIgwoE godmoyggbgds @gduBeo
063m®ds300L  Tgbobobo  @s  FoMdmboygbs. sdo@mad

LEAHOOJMbgdOL  ObTsMGOOm  TgodeEgds  FMTomdS Y39
06533530586, BMIgwog HoMmdmwygbowos GHadu@meo
ammIom.
UBHM0JM69d0L o MIEgd0
Python-do  ULE®M0gmbgdmsb 9m0omds do005b
dmbgMbgdmEos.  s®LYdMOL  LBEGHMOJMbgdol  Msdwgbody
0 G M0, HMIgelss 4ob30bowsgm.
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UBHM0JM6900 53mLEHOMRIOT0 ©s dM FYoegddo

S ='spam's'

S ="spam's"

LAHOMOJMbgdo  3MLGOMBIOTo S dMFYogddo
JOHD0O030395. MO0 35M056EHOL  9MLYdMds 035d0s, MmA
oymlb  39dudo  S3MLGHOMABOL 96 dMIFYoengdol  Bslidols
d9L5dgdMdS.

93656069390 303¢g3MMdYd0 - 3mALab Mg LoddME™mgdo

93696060900 8098930MMdYd0 LMo gdsll 0deg3s
Boobgol  LoddmEmgdo, OMIgEms  JgBobsg B0

30093053v)M005b.

93603606 gdmemo 3LsbgEgds
000¢093™Mds

\n BE®0Jmbols go@oobo

\a bds

\b 9630 3HOE00m I0OH6IdS

\f 339600 350535bs

\r 3MOLMOOL JoIEIbS LEGHMOJMbOL
QsLofyolido

\t 3MOOBMBEIHO BB

\v 390G035)O0 FHOOIS(300

\N{id} Mb03Mm©oL dmbs3gdms 35Bol 1D
00096&0530353HM60

\uhhhh 260300 16-3030560 Loddmwm 16-
30m Ho®dmaqbsdo

\Uhhhh... Mbo3m©ob 32-00FH0560 LoddMEM 32-
000 §o6mdmygbsdo

\xhh LOddMEML 16-mdomo 36003690 Mds
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\ooo LOddMEML 8-mdomo 36033690 Mds

\0 Boddemenem Null (56 560l bEGodmbols
QLMY gd0L 60dsb0)

0v) 35blbowo dMFgool Hob ol Loddmeom 'r
(6gdoldoge  MgaoLBH®Mdo),  93MboMgdol  F9dsbobdo
3903390

S =r'C:\newt.txt'

LEAHOOJMbo 56 Fgodegds sIMOzMIL F9dcMbgdMEo
Lergdol LoddMWM™MOo. FosHY39EH oL ybgdo:

S =r"\n\n\\'[:-1]

S=r\n\n'+"\'

S="\\n\\n'

LB®ogmbgdo 53dsy s3mLiBMHMEBgdTdo 56 dMFYsengddo

L53doy 0MFYoegddo Boldmeo BEHMOJMboOL dmMsgz5M0
©OoMLYdS SMOL, MM Jomo Q5dmYygbgds Fgodegds GHgduEol
36535bEBHM0Jmbosbo  derm3zgdol  BobofgMo. sbgomo
LEH®oJmbols  dogboom d90dgds  dMFYogdol o
33mLAOHMBIOOL  5OLGIMBY, FIe35005, BT 56O oyml Lsdo
06 34500 309 930MdOm.

>>> ¢ =""qls doer0sb oo

..bEAHModmbos, BH9duEob

... 305350LEHM0JMb0sbO demzo™

>>>C
'9b doosbh  oo\nbEBMmodmbos,  GH9duGHol\ndMmsgzowliGMogmbosbo
dem30'
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>>> print(c)

9L doe0sb oo
LEHOoJmbos, GHgduol

965350 LEHO0JMmbosbo derm3o

3.5.1. LsdsBM M3gM30900 LEHMmOJmb9dBY

306353965305 (8936905):
>>>S1 = 'spam'

>>> 52 ='eggs'

>>> print(S1 + S2)

'spameggs'

LEGHOogmbols MdOMmGds:
>>> print('spam' * 3)

spamspamspam

LEHOOJMbOL Loa®dg - len gmbdizos
>>> len('spam’)

4

0b69Jbbg H3mo:

>>> S = 'spam'

>>> S[0]

g

>>> S[2]

a
>>> S[-2]
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a

OmamO3  bgsge  Python-o  99gLodgngdgaros
MsOYmxzom 0bgdubg §3mds. 53 9gdmbggzsdo smZWs
b9ds BEGHMOJMbol drrePMS6.

LAHO0JMb0WID BMSYTIEEOL sTMFM.

D00 MMy [X:Y]. X - 36ob sbsfgobos, bowm Y
- 3OH0b EILBLO™MEo. LoddMEM Y bmdMHom FMsdo 56 dgob.
©Mdowom 3060390  0bgduos 0, bomerm  Jgmeg -
LEHOogmbols bogMdy.

>>> s = 'spameggs'

>>> §[3:5]

'me'

>>> §[2:-2]

'ameg'

>>> §[:6]

'spameg'

>>> g[1:]

‘pameggs'

>>> s[:]

'spameggs'

390dgds 30gmomml d0ox0, OHMIGEmsbs LoFoMms
FO0L gobbmM309e9gds

>>> s[::-1]

'sggemaps'

>>> §[3:5:-1]
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>>> §[2::2]

'aeg

3.5.2. 3Mbd30900 s 3g00mEgdo LEGHOO0JMbJdH
Lsdmdsme

99000l 259mdobgdolisl BoFoMms goblmgogm, Mma
Python-o  LEH®odmbgdo 8093936905 395G JaMOOSL,
OHMIgms 30993M™Mds 96 033wgds 56 ggz9es gmbdiosls
@5 8900l dgmdeos Fbmeme dgddbsls sbsgro bGGmodmbo.

>>>s = 'spam'

>>>s[1]="b'

Traceback (most recent call last):

File "", line 1, in
s[1]="b’

TypeError: 'str' object does not support item assignment

>>>s=5[0] +'b' + s[2:]

>>> S

'sbam’

5dod™md, ygzgws LEGHMoJMbMo JgomEo  SBOMHBIIL
sbaew LAHMoJmbL, HMAgeroi 990degds ogboFmb 33eoU.

3900900 s MbBJ309d0 LBMogmbgdolomgol

1196d305/09000m©0 5608699 gds
S='str'; S="str"; S = LEHOOJMBIOOL WOBHIMIWGdO
lllstrlll; S — llll"strllllll
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https://pythonworld.ru/tipy-dannyx-v-python/stroki-literaly-strok.html

S = "s\np\ta\nbbb"

93696069090 308930)8900

S =r"C:\temp\new"

9530635390900 bBMH0JMmbgdo

S =b"byte" 050%900L LEB®oJmbo

S1+8S2 306353965305 (LEHMOJMbgdol
3°96000056905)

S1*3 LEHOOJMbob 29639mMHYdS

S[i] 0609Jbom J0dsOr35

S[i:j:step] F65 bLOodmbdo

len(S) LEH®oJmbob LogMdy

S.find(str, [start],[end])

LEHOoJmbdo J3glB®ogdmbols dgdbs.
506MHBgdL 306MH39e0 Fglzerols bmdg®l 56
-1-b.

S.rfind(str,
[start],[end])

LEHOoJmbdo J3glBMogmbols dgdbs.
50619690l deenm Jgligerol
65039ML 56 -1-b.

S.index(str,
[start],[end])

LEH®oJMbdo J39LEBHMOJMbol dgdbs.
50619690l 306390 Tgbzeol beadgMls 56
0dobgodl ValueError

S.rindex(str,

LEHOogmbdo g3gLEBHMoJmbols dgdbs.

[start],[end]) 506MHBIBL deage Jgligerols
60396L 56 0dobgdl ValueError
S.replace(wabnoH, 950¢mbols g;33eo
3amMeHa)
S.split(cumson) LB®0Jmbols gobanghs
S.isdigit() 99003905 0099 565 LEBM0JMbo 305300LYb.
S.isalpha() 39003905 0¢9 505 LEAMOJMBO SLEASH
S.isalnum() 39003905 0079 565 LEAMOJMbO SLELYSD 56
GOBOOLYSH
S.islower() 39009905 0099 505 LGOodmbo J39ws
©930LGHOOL LoddMEMYdOLYSD
S.isupper() 390093905 0099 50 LG®odmbo bgws

©930LGHOOL LoddMEMgdOliysb
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S.isspace()

3902905 0079 565 bBHogdmbo mbowsgo
LoABdMEMLASH (boggBo, ', \n', \r', "\t
W)

S.istitle() 0(j4905 099 505 LEGHMOJMbIo Lodygs
QOO SLMMO.

S.upper() LEAHOOJMbOL gosyzsbs bgws
6930LGH®do.

S.lower() LEAHOOJMbOL gosy3sbs 390
6930LGH®do.

S.startswith(str)

oflygds 09 565 S LyMogmbo str
450embom

S.endswith(str)

80530905 0¥) 565 S bLmodmbo str
450embom

S.join(boys) 1L00b LEBHOOJMbOL Sfymds

ord(Loddmeom) LoddMemb ASCII 3030 Homdmpqbo

chr(®o3bgo) ASCII 3000 bLoddmeom Fo®dmoygbo

S.capitalize() 25053953L bEBHMogmbol 30639wo
LoddMEM Bgs MYAOLEHO0,
©565MB96900 J39005d0.

S.center(width, [fill])

506196901 396EGHM0MGdM LGHMOJMBL,
G0Iob 300099330 sGOL d93L9dol
103dMEM, FoEom bs®gzgbHo.

S.count(str,
[start],[end])

030l bEG®odmbdo J39LEHMoJmbol
d9L3W5m5 BoMYbMBS.

S.expandtabs([tabsize])

©5506MB7dL BEBHMOJMBOL SLEML, Lowsa
4395 G90Es300L LoddmE™ gHmo 56
65096039 bs139Bom, J0d0bsty
1393H0ob 458mI0bsty. vy TabSize
56 5M0ob J0MOMYOME0, 90300
Dmds 4960LsBMZMGds 8 botrzgBols

GHoo.

S.Istrip([chars])

b5639D0 LoddMEmgdol Hodgmos
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LEO0Jmbolb sbsfiyolido.

S.rstrip([chars])

bs639b0 LoddmEmgdol (odgs
LEHO0JMmbol dmemdo.

S.strip([chars])

bs639b0 LoddMEmgdol [odgs
LEHOOJMbob sLsfiyolido s dmemdo.

S.partition(template)

50619690l 3mOE gL, Hdgeog d903o3L
Bsfowl 3063900 Fsdembob (job, mzom
350cmbL o bsfoels Fodermbols
3990099 0779 Fod™bo 56 560l badmzbo,
Q¥MMBYdS 3000330, OMIgEOo3
3903938 3000 LEGHOOJMBL s F90YY
M6 39009 LEGHOOJMBU.

S.rpartition(sep)

50619690l 3mOE gL, Hdgeoa d903o3L
Bofoenl dmem Jodembols ob, mgom
350cmbL s b5fools Fodermbols
3990092 0779 F5dEMbo 56 5oL bodmzbo,
©50MHbYdS 3MOE 950, HMIJELOE3
39033938 M6 35609 LEGH®0Jmbl s
9990092 300 LEAHOOJMBU.

S.swapcase()

390539453L LOFdMEMYOO By

930306 J3905d0 O J39056
bgsdo.

S.title() 3903990 LoGY30L 306390
LOFdMEM o3g4o3L Bgs MgaoLE®d0,
439w ©bsMBgbo J3gwsdo.

S.zfill(width) 39005539090L LEHMOJMBL 5963 9d

width bLoa®dobs, bsFoMMYdOLSIGIG
3953L90L 30639 LOTdMEMIGIL
bmgdoom.

)

S.ljust(width, fillchar="

3900553900901 LEAO0JMbL 5656530090
width Log®dobs, ULsFommgdolsdgd®
3953L90L deere LoIdMEMgdL fillchar-
0.
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S.rjust(width, fillchar=" | 4505539090 bEEOJMBL 5(5653e9d

") width bLog®dobs, bsFoMmMmgdoLsdgd®
3953L90L 30639 LOddMEMgdUL fillchar
1LOTOMEMMO.

S.format(*args, LEBHOOJMbOL BMEOAsEHOMYDdS

**kwargs)

3.5.3. bEAH®oJmbol BMMT>EGH0MYDS

bdoMo (omdm0dz90s LoEws30900, MHMEILSE b
3904absl  LEGHG®OJmbo, MMIgEToi  BsOLZL  3BIMAEMSTOL
d9bOHMgdol  3OmEgldo  dogdmwo dmbszgdgdo. sLgmo
390dgds  0gml  BodmdbAoGgdem  dg@obs,  dmboggdgdo
13500sb. dbgogl d9dmbgzgzqddo LsFomms LEMmOJMmbgdol
RMO5GH0MGS, OG0 dgodegds gsbbm®miEogwogl %
M39M5GMOom 56 format dgomol sbds®mgdoom.

0¥) Bsb533wgd0Lbm30L dmombm3zgds Fbmewm 9H ™Mo
56139630, 35906 360336900 Mds 5GOL MZ0m SHRMIIBEGO.

>>> 'Hello, {}!".format('ANNA")

'Hello, ANNA!'

0v)  Bsbs33egdolomzgol  dmombmggbs  Msdwgbodg
50amdgbBHo, 05906  3600369wmdgdo  0gbgds  yzgams
569 dgb@o:

>>>'{0}, {1}, {2} .format('a’, 'b', 'c")

'a, b, ¢'

>>>'{}, {}, {} format('a’, 'b', 'c")

'a, b, ¢

>>> '{2}, {1}, {0} .format('a’, 'b", 'c")
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'c, b, a'

>>> '{2}, {1}, {0} .format(*'abc")

'c, b, a'

>>> '"{0}1}{0} .format('abra’, 'cad’)

'abracadabra’

>>>Coordinates:{latitude},
{longitude}'.format(latitude='37.24N’, longitude='-115.81W")

'Coordinates: 37.24N, -115.81W'

>>> coord = {'latitude": '37.24N’, 'longitude": '-115.81W'}

>>> 'Coordinates: {latitude}, {longitude}'.format(**coord)

'Coordinates: 37.24N, -115.81W'

3ob30bowmo format dgomol Lob@odlo:
993300l ggwo = "{" [39col Lobgero] ["" ao6oddbs] [":"
1393013035305] "}"
390l Lobgo = arg name ("." s&®0odwEHOL Labgwo | "["
obgduo "]")*
290@0ddbs = "r" (Gos (oMBmybs) | "s" (5@s3056w9M0
Dommpqbo)
13930B03E0s = 0b. J3g30m

39630bomo dsyoeromo:
>>> "Units destroyed: {players[0]}".format(players = [1, 2, 3])
'Units destroyed: 1'
>>> "Units destroyed: {players[0]!r}".format(players = ['1', '2',
3'])
"Units destroyed: '1"

RO oL B39(3053035309:
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139308035305 =
[[fill]align][sign][#][0][width][,][.precision][type]
©3OM390s = LOTdMEWM QoMs '{' 96 '}

20MOBBGYAS 1= "< | S [ =" | A"

b600dsbo e

Loasbg = integer

Lobbdg = integer

Godo = B[ "e" |"d"|"e" | "E" ' "F" | 'g" | "G" |
07| X9

3905650693y bgds  LOTBIMEOM-25MIBIOOYIOL
99939mdoo. 515339000 30056506900l 399990
35600563)9d0:

5¢0500 3603369 mds

< 0990 390565069Bs BsEbgbs ool
dobgz00 (©dowom).

> | mB099E0L 2omBsdMGBs BoOx3965 30O
dobgzom

= 390953L90¢00 046905 6odbols 3989y, Joa®sd
30%3M9d0L §ob. 37Fomdl dbmeme MHosbzom
$0390056.

N 3960l 300> ol JVS.

™330 »008560° 399t0g9bgds dbmemE
6oEbzgdobmgzol s d90dwgds doommlb 89090
360093690 md9d0:
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5¢05d0 36003690 ds

. d90dgds 459mygbgd e 0gbsls
439w Gogbgzobmgol

. ~00gmzBomoLmZ0L, SM8gMHO
- ©5©)d0MOlMZ0l

= MOMYMBomoLm30UL,

ba630b0 b5639D0 - 5 doMolmz0l

»030“ 39ads 890degds dooml d9dgao 36033690 mdgdo:

$odo

9600369 ds

dY’ lil’

SMMB0MO Mo3b30

603H30 5030l M35md0m LoliEgdsdo

oEb30 50300l 16-mdom LoLEGHYIsdo(sbmgdo 39w
6930LGH®d0)

o3Eb30 5030l 16-md0m LoLEHYIsdo(sLmgdo BgEs
6930LE®d0)

6o3bz0 33630 HgOGowom 9Judmbgbdoom.
9963696 39w B1oLEH®0.

6o3b30 336930 HgOGowom 9Judmbgbdoom.
9963b9b&s Bgs MYaoLEBHMTo.

lfl’ IFI

MoEbzo 3330 FadGowom (39w gdMoz0
BM6OHISGE0).

6oEbzo 33mazo Fad@owom gudmbgb@oom,
(9Ju3mbgbES J3905 MYAOLEHMT0) vy 0O
6530093054-B9 56 LOBMLEGOm, fobsowdwgy
d90mbg935d0 B39v9q06H030 BMEOTSEO.

6o3bz0 33960930 HgOEGowom 9Judmbgbdom,
(99b3mb9BES Bgs MYROLEH®T0) 0¥) 0g0
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B53090054-Bg 56 LOBMLEHOm, Hobsswdwgy
390mb3935d0 B399 906030 B3MEOTSE)0.

LoddMEM (9OPLOIdMM0560 LEMOJmbo 56
60o3bgz0 - LoddME ML 3:0)

'S’ LEGodmbo.

‘%' ®0o3bgo 8053905 100-By, 50Lobgds
9369309O G0 0sbo Moibgzo, dol 3909y bodsbo
%.

29630bommm dsgsemomgdo:

>>> coord = (3, 5)

>>>'X: {0[0]}; Y:{0[1]} .format(coord)

'X:3; Y:5'

>>> "repr() shows quotes: {Ir}; str() doesn't: {!s}".format('testl’,
'test2")

"repr() shows quotes: 'testl’; str() doesn't: test2"

>>> '{:<30}'".format('left aligned")

'left aligned '

>>> '{:>30}".format('right aligned')

right aligned'

>>> '{:A30}' .format('centered")

centered
>>> '{:*A30}'.format('centered’) # use "™ as a fill char

HERRRIRRS o SRR

>>> '[+f}; {:+1}' .format(3.14, -3.14) # show it always

'+3.140000; -3.140000'

>>> '{: f}; {: f}'.format(3.14, -3.14) # show a space for positive

numbers
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' 3.140000; -3.140000'

>>> '[:-f}; {-f} .format(3.14, -3.14) # show only the minus --
same as '{:f}; {:f}'

'3.140000; -3.140000'

>>> # format also supports binary numbers

>>> "int: {0:d}; hex: {0:x}; oct: {0:0}; bin: {0:b}".format(42)
'int: 42; hex: 2a; oct: 52; bin: 101010’

>>> # with 0x, Oo, or Ob as prefix:

>>> "int: {0:d}; hex: {0:#x}; oct: {0:#0}; bin: {0:#b}".format(42)
'int: 42; hex: 0x2a; oct: 0052; bin: 0b101010'

>>> points = 19.5

>>> total = 22

>>> 'Correct answers: {:.2%]}'.format(points/total)

'Correct answers: 88.64%'
LEHM0Jmb9gdmb 3Tocmdol Bsgseomgdo
1) 366535 0933l MG BEBHMOJMbL:

name = "Tom"
surname = 'Smith'

print(name, surname) # Tom Smith

2) @60 LBEGHMoJMmbo  259MHM0sbs s 890y 009FIOS
3996000056930 bGModmbo:

name = "Tom"

surname = 'Smith'

fullname = name + " " + surname

print(fullname) # Tom Smith
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3) 9399 3OMyMs8sd0 LsFomms Fgo3modml bGModmbo
5 ©0@Ebg0. 58 990mbz935d0 LyFoMHMs CHOEL3OL AoY356s
LEHOogmbs str() Bmbdaool godmygbgdoom:

name = "Tom"

age = 32

info = "Name: " + name + " Age: " + str(age)

print(info) # Name: Tom Age: 32
4) 2590m0@5bL 3H9duBHL MM LEGHModmbs:
print ("gufogemdm python gbsby I3OMYM5TGOSL\N-
LEAHO0JMb9dM6 FMTomds LoobEgeglims")
3MbLMmBY 459m35 Mo LGHMoJmbo:

3Lfo3wmdm python 9bsBY I3OIMAEOSTGdSL
LEHO0JMbgdMb FmTomds LHobEHYGMGLMS

5) »9duddo dOFYogdols sbobgolbmgzol, dol ffob ofgemgds
3906mbgdyemo bewgdo:

print("Cafe \"Central Perk\"")

d990: Cafe ,,Central Perk®

6) LAMOJMbgdOL TgEMYOOLLL  FbBgOZgE™dsdo  F00MYdS
LoddMEMYO0 s Fomo MYROLEMYO0. 30RO LoIdMEM
3060Md0md©  653wgd0s, 3000609  Bgdobdogmo  56dsbol
boddmerm.  9b6dBMOO  Loddmerm  bgs  MYROLEH®I0
30MMB0MO© Bs3egd0s, 30006 56d5649MH0 LOTdMEM J390
930LGH®T0. FoQOL0MS:

str]l ="1a"
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str2 = "aa"
str3 = "Aa"
print(strl > str2) # False, ©ogob strl - do 3JoGgzgwro
LoddmEM 3086005

print(str2 > str3) # True, GoEYsd str2 -do 30639w0
LoddMEM 3905 MYROLEBHMT0..
0v) Lohgobo LodMEMgdo MmM03g LEHOModmbdo 30xkGO.,
MAE0MgLO  003W9ds  MIZOMJLO  0BEMO.  FoPIWOMI:
la<2a.
0v)  bofygobo  s6ds6MHO  BodMEMGdO  GHPN0WS0TS39
6930LGH®d05, 39bobOWgds 563560l obgz0m. Fodseoms:
aa<ba, ba<ca.
WX Md9L0S MmM03g9 LEGHMOJMbo 2ooyz560e 0dbsls 9gHPBIOG
930G 0.
7) 360653500  LEAHMOJMbgdo  QoOEOL  gOHMNBsOG
693039030 s bEgds 3500 FgEocds:

trl = "Tom"

str2 = "tom"

print(str]l == str2) # False - 56 sG>0l &meo

print(strl.lower() == str2.lower()) # True

8) ULAHModmbol  goblsBrzme  3mbogosdo  LoddmEmls

393300l 339 Mds 0fj393L 993 MAsL:
>>> word = 'strength’

>>>word[2] ="y

TypeError: 'str' object does not support item assignment
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9) LEGHMoJmbdo LoddMmEML Jga3zers Fgodwrgds 9990
Lboboon:
>>> word = word[:3] + '!' + word[4:]
'stringth
10) LEH®odmbdo LoddMEoml Fg33ers Fgodegds 9090
Lobomos:
>>> word = word.replace('!','e")

'strength’

11)s03s bogds dmermqsb:
>>> word[-1]
h
12) 9600 Go30L 0O Fgowgdo bgdobdogMow Rsdgbgds bgs
G030L 6 FYoeqddo:
>>>'123'
'123'
>>>"7'8"9"
"7'8"9"
13) adgo LEH©0dmbgdo QogMmBOoWos ModEgbodg bsfowo
3906mbgd o bergdoon:
>>> s = 'this is first word\

and this is second word'

14) LEH®odmbgdolb oo bs3Mgdo s domgwo  GgduBo
390d9ds Booligols Loy 0O FYoeqddo:

>>> print

One
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Two
Three
15)355¢00md0  250mygbgdyemos  ddsermn3zgero  dodgztm-
09%0:
>>>s ='a\nb\tc'
>>> print s
a
b c
16) 0ogoomdo  LEMogmbo dgpqds  Lsdo  Moibzol
00bsrmEo 300@Y3MMd0LYsb - MmMo M3sMmdomo s 9O
0993bd9GMdOMO:
>>> s ="\001\002\x03'
>>> S
"\x01\x02\x03'
>>> len(s)
3
17) bEGogmbolb FMgdo:
>>> word = 'strength'
>>> word[4]
n
>>> word[0:2]
st
>>> word[2:4]

re
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18) 3FMsdo godm@GHM390wos xXJMO 3060390  Loddmm,
39999 - 3969 LOAdMEOM:

>>> word|[:3]

str

>>> word[5:]

gth
19) LEAH®0JMboIb LodMEMGdOL F0IEI3OMOOL  SOBY3S
303 IOMIO:

>>> s ="1234567890'

>>> §[::2]

'13579'

>>>5[1:10:2]

'24680'

>>> s[::-1]

'0987654321"

20) bEGH®0JMbgdOL QoTMS3gds:

>>>'123"'*3

'123123123'
20) LEH®OJMbgdOL BMEOIsEGHOMYdS. 3MM396EOL  Fobbog
d0gmomgds  LE®MoJmbo, dsx3b03 - 6033bgEMds b
3603369 mdsms Bsdmbomgswo:

>>> s = 'Hello %s' % 'world'

>>> 8

'Hello world'

>>>s="one %s %s' % ('two','three')

>>> S
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'one two three'

21) ®ogbzol LEGHMOJMBIo oEOLoY3s6s  odmMmYygbgdmeos
60o3Eb3000 B393083035¢MM0 - %d 56 %f:

>>>s="one %d %f % (2, 3.5)

>>>8S

'one 2 3.500000'

22) dsgoomdo d9w9ga0lL  LEGHMoJmbl 94690s LogMdg 10
LoddME™, oo bsfowdo gsdmymaowmos 5 boddmem:

>>>x =4/3

>>>'%10.5f % x

' 1.33333'
23) botgzgbgdo omEbbosb  Fgodrgds  oBMmMTdEH9L
Bmengdoo:

>>> from math import pi

>>>'%015.10f' % pi

'0003.1415926536'
24)  Bogowomdo  BmMI>GH0MIOoL30L  2odmyqbgderos
Template - bG®odmbgdol Fodmbgdo:

>>> from string import Template

>>> s = Template('l $two 3 4 $five')

>>> d={}

>>> d['two']=2

>>> d['five']=5

>>> s.substitute(d)

12345
25) 439bE®0ogdmbols dgobs LGHMmogmbdo:
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>>> s = 'The find method finds a substring'

>>> s.find('find")

4

>>> s.find('finds'")

16

>>> s.find('findsa')

-1
26) join - 596005690l @odmdymxno bodbom LEGHMOJMbgdol
B53690U:

>>>seq = ['one','two','three']
>>>sep=",'
>>> sep.join(seq)
'one,two,three’
27) split - oymxL bGModmbl 08g3™™Mds©:
>>> s = '/usr/local/bin’'
>>> s.split('/")
["", 'usr', 'local', 'bin']
28) replace - LEHModmbdo 9gH® J39LEHOOJMBL Bssbs(33gdL
dgmOgoo:
>>> s = 'replace method returns a string'
>>> s.replace('returns','return’)
'replace method return a string'
29) strip - dgol baezgbl do®Ebb0b s oM 360056:
>>> ' this is whitespace string '.strip()

'this is whitespace string'
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30) translate - 539090l dM93wMdO™ F933¢sl. FoQoE0md0
y39wos Loddmerm ‘1" Jgoigergds Loddmerm 3’-om, bmerm
LoddME™ 2’, 99033905 LOAdMEMMO - 4

>>> from string import maketrans

>>> table = maketrans('12', '34")

>>> '1212 5656 '.translate(table)

'3434 5656'

3.6. Logdo

Python-8o M0l  ©599b0dg dmbsigdms  Godo,
O0Iwgdog  godmoygbgds  ©9gbody 8603369 mdols
OOLOXAMBIOIWOE. Y439wsbg dmdbogro  sMol  Loos (list),
GdgoE 990dwgds BsogMml 300899000 godmygmRowo s
33900053 13MRbogddo BsldMeo 9wgdgb@gdol Lool
Lobom. 96 56MH0L  smEowgdgeo, MHMI 9wgdgbBgdo oymb
9600 GHo30U.

>>>a =['spam’, ‘eggs’, 100, 1234]
>>>a
['spam’, 'eggs’, 100, 1234]
0609Jugdol 643gGszos offygds 0-sb. Logdolmgols
390d9ds 456bmM 309l 365, 459000056935 s bbgs:
>>> a[0]
"spam’
>>> a[3]
1234
>>> al-2]
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100

>>> a[1:-1]

['eggs’, 100]

>>> a[:2] + ['bacon’, 2*2]

['spam’, ‘eggs’, 'bacon’, 4]

>>> 3*3[:3] + ['Boe!’]

['spam’, ‘eggs’, 100, 'spam’, ‘eggs’, 100, 'spam’,
‘eggs’, 100, ‘Boe!’]

LEHOOJMbgdOLASD 39bLbgeg9d0m, HM39d03
999330905, 9OBYOIMOL  Bool  (35¢3999o  gEgdgbEoL
3933300 d9LodgdEIMdS:

>>> 3

['spam’, ‘eggs’, 100, 1234]
>>>a[2] = a[2] + 23

>>> 3

['spam’, ‘eggs’, 123, 1234]

FMobg  doboFgds  sb9g3g  gLodErgdgeros,  GTS3

990d9ds 459mofiz0mb ool BmAols (330 gds:

>>> # 0500096009 909996EH 0l dg3ws:

..al0:2] =[1, 12]

>>> 3

[1,12, 123, 1234]

>>> # {50y

..al0:2] =]

>>> a

[123, 1234]

>>> # Bobds:

76



... a[1:1] = ['bletch’, 'xyzzy’]
>>> 3
[123, 'bletch’, 'xyzzy’, 1234]
>>> # 05300039 sLeols Bslds sbsfyoldo:
>>>a[:0] =a
>>> 3
[123, 'bletch’, 'xyzzy’, 1234, 123, 'bletch’, 'xyzzy’,
1234]
L0gdOLMZ0L 45dM0Ygbgds BsdbgdIemo i3mbdios len():
>>> |len(a)
8
bogdo dg0dwgds oyml Bsdgbgdero, Mm@gLss ghmo Loos
390353L Bb3s LosL, FoQdE0MS:
>>>(q =[2, 3]
>>>p=1[1,q,4]
>>> len(p)
3
>>> p[1]
[2,3]
>>> p[1][0]
2
>>> p[1].append(’xtra’)
>>>p
[1, [2, 3, 'xtra’], 4]
>>>q
[2, 3, 'xtra’]
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append() 9gom©o  gEgdgbBHL  ©ssTsBHJOL  Lools
dmwmdo. 805430900  YMMOEM®Ids, M3  p[l] ©> q
1065330 9gdo 0gHo3690s JMHPNO0WH0T539 MdOYJEDY.
Loos d90deqds d9oddbsl o maools 39939mMmd0mS3:
>>>s =[] # (35009@0 Los
>>>1=['s", 'p', ['isok'], 2]
>>> S

[]

>>> 1
['s', 'p', ['isok'], 2]

OMaMO3 05390000006 BsbL,  Los  Lgodgwgds
3903393009 6900L30gMH0 Md0gIEHOL 69doLAOYH MoMmEIbMdSL,
9o IGO0 b58gbgdme LogdL 96 56 Fgo393IL SMORIOL.

bos 8godegds 99odabols, slggg Logdol A9bgMsGMMol
99939mdom. LogdoL g9gbgMmsBHMMO sMOL sbowo Lools d9Jdbols
bgebo, MmIgewog 09gbgdl 2o8mbobwegdsls 308930™dOL

3939 9e9gdgbEm9b. Logdol 29bgMOGMMO doe0sb 303l
for 303e0.

>>> ¢ =[c* 3 for cin 'list']

print(c)

9g30:

['111', 'iii', 'sss', "ttt']

d90dgds  Logdolb  ggbg®sBHMOOl  MBOM  GOYIEO
3MbLEOWJ3os:

>>>c=[c*3forcin 'list'if ¢ I="1']

>>> print (c)
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['11', 'sss', "ttt']
>>>c=[c+dforcin 'list'if c I="i' for d in 'spam'if d !="a']
>>> print (c)
[']_S" ']_P" llml, 'SS', ISPI, 'Sm,’ ltsl, ltpi’ ltml]
Bod9bgdme» Jdgdmbgzg3zgddo mAxmdglos gsdmoygbmon
B399 gd®0g0 for 3030 Logdol 9bgcsoolmgol.

3.6.1. 3gonmgdo Logdolomzol

d900Mm©O dmgddggds

list.append(x) Q05585390L 9engdgb@L ool
dmmdo

list.extend(L) 3995356MHMM390L LosL dmermdo L
boob gz3ges gergdgb@ob
Q5353H9gd0m.

list.insert(i, x) i-96 9egdgb@HBy Pobizsdl x
36003369 mdsls

list.remove(x) Lo0@B Fodwol 3oGMm3z9w

99396, MMIgelsg od3l x
360083690 m™ds. ValueError, o) o6
560U sbgmo 36033690 Mds.

list.pop([i]) Podeol -6 gangdgbGl o
Q5506bgdL dob. ) 0bgdlo v6
560l om0 gdo Fodwols

dMM 993963 U.

list.index(x, [start [, 55861693l 30639039 X
end]]) 360093690 md0l dJmbg gargdgb@ol
30 9056M9Md5L. d9dbs
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8090b5M9MmdL 153056
OdMEmIY.

list.count(x) Q30MHMbgdL x 3603369 MdOL
dJmbg 999963 900L M5MmbMdL.

list.sort([key=function]) | @55¢05390L LoSL G3mbd300L

1531939 BY.
list.reverse() 3950619690L Lools
list.copy() Lools bgs3ocmvwo sbiro
list.clear() S1B0390L Lools

Logdol FgoMmEIdo (33056 ™300 LogdL, 989gbs
d9LOHMEgdoL  F9aa0 9O 9MOL  LoFomm  Bsofgeml 50
33wodo.

>>>1=11,2,3,5,7]

>>> Lsort()

>>> 1

[1,2,3,5,7]

>>> 1 = Lsort()

>>> print(l)

None
3525¢0009d0:

>>>a =[66.25, 333, 333, 1, 1234.5]

>>> print(a.count(333), a.count(66.25), a.count('x'))
210

>>> a.insert(2, -1)

>>> a.append(333)

>>>a
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[66.25, 333, -1, 333, 1, 1234.5, 333]
>>> a.index(333)

1

>>> a.remove(333)

>>>a

[66.25, -1, 333, 1, 1234.5, 333]

>>> a.reverse()

>>>a

[333, 1234.5, 1, 333, -1, 66.25]

>>> a.sort()

>>>a

-1, 1, 66.25, 333, 333, 1234.5]

3535¢0mgdo: Logdol 3gddbs, dgaas, §odems s 3Tomds
Lools gangdgbHdcmsb

Los 890dggds 990gdbsls BsBMmMZE O mogsh gho-ghomo
botboo:
>>>a =[]
>>> type(a)
<class 'list'>
>>> b = list()
>>> type(b)
<class 'list'>
51939, 990degds Loolb d9ddbs Hobslfser dmEgdmwo
dmbsigdms bs369d000:
>>>a=[1, 2, 3]
>>> type(a)
81



<class 'list'>

Loos 0799 99339 5OLBYDOMOL S MJ396 LM dobo SLEOL
399965, 893090500 259m0ygbma d98ga0 bgebo:
>>>a=[1,3,5,7]
>>>b=al:]
>>> print(a)
[1,3,5,7]
>>> print(b)
[1,3,5,7]
56 890degds sbgs:
>>>a=[1,3,5,7]
>>> b = list(a)
>>> print(a)
[1,3,5,7]
>>> print(b)
[1,3,5,7]

0¢) b0gdoLM3zoL FgolBIgdm YOGS doboFgdsl,

35806 b (330o©L d09gboFgds dodsMrmzs 00539 9w9d9gbE by
d9bLogm9dsd0, MMIgHY3 036905 a s 96> a Lool
sbero. 96 v 9396 dga3zerom a Lool, 8sdob b Loog
550939 9033w 9do.

>>>a=[1,3,5,7]

>>>b=a

>>> print(a)

[1,3,5,7]

>>> print(b)
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[1,3,5,7]
>>>a[l] =10
>>> print(a)
[1, 10, 5, 7]
>>> print(b)
[1, 10,5, 7]

939999 35350000030 LosL 9dsBgds 9egdgb@o:
>>>a =]

>>> a.append(3)

>>> a.append("hello")

>>> print(a)

[3, 'hello']

dsgoomdo  FoMdmygbowos  Loosb  gwgdgb@ol
50m909ds remove(x) dgom@ob dsdmygbgdoom:
>>>b=12,3,5]
>>> print(b)
[2,3,5]
>>> b.remove(3)
>>> print(b)
[2, 5]
0¢) LSFOOMS 9EgdgbEHOL 98MAYds dolo 0bggdlols
dobg30m godmoygbgom d6MIsbgds:
del Lool_bsbgaro[obgduo]
>>>c=[3,5,1,9, 6]
>>> print(c)

[3,5,1,9, 6]
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>>> del ¢[2]
>>> print(c)
[3,5,9, 6]

999963900 o9y del d6Hds6gd0L godmygbgdoom:
>>>a
[-1, 1, 66.6, 333, 333, 1234.5]
>>> del a[0]
>>>a
[1, 66.6, 333, 333, 1234.5]
>>> del a[2:4]
>>>a
[1, 66.6, 1234.5]
boob  9wgdgb@Hol  860d3bgemdols  dga3es  dobo
0bgduoll  dobgzom, Fgodwrgds  30MHEs306  Bolby
dodsengom:
>>>d=[2,4,9]
>>> print(d)
[2, 4, 9]
>>>d[1] =17
>>> print(d)
(2,17, 9]

Loob  Qolv@moeggds  dgodrgds  dolbo  bgwsboo
0603050Bgd0m, Mmomdml ol sbosb Jdbogom. Lool

993963 Bg 30maol Jobowgds o3 9urgdgbEol obogduo

d00MI? 339G 3MHRboEgddo:
>>>a=[3,5,7,10,3,2,6,0]

84



>>> a[2]
7
390dgds oMygmz0m0 0b6gdlgdol 499mygbgds. sligo
99000bg3935d0 503w 0Ygds  dMWMED.  Bogoomo©
boob  dmwm  gwgdgbdHby  §3mIobmgol  Fgodergds
3990g9gbgdem 0dbsls d6dsbgds:
>>>a[-1]
0
Lo0LD bBMPogMmo Jgglools dobswgds 0bgdlgdol
3obLOBO3OME  ©0535DPMbdo, dommomgo  Lbsfigolo s
dmwm  0bgdugdo  339MGHNM  gOMBbowgddo o
3990yg53000 0Lobo MOfjgMEGH0w00:
>>> a[1:4]
(5,7, 10]

dsgoewomdo  bgds  Loolb  dmwmdo  9wgdgbEol
5353 90s. 03039 M39M530s d90dwgds gl SBs:
a[len(a):] = [x].

>>>a=[1,2]

>>> a.append(3)

>>> print(a)

[1,2,3]

SBIOMMZIOL  sOLYdMe  Losl b LBoosb  Yzgws
9w99963H0L 353 900L Dom. 9d3035W9bEMM0S dGMIsbgds:
a[len(a):] = b.

>>>a=1, 2]

>>>b =[3, 4]
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>>> a.extend(b)
>>> print(a)
[1, 2,3, 4]

>>>a=1, 2]
>>>b =[3, 4]
>>> a.extend(b)
>>> print(a)

[1, 2, 3, 4]

X 9w9dgbdHL  Poligodls i 3mBogosdo. 306390
5039630 5MoL 9e9dgbEHol 0bgdlo, HmAol d908gyo3
Booldgds x 9gergdnb@o:

>>>a=[1, 2]

>>> a.insert(0, 5)

>>> print(a)

(5,1, 2]

>>> a.insert(len(a), 9)

>>> print(a)

[5,1,2,9]

§o0ob x 90989630l 30639 Jgbzersl Loosb:
>>>a=[1,2, 3]

>>> a.remove(1)
>>> print(a)
(2, 3]
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Podol  9egd9gbBHL 800G o 3MmBOE00EIL @
399m0@obl AL, 09 9MRMIIPBGHO 5O MOl FoMoMGdIO
$o0dg0s Lool dmem gengdgb@o:

>>>a=[1,2,3,4,5]

>>> print(a.pop(2))

3

>>> print(a.pop())

5

>>> print(a)

(1,2, 4]

foderol Loowsb yzgws gergdgbdL. 9d3035wgbdYMos
999090L del a[:]:

>>>a=[1,2,3,4,5]

>>> print(a)

[1,2,3,4,5]

>>> a.clear()

>>> print(a)

[]

506bgdl 9engdgbEol 0bgduls:

>>>a=[1,2,3,4,5]

>>> a.index(4)

3

506Mbgdl  domomgdvIemo  gargdgbGol  Jgliganoms
50 9bMdL Losdo:
>>>a=[1, 2, 2, 3, 3]

87



>>> print(a.count(2))
2

50590l Lools 99996390l DMHOIOMIOm.

3300 936M™dom LEMMEGHOMIOOLMZOL JsdM0Y9bgds S0

reverse=True.

>>>a=[1,4,2,8,1]
>>> a.sort()

>>> print(a)

(1,1, 2, 4, 8]

BOSL 295539l 49399900 Y3OMIO:
>>>a=[1,3,5,7]

>>> a.reverse()

>>> print(a)

[7,5,3,1]

506bgdl Lool sbewlL. 993035wabEHmEmos 9dgyoL:

>>>a=[1,7,9]
>>> b = a.copy()
>>> print(a)
[1,7,9]

>>> print(b)
[1,7,9]
>>>b[0] =8
>>> print(a)

[1,7,9]
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>>> print(b)
[8,7,9]

gabob Losl dmgeo HoEbzgdoLigsb 0-sb n-0y, Bowss
n 99605 990@9bm0o Fobslfoe:

n = int(input())

a=[]

for i in range(n):

a.append(i)
print(a)
[0,1,2,3,4,5,6,7]

fobs  dmddggds  Ggodemgds  Bsofigeml  mad™
356 GH035Q5(3:

n = int(input())

a = [iforiin range(n)]

print(a)

56 300093 MBO™ F9MOGH0350, 00 Jgdmbgzgzsdo mvy
09396 3930 5056 406500 n-0b odmygbgds:
a = [i for i in range(int(input()))]

print(a)
3.6.2. 06c0gdLgdo s FMHgdo

dsgomomdo dmEgdwwos ool 9wgdgbE by dodsMmM3s
0609Jbols Jobgz0m. M6 4 0bgduol dJmbg sb6v) dg-5
90939630 96 5oL Losdo, F5dMI3L F9¢YmdobYds 0bgdLols
39300m3sDY:

>>>a=[1,3,8,7]
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>>> a[0]

1

>>> a[3]

7

>>> a[4]

Traceback (most recent call last):
File "<stdin>", line 1, in <module>

IndexError: list index out of range

dsgoemomdo  Lool  9egdgb3gddg  dodsmm30Lm30l
3990g9gbgdmwos Mstygmzomo 0bogdugdo. 53 99dmbggzsdo
90050mmM35 0fg9gds dMErMIb. Mosb Losdo 6 s6oL d9-5
9999630, 2590l d9@Yymd0bgds 993w0md>bY:

>>>a=[1,3,8,7]

>>>a[-1]

7

>>> a[-4]

1

>>> a[-5]

Traceback (most recent call last):

File "<stdin>", line 1, in <module>

IndexError: list index out of range
Python-do  Logdobomgol 35900949bgds F6M900.
item[START:STOP:STEP] - 00gdL 3F6sl START bmd6hosb

STOP-8¢g, doxoom STEP. @wdogoom START = 0, STOP
=009JAHob Loa®dgl, STEP = 1. dglsdsdols, bmyoghHmo
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(@9Lodegdgos,  Y39ws)  39MgGH™o  dgodargds  oyml
359MmEHM390v)0.
>>>a=[1,3,8,7]
>>> al:]
[1,3,8,7]
>>>a[l:]
[3,8,7]
>>> a[:3]
(1,3, 8]
>>> af::2]
[1, 8]

51939,  Y39ws g 3oMFgBHMo  Jgodwgds  ogml
MSOYMBONO:

>>>a=[1,3,8,7]
>>> a[:-1]
[7,8,3,1]

>>> a[:-2]

[1,3]

>>> a[-2::-1]
(8,3, 1]

>>> a[1:4:-1]

[]

o dogocomdo  JoMgdYIEmos (396090 oo,
®odgbssg START < STOP, bmeom STEPwms®ymzomos.
02039  0mbgds, oy 860d36gemdol  0s3sBMmbo
50dmBbYds MmB309gdBHOL LsbL3MYOL FoMgo:
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>>>a=[1,3,8,7]
>>> a[10:20]
[]

FOgool  LEdMOEgdoo  Jgodergds 9w gdgbEol
5M53MFGHM  50MmEYds, 95990 ©9353Hgds s  Hodms
(695330603905,  FbmwmE  33weo  308IY3OMdY-
doLm30L).

>>>a=[1,3,8,7]
>>>a[1:3] =0, 0, 0]
>>>a

[1,0,0,0,7]

>>> del a[:-3]

>>>a

[0, 0, 7]

3.6.3. Logdol 3MBLEHMOMYIOOL TEHJOIOMO
153590900

Python 9b6sdo o6LGdMdL  Logdol  3mBLEGHMOMgdOL
535390000 JgLodEgd™Mdgd0. LogdoL SLgMO FSBLEBWIMS
Bo0f9690s 3390065GH 13MRbowqddo Bobidmero
3900bObMgdol  aodmyggbgdom s oo 09dgy  for
O™ 39000m:

>>> freshfruit = [’ banana’,

... loganberry’,

... passion fruit ’]
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>>> [weapon.strip() for weapon in freshfruit]
['banana’, loganberry’, 'passion fruit’]
>>>vec = [2, 4, 6]

>>> [3*x for x in vec]

[6, 12, 18]

>>> [{x: x**2} for x in vec]

[{2: 4}, {4: 16}, {6: 36}]

>>> [[x,x*2] for x in vec]

[[2, 4], [4, 16], [6, 36]]

9099963900 890dgds  250RBOGHMML  306MHMdOL
domomgdom, HMIgerois hsofgMgds if goliswgdm®mo Lo@yzol
399myqgbgdoo:

>>> [3*x for x in vec if x > 3]

[12, 18]

>>> [3*x for x in vec if x < 2]

[]

390mbsbgds,  GMmIgoig  0dEg3s 3MOGIIL,
533000935 w9605 Bsob3sL B3MRbogdTdo:

>>> [x, x**2 for x in vec]

File "<stdin>", line 1

[x, x**2 for x in vec]

A

SyntaxError: invalid syntax

>>> [(x, x**2) for x in vec]

[(2, 4), (4, 16), (6, 36)]
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099 30bLEHOMIEHMOHT0 JoPOMYOME0s Modgbodg for
d@m30, dgmeg 808930M™dOL 9gdgb@gdo gows0MBg3056
306390l 35390 ggdgb@olomgol o  5.0. b

390506B935 y39ws 3080065:300:
>>>vecl =2, 4, 6]

>>>vec2 = [4, 3, -9]

>>> [x*y for x in vecl for y in vec2]
[8, 6, -18, 16, 12, -36, 24, 18, -54]
>>> [x+y for x in vec] for y in vec2]
[6,5,-7,8,7,-5,10,9, -3]

3.7. 3mG& 970

3m6OGgg0  (tuple) Mol Fgmi3ergero  ImbsiEgdoms
LAHOYIGHMMS,  OHMIGEoE  dogosh  3gogl  LosL.  dobo
30053 guMds  sMOLb ol OHMI, 00  OIBIL0S
330 g0900L9b. 5353OMMEs, 30609 Bmdobyss.

>>>a=(1,2,3,4,5,6)

>>>b=1[1,2,3,4,5,6]

>>>a._ sizeof ()

36

>>>b.__sizeof ()

44

3MOGJFN0  FMFomds  ISBWMGdOm 020399, 63
1L0gOMSb.

39O0gwo 300G 0L 994bs:
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>>> a = tuple() # tuple() B5396900 GM6J3z00L
QboM9gd0om
>>>a
0
>>>a = () # 3mOE970L oGEHIMIOl IHAIMGOOM
>>>a
0
>>>
3M6OE9:0L 894365 900 9argdgbEoligsb:
>>>a=('s")
>>>a
g
0058 o dogzomgm  LE®ogmbo. B30 a30bm©s
3MmOE970L JoEgds, HOLM30LE 3m©o F9dgabsocms© Mbs
509 ™U:
>>>a=('s,)
>>>a
('s’)
900gdM 0dbs 306HFgs70. bogdg ogm
dbmwmE gOBbowgdo sGox3gMl 60dbogl, MBGM BMLESI©
603bogl, ©®md dol Tdogbom osMOL gHmo 0bLEHOWJE0s.

3M0G9:10 990dgds 90gabslb sbgs:

bl

LoddmemJdo.

>>>a='s,
>>>a

('s)
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0odzes  MIxmdglos  gmBbowgdol  asdmygbgdo,
596533 9M0l 990mbzg3900, MMl BOBbowgdo sl
>BOWIOIL 0.
3mOGgg0Lb  994dbs  0BHgHoMgdMEo  Md09YEBH0IH
990dgds tuple() gw964300L 459mygbgdoo:
>>> a = tuple('hello, world!")
>>>a
(h' ‘e, T, 1, ', W, o, ', T, d )
L0gdDBY godmyggbgdMo yzgws Mm39MOE0s, MMIGLO3
56 33€00b Losl (0930905, GoEbgBY 4o0M3wgds, index() s
count() 990OMIYd0 ©S DBMYo Mo  Lb3s  M39M5(30930)
39900g9gbgds  3MGgg0bmzoL.  Fgodrgds  9engdgbEgdols
5O JBOL FYE3Wo.
9ogoM0mMYdO:
3Mm0G970L  9e99963gdol g3 56 Fgodegds, Mo
BBl Fogoeomdo:
>>>b=(1,2,3)
>>> print(b)
(1,2,3)
>>>b[1] =15
Traceback (most recent call last):
File "<pyshell#6>", line 1, in <module>
b[1] =15
TypeError: 'tuple' object does mnot support item

assignment
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56OBYOMOL 65096009 dobgbo, H™I0EIb
200m30bsMg oML 3OEI0L  4odmyqbgds  LogdMIb
9OMs©.  ghm-ghmo  Jobgbos  dmbozgdgdol o33
39000b3930m0 3300 90gd0LYRD. 5F53MMMES, 3MME)Js0
dgblogMgdsdo 0353908 3306y  IMEMEEMOSL,  LogdMb
390569000.
>>> Ist = [10, 20, 30]
>>> tpl = (10, 20, 30)
>>> print(lst.__sizeof ())
32
>>> print(tpl.__sizeof ())
24
3MOG970 31850 MRO™ LHMIRs®, 3000609 BLogdo. 5699
999963 gd0L  3oeMBg35Dg s Lbgs  Mm39653090D9
obotxgds  653w9do  ©OM. slg3g  SLIBOTbs305,  BMA
3mOG9:70 990degds  259myqbgder  0dbsl  gdlozmbmab
3oL5©9gd0L Lsboo.
39O0gwo  3mOEg70Lb  d94dbs  Fgodergds  gMHM-9MMO
d63dsbgdoom:
>>>a=()
>>> print(type(a))
<class 'tuple'>
>>> b = tuple()
>>> print(type(b))
<class 'tuple'>
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3M0G9:0 8m399Mwo 993sygbermdom 0gdbgds oligag,
O0amO3  bos, IBMEmnE  33950MsGImo  3OBbowgdols

Bs33w5 299Mm0Yygbgds IMR350:
>>>a=(1,2,3,4,5)
>>> print(type(a))
<class 'tuple'>
>>> print(a)
(1,2,3,4,5)
3MOGg70L 894bs tuple() 53mbdi0000:
>>>a =tuple((1, 2, 3, 4))
>>> print(a)
(1,2,3,4)

300Gl 9w)dghhgdPy fizwmds  brdrogeregds
0609Jbol omomgdom, Logdols AbysgLo. dolo gargdgb@ol

3300 g00L I(3009eMdOLOL 00gds 93Mds:

>>>a=(1,2,3,4,5)

>>> print(a[0])

1

>>> print(a[1:3])

(2,3)

>>>a[l]=3

Traceback (most recent call last):

File "<pyshell#24>", line 1, in <module>
a[l]=3
TypeError: 'tuple' object does mnot support item

assignment

BO3INo  gwgdgb@Hol  folas  3mOEGII0©sb
399990 909009s. M3 0935 T930MAdl:
>>>a=(1,2,3,4,5)
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>>> del a[0]
Traceback (most recent call last):
File "<pyshell#26>", line 1, in <module>
del a[0]
TypeError: 'tuple' object doesn't support item deletion

3M0E9:0 30005650 G90degds Foobogml: del a

Lbool  3mM@9g00  gosloy3zsbo  Lby3dsMobos  dolo
39053995 tuple() gMbdz00L sGRmgbEHOL Loboon:
>>> st =[1, 2, 3, 4, 5]
>>> print(type(lst))
<class 'list'>
>>> print(lst)
[1,2,3,4,5]
>>> tpl = tuple(Ist)
>>> print(type(tpl))
<class 'tuple'>
>>> print(tpl)
(1,2,3,4,5)
03003905300 21939 31OIIOYos:
>>>tpl = (2, 4, 6, 8, 10)
>>> print(type(tpl))
<class 'tuple'>
>>> print(tpl)
(2,4,6,8,10)
>>> Ist = list(tpl)
>>> print(type(lst))
<class 'list'>
>>> print(lst) #[2, 4, 6, 8, 10]
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3.8. mgdLozmbgdo (dictionary)

L0gBIOLS S 3MMBHJ9d0L QoM Python-do s®ol 3093
900 B599690emo  dmbs3gdms LEHMJEWIGS, GMIGELLE
3J305 wgdbozmbo (dictionary).

Logdol ALS3LOE Egduogmbo 0bsbsgl gargdgb@gdol
30@gd3osb.  @gduogmbdo  gowr3gw  gegdgbdl  ogab
MbogomMo  Adobo®gdo,  OMIGWmSL  SbmEoMgdMwos
Dmp09Mmm0 3609369 mds.

©9gbo3mboL 4oBLEBOZML 593L T9dga0 LobEsduo:

dictionary={gob509001:0600369c0mds1,
2oL509002:860036900™ds2, ...}

3963L5BOzOM™ gdlozmbo:

users = {1: "Tom", 2: "Bob", 3: "Bill"}

elements = {"Au": 'md6m", "Fe': "®3o0bs", "H"
"09odoo”, "O": "55b605000"}

users 9Jbogmbdo  gologdol  Lsbom  godmoygbgds
(03b3900, bewm 86083690™md9d0L Lobom - LGMmodmbgdo.
elements gdbogmbdo  AoLOMgdOL  Lobom  2sdm0ygbgds
LEHOogmbgdo.

56 3OOl 930090, OMI JoLsMgdo s LEG®modmbo
0ymb ghmo Godob.  obobo Jgodwgds (omdmoygbwbgb
Lbgoolbgs GHodgdl:

objects = {1: "Tom", "2": True, 3: 100.6}

390dgds  39bolBOZOML  3sG0gwo  9dbogmbo
999963900b 2569d9:
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objects = {}
56 sbg:
objects = dict()

3.8.1. ool g3M5Jdbs egdlozmbs

8099bgs3500 030Ls, ®MI gdlozmbo s Los 56 s
dbgoglo  G03gdoL  LEHMWJGHMEGOL Tobg30m, (3930
Lobolb  Loobmgol 9oL @gdulogmbs  2oMEIJabOL
99LodEqdEMds dict() Bsdgbgdero gmbigool sbdsdgdoom.
530bsmM30L  Los  Mbs  0bsbsgEIL  BsFgbgdmEo  Logdol
653690L. 395390 Bs89bgdmEo Los Mbs F9waqdm©gls
MM0 9w9d9bGHolLsD - wgdbozmbs  3MbB3zgMEHIEOoLm30L
306390 9gdgb@o aobgds golvowgdo, bmerm dgmeg -
96003369 mds:

users_list = |

["+111123455", "Tom"],
["+384767557", "Bob"],
["+958758767", "Alice"]

]

users_dict = dict(users_list)

print(users_dict) # {"+111123455": "Tom", "+384767557":
"Bob", "+958758767": "Alice"}

d9ga0:

{'+111123455": 'Tom', '+384767557": 'Bob', '+958758767"
'Alice'}
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Abaogbo,  dgodegds  wgdbozmbo oM s0gabLL
MmO56BDM0Egd0sbo  3mOE0 9699 3OE 970, MHMIJo3
05300 db603 890393 M6 9996096 3MEE9:190UL:
users_tuple = (
("+111123455", "Tom"),
("+384767557", "Bob"),
("+958758767", "Alice")

)

users_dict = dict(users_tuple)

print(users_dict)

3.8.2. gemg99bGHol domgds, 933

wqdbogmbol 9w9dgb@gdby §3™obmzol LsFoMms
29LoMgdoL godmygbgds:

dictionary[key]
35250mMs©, 80300Mm» ©S 993335 ®  99dgb@Ho
wqdbogzmbdo:
users = {
"+11111111": "Tom",
"+33333333": "Bob",
"+55555555": "Alice"}
# 3000000 99d96GL Qolomgdom "+11111111"
print(users["+11111111"])  # Tom
# 9wgdgbBol 3609369 mdol  ©oygbgds golsmgdoom
"+33333333"
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users["+33333333"] = "Bob Smith"

print(users["+33333333"])  # Bob Smith

0] LgmOo FoLogdom gugdgbEol Ib0dzbgermds 56
50dmBRbYds, IMmbgds oL ToEGd:

users|"+4444444"] = "Sam"

95658 v B396 393090000 3603690 MdOL JoMgdls
3oLoEgdom, MHMIgEoE 9O OOl 9dubogmbdo, Python
3990039bl J9300t5L:

user = users|"+4444444"] # KeyError

dbaogbo Bo@osEool Fobsbfo® 4oBLyBM3zMOL dobbom,
999963 B9 0005635009  990odegds  d9dmfdgl
©@9Jb03mbdo oLoEgdOL SOLYdIMDdS QoTMLObMEgdom key in
dictionary. o) gobo®gdo 9GOl wgdbozmbdo, 35d0b
9399990 35dMBobmeEngds 06690l True 3603369 MdSL:

key = "+4444444"

if key in users:

user = users[key]
print(user)
else:
print("9egd9gbEo o6 5oL bodmgbo")

993963 oL  Joboegds  dgodergds  get  IgoMEOL
3990g9gbgds, HMIgerlisg 993 mMO RMMIs:
get(key) - 0369670l gdlozmbosb  gargdgbBHL  key
3oLoEgdom. ™ 9EgdgbBHo LYo  FoLOWGIOm SO  SMOU,
95806 5061690l None 3609369 mdsU.
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get(key, default) - 5d36bqdL gdlozmbosb gegdgb@lL key
3oLOMgdom. ®™v) ggdgbBo SO  JoLOMGI0? G  SMOU,
95806 ©s506Mbgdls 3609369 ™dL ydooom (default)

key = "+55555555"

user = users.get(key)

user = users.get(key, "Unknown user")

3.8.3. gemgd9gbG oL (odgmos

3oLoEgdol  dobgzom  gegdgbGol  Holsdwgwsc,
39900ygbgds del m3gMo@mMo:

users = {
"+11111111": "Tom",
"+33333333": "Bob",
"+55555555": "Alice"
}
del users["+55555555" ]
print(users)
Mbs 390m35¢oLobmm, HMI vy Abs3LO ASLOMIOO
5O 50dmBbgds  9dubogmbdo, sdmgzs  TgEHYmdobgods
9930M35bY. 9d0@™I odol Hob Lalvy®zqwos dgdm{dgl
9399990 45L5Mgd0m Jgdgb@ol sOLYdIMS.
key = "+55555555"
if key in users:
user = users[key]
del users[key]
print(user, "{od@r0g05")
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else:

print("ggdgbGHo 56 560l bsdmgbo")

Podol bbgs bg®bos pop() goomeo. dsb 5g3b mEo

SIVIOTIAY
pop(key) - {odwol gargdgbBl key golowgdol dobggom s
©5306MbgdL  Hodwow 9ugdgbBHl. vy ggdgb@o sbgmo
3oL5gd0m 56 HMOL, F9bgMHOMHYds 93MAs;
pop(key, default) - o890l gawgdgbBHl key golispgdoom s
506Mbgdl oo  gegdgbdHl. v) 9gwgdgbGHo  sLgmo
3oLOEgdom 96 5M0L,  F5Fob OO MbgOL  default
36093690 mdsL.
users = {

"+11111111": "Tom",

"+33333333": "Bob",

"+55555555": "Alice"
}
key = "+55555555"
user = users.pop(key)
print(user)
user = users.pop("+4444444", "Unknown user")

print(user)

0v)  LsFoMms  yzgws  ggdgb@ol  §ods,  3s5d0b
990dngds clear() 3gom©ob godmygbgds:

users.clear()
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3.8.4. 90 3mMboL 3M306MJdS S Z5gMH06GdS

copy() d90™MEo 5330690l qgbozmbol
090500396 Md5L @ 536M¥BAdL sboer wgdlozmbU:
users={"+1111111":"Tom","+3333333": "Bob","+5555555":
"Alice"}

users2 = users.copy/()

update() 3900Mm@O 5900005693l ME gdlombl:

users = {"+1111111": "Tom","+3333333": "Bob","+5555555"
"Alice"}

users2 = {"+2222222": "Sam","+6666666": "Kate"}
users.update(users2)

print(users) # {"+1111111": "Tom", "+3333333": "Bob",
"+5555555": "Alice", "+2222222": "Sam", "+6666666": "Kate"}
print(users2) # {"+2222222": "Sam", "+6666666": "Kate"}

59 ©OML wgdbozmbo users2 GRYOS MEIEISE. OG3OS
users  gdbogmbo,  MHMIgedoi  9oBHgos dgmb
©wqdbogmbosb. vy LogoGms, MHmI  mMozg  Lsfiyobo
wqadbogmbo ogml  33wgws©, bmem 459000056930l
990920 0g4mb dgLsdg 9dbozmbo, 35d0b dgodegds Hobolfot
©5303060©9gL 9HDo wgdbozmbo dgmegdo:

users3 = users.copy()

users3.update(users2)
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3.8.5. e»9dLo3mbol 3o0sMBg3s

©9Jb03MmbolL gosMBgz0LmM30L Jgodergds for (3030l
299myagbgde:

users = {
"+11111111": "Tom",
"+33333333": "Bob",
"+55555555": "Alice"

}

for key in users:

print(key, " - ", users[key])

909996390l 35oMmBg30Lsl 3009000  J0dEObEY
999963 0b 25L50gdl, GMmdol dobgzom Fgodwrgds m3z00m
9999630l domgds.

909396390l 49aMBg30lL  Lbbgs  bg®bos  items()
99000 g53mygbgds:

for key, value in users.items():
print(key, " - ", value)

items() 0goOMEO VOWHIOL  3MOEJFJOOL 653U,
3OWIINLO  3NOAJI0 FJoEagh obogdL s gergdgbHoL
36003690mdsL, MHMIgEog 4osMbgzoLol 0439 dgodwrgds
dogommom key o value (33¢050099d0.

SOLYOMAL (35¢039 2oLOWYdIOL s (3939 360d369EMdOL
39056MBg30L gLodgdemds keys() dgomob 4sdmygbadoo:

for key in users.keys():

print(key)
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00930 39oMBg30L 58 FgMmEL SBOO  SMS 593U,
o6 keys() dgom@ol 459mdobgdol 45609393 90dEgds
39L5©9d0L oIMBY3s, OMAMO Bgdmm oym bsbgz96900.

dbmemn  360836900md0l  2o@ola®mBg3s  g0dengds
399my9b9de 0dbsl values() dgomeo:

for value in users.values():

print(value)

3.8.6. 3m33e9duvyHo engdbozmbgdo

Gogbzomo s  LEG®oJmbol  Godolb  FoMEGH030
M009d3HgooL 396 gdbozmbo  Fgodergds  0bsboggls
MROM OOME M309dGHOL - 02039 LOgOL, 3mOEJIgOL
Lbgo egdlozmbgdl:

users = {

"Tom": {
"phone": "+971478745",
"email": "tom12@gmail.com”

3

"Bob": {
"phone": "+876390444",
"email": "bob@gmail.com”,
"skype": "bob123"

}

dm3gdme  dsgowomdo  gdlogmbol o390
9999630l 360336gemds  mog0l  AbGO3 (oMbl
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3399 9dlozmbu. Bsd9bgdmwo  gdlozmbols
999963 Bg d08smmM30bmM30L  FgLodsdolo LyFomms MmMo

3oL59d0L godmygbgds:
old_email = users["Tom"]["email"]

users["Tom"]["email"] = tom12@gmail.com

0v) 999309900 96083690Mmd0l FoMgdsls goliswgdols
dobgzom, ®mIgwos 96  sMolL  wgdbozmbdo Python
5296960693l KeyError-Us:
tom_skype = users["Tom"]["skype"] # KeyError
3930™30L 0530056 SBsEOWGdWs©, Mbs Fgdm{idgl
39L59d0L 5OLYOMDS ¢gdlozmbdo:
key = "skype"
if key in users["Tom"]:
print(users["Tom"]["skype"])
else:

print("skype is not found")
055@009d0:

qgbozmbol 99943bs o Mool EIHAIMGO0:
>>>d ={}

>>>d

{
>>>d = {'dict": 1, 'dictionary": 2}
>>>d

{'dict": 1, 'dictionary": 2}
qgbozmbob 9994dbs dict gmbd00L obds®madoom:
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>>> d = dict(short='dict', long="dictionary")
>>>d
{'short": 'dict’, 'long": 'dictionary'}
>>>d =dict([(1, 1), (2, 4)])
>>>d
{1: 1, 2: 4}
wqdbogzmbol 9994dbs fromkeys dgomol sbdstrgdom:
>>> d = dict.fromkeys(['a’, 'b'])
>>>d
{'a": None, 'b'": None}
>>> d = dict.fromkeys(['a’, 'b'], 100)
>>>d
{'a': 100, 'b": 100}
wqdbogmbol  d9ddbs  gdbogmbol  g9bgMEMMGdOL
©ob3sMgdom,  MMIWIdoE  dowosh 3335656  Logdols
39696M5@MM90L:
>>>d ={a:a ™ 2 for a in range(7)}
>>>d

{0:0,1:1,2: 4,3:9, 4: 16, 5: 25, 6: 36}

wqdbogmbdo  BsbsHgMol  sTo@gds o golivwgdols
360093690 md0l 5dmemgds:
>>>d=1{1:2,2:4,3:9}
>>> d[1]
2
>>>d[4]=4"2

>>>d
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{1:2,2: 4,3:9, 4: 16}
>>>d['1"]
Traceback (most recent call last):
File "", line 1, in
d['1’]

KeyError: 'T'

OMAMOE 0549000006 BBL,  sboew  olmgdg
90603905 585OmmM™M390L  9dlogmbl, sOLYdME LM gdBY
d0boggds L 20o5(gOL 3600369 MdLL,  beerm
35MLYOMO 25L5MGOOL 5FMGdS 0dEg3d F9EEMISN.

3.8.7. 8900900 9dbo3Mbydmsb l553mdsm

dict.clear() - sbEM390L qJlo3MBL;
dict.copy() - 5060693l ¢ggdlogmbols sLiemls;

classmethod dict.fromkeys(seq[, value]) - Jdbol qrgdlozmbl
3oL©gd0m seq s 3603369 mdom value (©ydoeroom None).
dict.get(key[, default]) - 5369650l golowgdol 360369 MBS,
3553 030 ) 56 SMOL, S0M6qdL default 3603369 MBSl
(m8owoo None);

dict.items() - 5369690l Fyz0eb - 2oLoMgd0, I60IZbgEMds;

dict.keys() - 5369693 20L509d90L 9Jlozmbosb;
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dict.pop(key[, default]) - {odeol olowgdl s sdCMBHdL
36003690 mMd5L. v A5LOMgdo SO SMOL dMBYdL default
(08000 539696M0MJOL 450mbs3eoll KeyError);

dict.popitem() - fodol s 506MHMbYdL Yyz0el: Aobomgdo,
d6033bgmds. v wgdbozmbo  (396M0gwo0s  53969MHO0MIBL
399Mb530olL KeyError. ¢ngduiozmbo s6 560l osygdwewo;

dict.setdefault(key[, default]) - 506HMbgdL  gobo®gdOL
d6033bgmdsl. ™) 0qo 96 SMOL, SO 539696MH0MBL
390mbs30ollL, 56599  JAbol  goliowgdls default
36009369wmdom. (©mdowoo None);

dict.update([other]) - 9ob6oobegdl gduozmbl:  AsLowgdo,
86009369cmds fiyz0ol sdsgdoo other-qsbh. s®Lgdwyero
3oLogd900 4950 gMgds.  ¥OMBIdL None (56 obosgro
wqdbogzmbol);

dict.values() - 5369690l 36093690 MdL gl 3mbosb.
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IV 3530. LodGsgeng
4.1. 5odMs3ol 3Bl BEP3MS

LodMS3eY (set) FoMTMoPIBL 9e9d9bEHGOOL Bo3MgdOL
300093 9O  Lobgmdsl.  LBodM3eol  obloBO3GOLMZ0L
399Mm0ygy9gbgds  BoyMOHwo  gmBbowgdo,  GMIgdog
Bodmomggds gargdnb@gdo:

users = {"Tom","Bob","Alice", "Tom"}

print(users) # {"Tom","Bob","Alice"}

305J30000  YyMMOo®9ds,  GMI  print 63050
39900@sbs "Tom" gargdgb@o ghombgw, mmbsi LodGMmsgwrols
3obLOB3Msdo g gwgdgbBHo  mbxgd  dmbsfowgmdl,
(o903  LOIMS3eg  Tgoogl  FbmErm©  Mbogs®
960093690 md90U.

LodMH3OL  FobLLBZMOLMZ0L  Fgodergds  godmyg-
Bgome  0dbsl  set() BMbJ305,  OMIGLE 993990
9w93963900b Los 96 3mOGgs0:

users3 = set(["Mike", "Bill", "Ted"])

set ®3bdool 499mygbgds FmbgMbgdmwos (35609w0
LodM 3ol qLodabgerso:

users = set()

LodM3ol LoaMdol goblsDBL3OOLMZOL gosdmoygbgds

len() B589bgdmo BmbJ30s:
users = {"Tom","Bob","Alice"}

print(len(users)} #3
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4.2. 9e0gd963gdol s35EHYds

000M ggdgbBHoL LsdsEH O godmoygbgds add()
d90™MQo:
users = set()
users.add("Sam")

print(users)

4.3. 9e9896@9d0b sdgms

9600 9egdgbEBHobL folisdergas godmoygbgds remove()
9900™MO, MMIJdoE 49s9399s Holodwgmo 9wgdgbo.
05658 b5 04b5L Aomzscolifiobgdmeo, ™I mw sbgmo
90999630 96 Mol LoIM3w9do, 3969M0M©Ids Tg3MDs.
5303md (ododg in  M39MsGMmMom Mbs d9dmfdogl
5oL ) 565 9gargdgb@o LodMs3gdo:

users = {"Tom", "Bob", "Alice"}

user = "Tom"

if user in users:
users.remove(user)

print(users)

d9ga0:

{'Bob', 'Alice'}

51939, Polodwgws d90dwgds 2odmygbgder 0dbsls
discard() 9goomo, OHMIgEog 56 953969M0MgdL Tg3MIsl
99996 0b 56 5MBYdIMOOL OHMU:

user = "Tim"

users.discard(user)
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y39ws 9egdgb@ol Holisdargms godmoygbgds clear()
d90™MQo:

users.clear()

4.4. 50065300l 35005MBg35

90999639d0L  35sbeMBg39 Fgodengds for (303¢0L
259myagbgde:
users = {"Tom","Bob","Alice"}
for user in users:
print(user)
399MBG30LL (39390 ggdgb@o  gobmogliogds
user (33Q5¢Jo.

4.5. m396530900 LoIMm3eggdBY

copy() 390mol EsbdsMgdoom d90dergds s3M30MEIL
9600 LoIMS3Ol F905A9bEMdS bbgs (33wsdo:
users = {"Tom","Bob","Alice"}
users3 = users.copy()
39903039bmm» mGM0g9 LoIM3eY. I3G(IMbrgdom,
6md users Qo users3 9903936 9MNO0H0R039 9egIgbEgoL:
print (users)
print (users3)
39g30:
{'Alice', 'Tom', 'Bob'}
{'Alice', 'Tom', 'Bob'}
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union() 99gNMEO  59MOMOBJAL  ME  LOIMIZGL O
506bgdL sbogw LOIGMSZL:
users = {"Tom","Bob","Alice"}
users2 = {"Sam","Kate", "Bob"}
users3 = users.union(users2)
print(users3)
d9w9g30:
{'Kate', 'Sam', 'Tom', 'Bob’, 'Alice'}

LodMO3gms  Mobs3zgms  LOPgdsls 0derg3s
90090 0gbsll Ibmewmo ol gwgdgb@gdo, GMmIwgdog
IOOOOMMYWOIE 9006 mOM0gg LodMsgegdo. intersection()
99000 bbbl BLOIMSZgMs 3565339000l M3JMSFOSL O
506bgdL sboen LodGmsgergl:

users = {"Tom","Bob","Alice"}
users2 = {"Sam","Kate", "Bob"}
users3 = users.intersection(users2)
print(users3)

d9g30:
{'Bob'}

intersection dgomeol Bsggwoo d90dgds

399my9690e 0dbsl rMmy03mE0 2596530 gd0L M3gMS(30s:
users = {"Tom","Bob","Alice"}
users2 = {"Sam","Kate", "Bob"}
print(users & users2)

d00gds 03039 990gy0:
{'Bob'}
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LodGMOgErol  Lbgomds  s36WMBgdL g gdgbgdbL,
GdgoE 5OHob 30639 LoIMO3Egdo S 56 GOl JgmEmgdo.
LodMs3gms bLb3zomdol Jobowgds T9odargds 4sdmygbadryen
0gb6sU difference 89000 56 98030900l M3gMS300:

users = {"Tom","Bob","Alice"}

users2 = {"Sam","Kate", "Bob"}

users3 = users.difference(users2)
print(users3) #{"Tom", "Alice"}

print(users - users2) # {"Tom", "Alice"}

4.6. LOIMSZ3gS MOl IMZ0IOMEDS

issubset 390M©O ©5YIBL SMOL My sG> FodEObsty
LodMm30ng Lbgs LOIMs3OlL J39L0TMIZY:
users = {"Tom", "Bob", "Alice"}
superusers = {"Sam", "Tom", "Bob", "Alice", "Greg"}

print(users.issubset(superusers)) # True

print(superusers.issubset(users)) # False

issuperset d9oOM©O, 30M0Jom, 506MHbgdl True, )
90906569 LOIMIZg T90(353L J39LOTMSZEgL:
users = {"Tom", "Bob", "Alice"}
superusers = {"Sam", "Tom", "Bob", "Alice", "Greg"}
print(users.issuperset(superusers)) # False

print(superusers.issuperset(users)) # True
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4.7. 31b6J309%0 ©s 900Mm9gd0 LoIMs3¢)gdm6
b53dsme

len(s)- LEdGH3gdo 9egTgbEHJdOL MOMPIbMBY;

xin s - 3039036905 LOAMOZegDY;

set.isdisjoint(other) - 39335603005, v set o other oG5 S93m
LogMonm 9e9dgb@o;

set == other — set 439w gargdgb@o 93mm3bols other o
3060dom;

set.issubset(other) sbv) set <= other - set g4ggwos gwgdgb@o
93290360UL other;

set.issuperset(other) b6 set >= other — other yggws 9w9d9b@o
9379003600 set;

set.union(other, ...) 56 set | other | - yggws LOAGIZEOL
399600056909;

set.intersection(other, ...) o6 set & other & ...-LodMSZgNS
056533909;

set.difference(other, ...) 56 set - other - 50619690l LOIOSZgL
9w99963900Lob, H®MIgdoE SO set-do s 96 6oL other-
do;

set.symmetric_difference(other); set " other - 5069690l
LodM3gl  9egdgbEJOoLYsD, GMIgdos a3b3Ids JH»
LoIM53gdo s 56 33b3Y0S MO39 LOIM3egTo.

set.copy() - LOAMOZEPOL SLEPO.

set.update(other, ..); set |= other | - LOAGIZEIGOS
399600056909;
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set.intersection_update(other, ...); set &= other & ...-
LodMOZEgMs M9b5330009;
set.difference_update(other, ...); set -= other | ..- LoIGog3E g

2593 q0;
set.symmetric_difference_update(other); set 7= other -

9000905 LOIMOZWg ggdgb@gdolash, Mdmdgwos a3b3Ids
9O»-960m LOIOO3gdo, F5M5T 56 23630 Yds MM039T0;
set.add(elem) - @5535&9dL 9eqd9bEL LodM3w9do;
set.remove(elem) - 8ol 99dgbBHL LOIMOZgI6;
set.discard(elem) - §59eol gargdgb@l. o) 0go 3 dsMYMBL
LodMm53gdo;

set.pop() - o8¢0l LodMsgrgEsb 3JoMzger  gargdgbB U,
599650053 LOIMIZg o6 ML  IMfILO0YIOMWO, 96
390dg0s 0009358 v HMBgeo 9egdgb@o 0469ds 30H39wo;
set.clear() - LOAMOZOL YolUBMSZ39ds.

4.8. frozen set 3030

frozen set 030 560l LOIMOZOL BH030, OMIGEOE 56
990dgds  d90335¢ml.  dob  dqLoddbgars  godmoygbgds
frozenset 3bd309:

users = frozenset({"Tom", "Bob", "Alice"})

frozenset 6300l 25593995 9e9d96EHYdOL Bo3MNdO
- oo, 36O GJs0, Lbgs LodMsgwy.

Sbgm  LOdAMsgegdo 396 39053JP  Sbogn
929396090 s 396 Fogdwwroo ¢339 sOLYIYD. s3wgbo
frozen set 3bsML v FgOL M39MO3E0sMs F9BVMIE Bo3M9dL:
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len(s) - 536¥b9dL LEIM 3Ol LoAOAIU;

xin s - 506H9bgdL True, M) x gergd9gbEHO 5M0L s LoIMS39d0;
X not in s - 50MMHbYOL True, v x gEgdgbBHo 56 sGOL s
LodGMogegdo;

s.issubset(t) - 506Mx6q0L True, vy t Gg03o3L s LOIOOZU;
s.issuperset(t) - 50609690L True, c+) t g0l s LoIMS3eTdo;
s.union(t) - 536wbgdL s @ t LOIMSZEIYMS FOoJOMN0SHJIL;
s.intersection(t) - 93Mw6OL s o t  LOIMSZLIDS
3905339000L;

s.difference(t) - 5069690l s s t LOIOIZ g LbZoMBSL;
s.copy() - 5069690l s LOIOSZOL SLEND.

3525¢0009gd0:
LodGm 3ol 894dbs:
>>>a =set([1,2,3,4,5])

>>>a
set([1,2,3,4,5]) #{1,2,3,4,5)

d90dgds  LodMsgzeol  Bofigts  A9TIMEGH0390 0
ammIom:

>>> b ={1,3,5}

>>>b

set([1,3,5]) #{1, 3, 5}

OMaMO3 3535e0m0@b BbL, LodMszEgl 593l 0039
WoBJMowo, MMaMmO3  wgdbogmbl, BogMsd  (39G09W0
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LodMO3Eg  WOFIMOOL  ILTIMGd0 96 FgodEgds
d9043bsb:

>>> a = set()

>>>a

set()

>>> a = set('hello")

>>>a

{'h','0", 1, 'e"}

>>>a={a','b, 'c,'d'}

>>>a

{'b,'c,'a', 'd"}

>>> a = {i ™ 2 for i in range(10)} #LodGogergms
396965GH™M0

>>>a

{0, 1, 4,81, 64,9, 16, 49, 25, 36}
>>>a={} # gl 56 dgodrgds!
>>> type(a)

<class 'dict'>

LodM53g 396 Tgobsbogl MG gMHMbI0E 9egd9bBb:

>>>set([1,1,1,2,2,2,3,3,3,4])
set([1, 2, 3, 4])
>>> set("hello")
set(['h','e', 1, '0'])
3550mdo M (3999905 BLOIMIZEPOL ogS39ds for 303 do:
a =set([1,2,3,4,5])
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foriin a:
print (i)
89ga0:

B W N =

5

LodMs3g  A9TMYgbgdE0s godgMmMgds©O  GEgd9b-
A900U obodergwso:
>>> words = ['hello’, 'daddy’, 'hello’, 'mum']
>>> set(words)
{'hello’, 'daddy’, 'mum'}
frozenset 359my9gbgdol dogser0mo:

>>> a = set('qwerty")
>>> b = frozenset('qwerty')
>>>a ==

True

>>> True

True

>>> type(a - b)
<class 'set'>

>>> type(a | b)
<class 'set'>

>>> a.add(1)

>>> b.add(1)
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Traceback (most recent call last):
File "<stdin>", line 1, in <module>
AttributeError: 'frozenset' object has no attribute 'add’

dm 390w 35g9¢0mdo boo 39653439600
LodMO3EgE, bmerm Fgdymd LT3y AoMs3]Jdgbom
bos@. ol  899a9o3 LOIMIZAg  o0OZ30BBPYdS
QUPOEOOIONO JegdghGgdoLs:

>>>1st=["a","c","b","c","c","d","g","d","e","a","g","{","b"]
>>> Ist

['a','c’,'b', ', ¢, 'd', 'g', 'd', 'e', 'a', 'g', 'f', 'b']

>>> newlst = list(set(Ist))

>>> newlst

['a','c,'b, ‘e, 'd', g, 'T]

a @ b LOIMH3YIBO YogMHPN05DbYdS:
>>>a=[1,2,4,5,7]
>>>b=[2,3,4,5,6,7,8,9]
>>>a
[1,2,4,5,7]
>>>b
[2,3,4,5,6,7,8,9]
>>> set(a)|set(b)
set([1,2,3,4,5,6,7,8,9])

LOIMHZGMS QOTMIYdS:
>>>a
[1,2,4,5,7]
>>>b
[2,3,4,5,6,7,8,9]
>>> set(a)-set(b)
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set([1])
>>> set(b)-set(a)
set([8, 9, 3, 6])

LodMOZEgMO MObs3z3qgMs:

>>> set(a)&set(b)
set([2, 4,5, 7])

LodMsgzegms  Lodg@mowmwo  Lbgomds. 506096 gdL
9w99963H9gdl,  MHMAWYdoE 9O 033900900506 255390
LodM3eg9gddo:

>>> set(a)”set(b)

set([1, 3,6, 8,9)])

dsgomomdo dm{jdgds gemo LodMsgwols gwgdgb@o
d90b ™ 565 d9mM9do, RBoJGMOM0350 9JOHMO LOIM3Y
5MHOL ) 565 FgMEgL J39LoIOZY:

>>>a=set([1,2,3,4,5,6,7,8,9])#1-056 9-0c0g Bomeomm@o
(o3Eb3900L LOIMO3EY

>>> b = set([3,4,5,6,7]) # 3-05b 7-0009 bo@GHmEomE0o
6o3Eb3900L LoIMO3wY

>>> ¢ =set([3,5,7]) # 3,5 5 7 ®o3bggdool LodMogary

>>>a
set([1,2,3,4,5,6,7,8,9)])
>>>b

set([3, 4,5, 6,7])

>>> ¢

set([3, 5, 7])

>>> e = set([3,5,7,9,0])

>>> d=set([9, 3, 5, 7])
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>>>e

set([0, 9, 3,5, 7))

>>>a

set([1, 2, 3,4,5,6,7,8,9)])

>>>b

set([3, 4,5, 6,7])

>>>a>b

True

>>>b>a # "a" 96 560l "b" -b J39LoIM3Y

False

>>>b

set([3, 4,5, 6,7])

>>>C

set([3, 5, 7])

>>> c>b

False

>>>b>c # "c" 560bL"b"-b J3glodMo3eg

True

>>>a>c # "c" s6ob"a"-b J39LbodMsz3erg

True

>>> a>b>c # ¢" 5oL "b" s "a"-b §39L0TMegzwg, "b" sMOL
"a"-b 939LodMB3Y

True

>>>a

set([1, 2, 3,4,5,6,7,8,9])

>>>C

set([3, 5, 7])

>>>d

set([9, 3,5, 7])

>>>a>d>c #True
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V ms30. @mbJi309d0
5.1. gn9bg300L g35bLsbM3zmS

BMbdEos 96M0L 3MmEOolL derm30, MMIgEois SLOYIEgdL
23obLOBEZOME  5TM(3obOL s MMIgwoig  Fgodergds
39609m©90000  0ogml  godmyggbgdmeo  3OHMYMmsdol  Lbgs
Bsffoergddo. 3164300 8000gdl sGRMgbEHJOL s S3GMbHdL
8600369 mdsL. g3mbJ0s 4obolsbrgmgds def 0blE®Myd00L
©H3s6M9000m. 53MbBJ 300U gobloBzMOL LobEsduo:

def 3bJ00ob_Lsbgaro ([35615993HM9d0]):
0bbGMmdzogdo
B996J300L goblobmgMs ofjygds def 2sdmbisbwyargdom,
OHmdgwos 9903905 396J300l Labgeoligsh, g®bbowgdol
65360900LAsD 356039 BHMgoom s mOIMEGHOWOLYSE.
3565393900 BORBOWGdTo  5M55¥)(3000gd9w0s.  F9dga0
LEHOogmbosb 09690 0bLGHMMIE0900L 0 M30,
OMIgbsg  SbOWMWIdL  Bmbdgos.  gwbJgool  gzgws
0bLEGHOMI30sL 993L F9H930 LEHOOJMBOL WILLHYOLOWIB.
do6GH030 53964300l goblobLgdo:
def say_hello():
print("Hello")

Rbdzos  390modobgds say_hello-oo. 9ol 965 943l
3965393900 ©@d 9035318 9OHD©IO  0bLEMWJ30sU,
OMIgbsE 99md3l 30bLmebg LEG®oJmbo Hello.
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RMbgdEool  398mlisdobgdes by  dogomommls
03bdzool  Lobgwo, G®Iol 9oy  BOMBbogddo
909000905 25oL3900 3609369 ™MdGI0. FoYIWOMS:

def say_hello():
print("Hello")
say_hello()
say_hello()
say_hello()

Lodx 9O bgds FMbJ300L  Qodmdsbgds. 3Bl
9000905 39090:
Hello
Hello
Hello
3963L5D3MM 3565093900560 GMbdios:
def say_hello(name):
print("Hello,",name)
say_hello("Tom")
say_hello("Bob")
say_hello("Alice")
xmbdzos 8000gol name 356539 BHML © RWbJz00L
3°9mdobgdolsl 396039 BHeMol  bozmo  89a30d0s
390053390 ©v0dg 3609369 mds:
Hello, Tom
Hello, Bob
Hello, Alice
xmbdaool BmyoghHmo  356999BHM0  F90dwgds

393b5M™  5M05Y(30egdgJo,  MOLM30LsE 36300l
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29bLOBEZMOLOL dsom3z0l mbgo dogmommls
9600836903900 ©FOoom. 359E005:
def say_hello(name="Tom"):
print("Hello,", name)
say_hello()
say_hello("Bob")

5d name 356539BHM0 555930 gdX0s. M) BbJ3z00l
3990dobgdolisl 56 250003399 356599xEBHOL, 85806 doowgdl
960093690 d5L dowom, 5699 LGHMOJmbL "Tom".

96003b9mdsms 200539908 O™ gbd50s
F9mlodsdgdl  Foo  39M9gBHMYdL 00539 808@Y3OMOOM,
I3 0LOBO 35059(399056. BoQSOM:

def display_info(name, age):
print("Name:", name, "\t", "Age:", age)
display_info("Tom", 22)

R9964300L godmdsbgdolsl 30639wo 60d3bgwmds Tom
3900593995 306039 356599BHML - name, dgmMg 3609369 Mds
-22 2500593935 3969 3561599 BHEUL - age s sy 9999y Mool
dobgzom.  Lobgmmmdomo  3565dgBHGob  4o8mygbgds
1535905l 0dEg35 90339 ML A9s(39dol J0dY3MIMd.:

def display_info(name, age):
print("Name:", name, "\t", "Age:", age)
display_info(age=22, name="Tom")

*

oMMl 459mygbgdoo  JgodErgds  dogmommls
3565393900l gobmlsDL3MIo MHoMEYbMd.:
def sum(*params):

result =0
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for n in params:
result +=n
return result
sumOfNumbersl =sum(1, 2, 3,4,5) #15
sumOfNumbers2 = sum(3, 4, 5, 6) #18
print(sumOfNumbers1)
print(sumOfNumbers2)
MMamO3 36930 sum 3630l ghom 99dmbggzsdo
39005933995 5 3560589@ G0, 3gmEqT0o - 4 356599FH 0.
0bd30osd  990degds  ©o93OWMbml  360d3z69emds,
GHoLM30Ls3  29dm0ygbgds return  M3gMoGHMM0, GMIWol
090953 9090m9gds LMD Ydgo  860Td3bgEmds,
35250mo©, BbJ30s 5dMMBIIL X s Y HOEb3ggdOL K sAL:
def add(x, y):
return x +y
9L 3Mbd305 F9odegds 259mdobgd e 0dbsls 9dgao
Loboon:
>>> add(1, 10)
11
>>> add('abc', 'def")
‘abcdef’

9ogoW0mO:
def exchange(usd_rate, money):
result = round(money/usd_rate, 2)

return result

result] = exchange(60, 30000)
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print(resultl)

result2 = exchange(56, 30000)

print(result2)

result3 = exchange(65, 30000)

print(result3)

50@9gbss3  @Mbdsos  93GWMBgdl 3600369 MdSL,

39230905 gl 3603369 Mds B03560FM™ G500 (3305©L
999099 399m30949bmom oyo: result? = exchange(56, 30000).

Python-do a3mbgEosL 3999d0s Q550MHBbMUL
JONOMNS M59Yb0dg 360d3b9wmds:
def create_default_user():
name = "Tom"
age = 33
return name, age
user_name, user_age = create_default_user()
print("Name:", user_name, "\t Age:", user_age)
dm3gdmer  dsgoeomdo  create_default user @wbJgos
506OMbgdl ™G 9609369 mdslL: name o age. gw6Jz00L
399mdobgdolisll g 8603369 mdgdo  Gogol  dobgzom
9603905 (33eogdL: user_name s user_age, Mol d9009y°3
3900 gds 8500 258mygbgdo.
1bdEos 890dwgds oyml Bgdolidogmo LoMmmeols s
©5306MMbML  63d0LdogHo  Md0gdBHO: LoGdo, 3MOGHIJI0 ©
300 3v96J30900:
>>> def newfunc(n):
def myfunc(x):
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return X + n

return myfunc

>>>new = newfunc(100) # new - gl g«bJg0ss
>>> new(200)
300
2bdaos  890dgds 96 J0og3M©IdMEIL  return
0bLEGHMMIJ300m, 58 ©OML BM6J300 9OM6gdL None
36009369 mdsl:
>>> def func():

pass

>>> print(func())

None

5.2. @mbdizogdo: zip(), map(), lambda(), filter(),
reduce()

map(), zip() o lambda() Bwb6J30980 ULodwmowgdsls
0393096 L530om@© FoMGH035® T gl  Lbgssbbgs
3560379530900 mbs(39990056.
300935m, 8m39999wos gOMbsomo Log®mdol mGo Los:
a=[1, 2] s b =3, 4] s bLyFoOMS Bsao JgMfyds yz0egdsc.
50  990mbgzggzsdo  yzgwsbg  FomEH0305  zip  BwbJzool
259myabgde:
a=[1,2]
b =[3,4]
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print (zip(a,b))
[(1,3), (2, 4)]

9b5EMa0MEs©  Qodmoygbgds  zip  gmbdios  Lsdo
0930000l BoLo®gds:

a=[1,2]

b =[3,4]

c =[5,6]

print (zip(a,b,c))
[(1,3,5), (2, 4, 6)]

D90 MOI00:

list = [a, b, ]
print (zip(*list))
[(1,3,5), (2,4, 6)]

B08sbo  list (ob Fommomgdl, ©mI  gows9i399s
56Mm8963H900L Los 96 090395 MoMM gos(399ICo 0gmls
a, b, ¢ 9649 Ggodergds sbga: print zip(*[a, b, c]), 9990 956
39033w9ds.

5oL LOG¥930900, MMEILsEg MMIgEodg Bmbdizool
3990mygbgds LoFoMms Lool (39w 39Mwo  9egdgbEHolmaol.
dm399M 89dmbg935d0 300 G90degds SB93 I0HGOHMU:

def f(x):
return x*x
nums = [1, 2, 3]
for num in nums:
print (f(num))
56 890dgds sbga:
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def f(x):
return x*x
nums = [1, 2, 3]
print ([f(num) for num in nums])
0o 650 map() @odmygbgdom 3MEL  Po3OEGO0M
356030 Lobyg 593L:
def f(x):
return x*x
nums = [1, 2, 3]

print (map(f, nums))

35290m0sb  BBL, ®mI map doogdl Mo0dg
2bdosl s Losl, bmerm sd36mbgdls dggal sbigzg, Lool
Lobom. 3ol Fgodargds 490939 ©5d9gbodg Loo, 85d0b
23bJ309d Mbs Jooml Gsdgbodg stydgb@o, map-do
390053399910 Lool GomEybmdols dobgzom:
def f(x, y):
return x'y
a=[1,3,4]
b =[3,4,5]
print (map(f, a, b))
[3, 12, 20]
0v) bogdo ULbgosbbgs  LoaMdobss, dsdob olLobo
d903L90s None 3609369 ™0dgd0m LoFoMOm LoaMdgdwyg. v
Dog3dcrom b LoD draerm 360T369EPMBSL - FogooMO 56
00399053900, M5y0 f gmbd30580 dmbgds Gogbgols None-
B9 2996053wgdol I3IWMBS, M3 SO MOl ©s3390vIEO
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python-do. sd0@™0d 09 f 364305 Lozdom IMEYPMdOMO.,
80%56d9fimboos d93mf{idgl goabazgdo 360d369wmdgdo.
3o29WOMI:
def f(x, y):
if (y == None):
y=1
return x*y
0¥y map 3mbLAMHMJz0sdo Bmbdiool syobg 43543L
None, 95806 map 9mgdggdlL zip dbyogLo, ogMsd mvy
3905L53990 Logdo LbzsILLIS LogMdolss Fgwgado dodmgs
None, 53 Bmy096Hm dmdgb@do dmbobgMbgdgwos.

lambda() gmbJgos @odmoygbgds 8sdob, ML
L5 F0MOMS 2560LIHBWIOML 3mbdios def func_name(): yocgdy.

56mbodnMo g3mbdizos dgodergds d9o3e3wgl dbmerm
960 259mbobegdsl, Foa®sd 0o  LEOYYWEIds  MBOM
UOsg3s.  9bmbodnMo  Bwbjszogdo  0ddbgds  lambda
0bLEGHMMJ3o0ol  obTsMgdom.  QoMES  5Tols, 9O GO
330009390 obobo  80gboFml  33wre©L,  MMaMOE3
3939090om def func() obLEGGOWJs00m. SLgmo Bbdsool
G960 56 Fgodergds 890393091 9OHNDY 39d) 0BLEHO305L b
3990bsbYEgdsl. Slgmo FMbd30s Fgodegds godmygbgdwen
0d65L 65099 363909600 ASTMMZgdolL  Bs®BRMmgddo
(8539005 filter(), map() Qo reduce()) ob
©50M)300090Ws©, 0d Boog dMmomMbM3zgds Jodmm3zegdols
Dot3mgds, H™MIgeroE dmbg®bgdmewos 89336050 BwbJazos:

>>> func =lambda x, y: x+y
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>>> func(1, 2)
3
>>> func('a', 'b")
'ab
>>> (lambda x, y: x + y)(1, 2)
3
>>> (lambda x, y: x + y)('a’, 'b")
'ab
lambda gbdi300L, B39v9gdm030Lsb 2sblbgsggdom,
56 Imgmbmggds return obLGHMMIE0s:
>>> func = lambda *args: args
>>> func(l, 2, 3, 4)
(1,2,3,4)
lambda  gmbdiool  299mygbgdom  Fglodargdgeros
65d9gbodg  dmgdggdosbo  3m@ol  ghm  LEGMmogmbs
50965, 354505 :
def f(x, y):
if (y == None):
y=1
return x'y
390d9ds Ho6MIM350a0bmm sligmo Labood:
lambda x, y: x * (y if y is not None else 1)

filter  ®wbJgos  Jdbol  9gw9gdgbBHgdol  Losb,
OH0Iolmgobss 5369300 586bgodL F9005600¢)
36093690mdsL.
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39630bo@Mmm 353500, BoIE FOBOEGH3MS bgds
filter g3mbJ0580 dmEgdwmero 3ommdol dobgwz00:
number_list = range(-5, 5)
less_than_zero = list(filter(lambda x: x < 0, number_list))
print(less_than_zero)
d9w9ga0:
[-5, -4, -3, -2, -1]
reduce() UoboMgderm b dioss Logddo  godmmg-
wadoly @5 9990l  sdMMBgdolmzol. sl dgmderos
095UOMml  I3MmE930  ROTIMMZgdO 96035690
9m0936m {iy30qdobmgzol Logddo. Fsasoms© y30b©s
390M30m35wMmm  dgwo ©0oEb3z9d0LYd F9dasmo  Lool
BsdGogo. gl s9mEebs  Fgodergds  Adofiygl 3030l
399myqgbgdomsg:
product =1
list =1, 2, 3, 4]
for num in list:
product = product * num
print (product)

39©930:
24

2930  IMm3g  ©o0figcgds  3mo reduce()
23bJ300L godmygbgdoo:

>>> from functools import reduce

>>> product = reduce((lambda x, y: x * y), [1, 2, 3, 4])

>>> print (product)
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3525¢0009d0:

1) 1396J300UL 2o9mdobgds Bbgoalibgs sGmdgbEgdom:

>>> def func(a, b, c=2): # c - 56M55(30€9dgO
56Mmdgb@o

returna+ b +c

>>>func(l,2) #a=1,b=2, c =2 (©omdowom)

5

>>>func(1,2,3) #a=1,b=2,c=3

6

>>> func(a=1,b=3) #a=1,b=3,c=2

6

>>>func(a=3, c=6) #a = 3, ¢ = 6, b 5O 5GOL
3obLBE3OMEOo

Traceback (most recent call last):

File "", line 1, in
func(a=3, c=6)
TypeError: func() takes at least 2 arguments (2 given)

2) g9bd3os  0©gdL 33O MomMm©IbmdOL
5699396 90b. args sOHOL 3MME9so :

>>> def func(*args):
return args

>>> func(1, 2, 3, 'abc')

(1, 2, 3, 'abc’)

>>> func()

0
>>> func(1)
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(1,)
3) g9bdgos  00gdL  BgdoLdogMo  BoM©gbmdOL

Lobgarmdom  96Mdgb@l.  kwargs  33wodo  0bsbgds
w9dbozmbo:
>>> def func(**kwargs):

return kwargs

>>> func(a=1, b=2, c=3)
{!a:1,'c:3,'b" 2}
>>> func()
{}
>>> func(a="python')
{'a": 'python'}
4) 30dMbsBoL MOEb3xdOL QSTMMGW.:
>>> def fibb(n):
ifn==0:
return 0
elifn == 1:
return 1
elif n == 2:
return 1
else:
return fibb(n-1) + fibb(n-2)
>>> print(fibb(10))
55
5) B59GHMMH050l godmmaems:
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>>> def factorial(n):
prod =1
for i in range(1, n+1):
prod *=1i
return prod
>>> print(factorial(5))
120
6) lambda g3mbJgos:
>>> (lambda x: x**2)(5)
25
7) Lambda - @ub6Jgos T9godegds dogsboFmo  Moodg
33o©b s J99amd  godm3z09ygbmo  ogo  Bmbjzool
Lobgerob Loboon:
>>> sqrt = lambda x: x™0.5
>>> sqrt(25)
5.0
8) Lambda - gmbJzooom 8godergds sd)dszgl Logdo.
39630bomo map() dspascromo. map() 96305 0L MG
50mAgbBL, 3003900  sM0OL  gmbdisos,  MMIgwos
3990my9gbgdmo 046905 Lool 3oe3gMeEo 9EgdgbEHoLm3OL,
d9mM9 - Boss, HMIGE03 w960 FTo3L:
>>>1=11,2,3,4,5,6,7]
>>> list(map(lambda x: x**3, 1))
[1, 8,27, 64, 125, 216, 343]
9) 9saoomdo  godmygbgdmeros map() o lambda()

1bd30900:
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def square(x):
return (x*2)
def cube(x):
return (x**3)
funcs = [square, cube]
for r in range(5):
value = map(lambda x: x(r), funcs)
print (value)
d9c090: [0, 0] [1, 1] [4, 8] [9, 27] [16, 64]

10)  d399mo  OmEgdmee  dsoomdo  9odegds
399m239949bgoobs 3ogwo,  BogMsd  map()  BMbd300
39309000 LHMOIRs© FMFomdL. BMbJ305 pow 00Ol MG
5996 BHL o390 odmdabgdolsls:

>>> pow(3,5)
243
>>> pow(2,10)
1024
>>> pow(3,11)
177147
>>> pow(4,12)
16777216
>>> list(map(pow, [2, 3, 4], [10, 11, 12]))
[1024, 177147, 16777216]
11) reduce 359mygbgdol dsgoomo:
>>> reduce( (lambda x, y: x/y), [1, 2, 3, 4] )
0.041666666666666664

12) reduce 5960005698l ©589b0dg Loosl:

>>>reduce(list.__add_, [[1, 2, 3], [4, 5], [6, 7, 8]], [])

d9920:[1,2,3,4,5,6,7, 8]
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VI ms30. 3503900

NumPy 6oL Python gbol d0dwomong3s, Gmdgarbss
593L 0O, IM535ebBMmIogdosbo  dslioggdols o
353033900l ABIMIsFIMS, Foowo ©mbol s LfiMoxo
dom905¢03MM0 3964309008 O  B0BOMMY3L6
9O, OMIGoi 359m0yghgds ds1039dbg M3gMs309d0L
3obLObmGME09EgdMs.

NumPy  doGomso  ®mdogd@os  9moma3s0mm3560
96535 56BMm0qdosbo  dsbogo  (numpy-do  gfmgds
numpy.ndarray). gb 6ol ghHmo  GHodolb, B3gMEgdMHo3

(oEb3000,  gwgdgb@gdolasb dgagbowo  AM35Ysb-
bmdowgdosbo dsbogo.

6.1. dsbogols dggabs

NumPy-do s6UgdmdL dsbogol dgddbols  dGsgse00
bgdbo. ghm-ghmo  domEGHoz0 bgMbos  dsbogol  dgddbs
B399 gdm0g30  Logdol b 3OGHIoLaeb numpy.array()
13bJ3ool @sdmygbgdom. array sMolL xw9bJ30s, M™Igeos
J8bol ndarray &o3ol mdogddL:

>>> import numpy as np
>>>a = np.array([1, 2, 3])
>>>a

array([1, 2, 3])

>>> type(a)

<class 'numpy.ndarray'>
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array() wbJgos Jabol Bopdmer  80d)3H™Mdgol
96535¢0356BMI0 90056 Fsb0390d0. Fsbogol gergdgb@gdols

G030 59M30009d)0S Lofyolo 909¢936M™dOL
999963900l GHo3by. mwMdEs 99odegds 00  bgsbns
39b0oLsBE3gOML d9Jdbols dmdgb@do.
>>> b =np.array([[1.5, 2, 3], [4, 5, 6]])
>>>b
array([[ 1.5, 2., 3.],
[4., 5., 6.]])
51939  090dwgds  BHo3o  bgwsbws  49bolsBEzmM™L
994960l dmd9bEdo:
>>> b = nparray([[1.5, 2, 3], [4, 5, 6]],
dtype=np.complex)
>>>b
array([[ 1.5+0.j, 2.0+0.j, 3.0+0.j],
[ 4.0+0.j, 5.0+0.j, 6.0+0.j]])
array() 93mbdgos 96 MOl gOHmoIOmo  dsliogols
d9Lodabgars.  B3gMgdMog,  dsbogol  9w9dgb@gdo
©sLOHYoldo M3bMdos, brerm dslogo, GMIgedos olbobo
mbs  0dbsb  Fgbsbmemo  Mbs  s®LYOMDdEIL.  SFoEH™a
SMLgdMAL ©5dYb0dg Gmbdi30s 0dolomzol, GMmd dgogdbsls
dsbogo 099  Lsfyobo 89950096 mdom  (©Mdoom
dsllogolb BHodos - floatb4).
zeros() xw96J305 Jobol dsliogl BmeEngdoLsh, bemerm
ones() BvbJgos - 9HMYPIOLYSD. MmM03g BMbJ305 TooEgdL
3M0G9HL Bmdom s sMAd9bEL dtype:
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>>> np.zeros((3, 5))
array([[ 0., 0., 0., 0., 0.],
[0, 0, 0., 0, 0.],
[0, 0., 0., 0., 0.]])
>>>np.ones((2, 2, 2))
array([[[ 1., 1.],
[ 1., 1.]],
([1., 1.],
[1., 11D
eye()  g@mbdgos  Jdbol  FoBHGoEsl,  G@Iwol
©053MbsebYg s®OL 1-900.
>>> np.eye(5)
array([[ 1., 0., 0., 0., 0.],
[0, 1., 0., 0., 0.],
[0, 0., 1, 0, 0.],
[0, 0,0, 1, 0],
[0, 0., 0, 0., 11D
empty() ®wxbJgos Jabol dsbogl Fg3Lgdol  oe9dq.
Lofgolo  F9dsqbermds  F9dmbgzgz0m0s @S HIMI0Y-
dMEos  dgblogcmgdol  8Mdocmgmdsbg dsbogol  dgddbols
dmd9b@do.
>>> np.empty((3, 3))
array([[ 6.93920488e-310, 6.93920488e-310, 6.9392014%9e-310],
[ 6.93920058e-310, 6.93920058e-310, 6.93920058e-310],
[6.9392035%e-310, 0.00000000e+000, 6.93920501e-310]])
>>> np.empty((3, 3))
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array([[ 6.93920488e-310,6.93920488e-310,6.93920147e-310],
[ 6.93920149e-310, 6.93920146e-310, 6.93920359e-310],
[6.93920359e-310, 0.00000000e+000, 3.95252517e-322]])
(03Eb30s 8098930MMdoL Fgboddbgers NumPy-do s6ol
arange() ®bd30s, MMIgwog bsermyom®os Python-do
B539690meo range() 13mbdiEools, dsa®sd Logdol bsizers
030 5061670l o030l s 0oL SMBAbMEP M@ dongen
960093690 md90U:

>>> np.arange(10, 30, 5)
array([10, 15, 20, 25])
>>> np.arange(0, 1, 0.1)

array([ 0., 0.1, 0.2, 0.3, 0.4, 0.5, 0.6, 0.7, 0.8, 0.9])

arange() 25dmygqbgdobsls float EHodol sGyMdgb@Egdom,
396  2963L5BE3MOzm M) Mdgbo gargdgb@o doomgds
93m65398d0d0sbo MHoibzgool LOBMLEOL T9bLMMEMdOL
250Mm). sdoGmad sy, Fgdmbggzsdo wmdxmdqlos linspace(),

2bdEool 25dmyqbgds, Mmdgwog doxol bsszws ghm-
9OM0  5MHMIgBGHOL  Lobom TooEgdl Moibgl, Mmdgwos

Lo FoMM 99996GHIO0L MOMIbMOOL BHrMeroo:
>>>np.linspace(0, 2, 9) #9 ®ogbzo 0-s6 2-ob Bsomzwom
array([ 0., 0.25, 0.5, 0.75,1.,1.25,1.5,1.75,2.])

fromfunction() 0g4gbgdl xmbJizoslt 0bgdlgdol yzgws
3™300bs300lm30U:

>>> def f1(i, j):
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return 3 "1+

>>> np.fromfunction(fl, (3, 4))
array([[ 0., 1., 2., 3.],

[3., 4., 5., 6.],

[6., 7., 8., 9.]])
>>> np.fromfunction(fl, (3, 3))
array([[ 0., 1., 2.],

[3., 4., 5.],

[6., 7., 8]])

6.2. 3503900l 09335

0v) 95030 d5E0sb  OOS  EILYdYFo©, NumPy

53GMB5GHMMo Fogogl dsbogol 39bGHMwE bsfowls s
3990543l dbmerm dolo 3Mmbggdo:

>>> print(np.arange(0, 3000, 1))
[ 0 1 2..,29972998 2999]

0¢) LoFoMOMs dmgero FoBogol IBbIHIS, sdMmoygbgm
numpy.set_printoptions gv)bJ;300:

np.set_printoptions(threshold=np.nan)

145



6.3. 3510390 g LEBSBM M39M5309d0

3510390y  F5079853H03M0  M39M530900  LEMEPIOS

BoW399o  9egdgb@ol  dobggzom. dgoddbgds  sboewo
35030, ®MIgroi dgozLgds  M3gMOEGMMOL  dmgddggdol

99009290000:

>>> import numpy as np

>>> a = np.array([20, 30, 40, 50])

>>>b =np.arange(4)

>>>a+b

array([20, 31, 42, 53])

>>>a-b

array([20, 29, 38, 47])

>>>a*b

array([ 0, 30, 80, 150])

>>>a /b #0-Bg 259mxz0obol sdGMbgds inf («LolMEmds)
array([ inf, 30. , 20. , 16.66666667])

<string>:1: RuntimeWarning: divide by zero encountered in
true_divide

>>>a*b

array([ 1, 30, 1600, 125000])

>>> a % b # 0-Bg goymxzobsl 65dmol s¢mgdol O™
506905 0

<string>:1: RuntimeWarning: divide by zero encountered in
remainder

array([0, 0, 0, 2])
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dogoomdo, dbgdMng0s, dslloggdo  Mbs  0gml
9OPbS0MH0 DmAoU:

>>> ¢ =np.array([[1, 2, 3], [4, 5, 6]])
>>>d =np.array([[1, 2], [3, 4], [5, 6]])
>>>c+d
Traceback (most recent call last):

File "<input>", line 1, in <module>
ValueError: operands could not be broadcast together with
shapes (2,3) (3,2)

390dgds  dgbOmaEgll 350935@03M0  M3gMH30900

dsliogLs s MHobgl Imeob:
>>>a+ 1
array([21, 31, 41, 51])
>>>a* 3
array([ 8000, 27000, 64000, 125000])
>>>a <35 # goR0w@36Ms3 390d¢qds dm3z5bEobmm
array([ True, True, False, False], dtype=bool)

NumPy  {o00m@300396L  96535¢0 35009053036
3965305l 35103900l OLETYF539d5:
>>> np.cos(a)
array([ 0.40808206, 0.15425145, -0.66693806, 0.96496603])
>>> np.arctan(a)
array([ 1.52083793, 1.53747533, 1.54580153, 1.55079899])
>>> np.sinh(a)
array([ 2.42582598e+08, 5.34323729e+12, 1.17692633e+17,
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2.59235276e+21])

365350 b0 M39M5(305, MMYMMOEsS Fologol

g39ws  9w9dgbGHol  xsdob  qedmmgzs, oMdmygboos
51939, ndarray 3esbol dgomEgdol bLsboo:

>>>a =np.array([[1, 2, 3], [4, 5, 6]])

>>> np.sum(a)

21

>>> a.sumj()

21

>>> a.min()

1

>>> a.max()

6

©30om, gl Mm39M530900 259Mm0Yygbgds dobogzgdby,
0omdml 00 0gml  OHogbzqgool Los, dobo  BMmEOIoLYSH
©3MY309dWsE.  axis 35699 BHMoLb  B000mMHOOM
990dgds  259m0Yygbmom ™m39Mo3Eos dslogzol 30M0mMYdXYO
©9M3Igdolmzgol:
>>> a.min(axis=0) # «930M9Lo MoEbgzo 3939w Lgg@do
array([1, 2, 3])
>>> a.min(axis=1) #2993069L0 GoEb30 (39039 bGModmbdo
array([1, 4])
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6.4. 0609dLgd0, 30900, 0FgMSE0gd0

9OEBMI0gd0s6 ob03z9ddo 0bgdlocgds, FMgdo
@S 0396530900 ALasgbos Logdolb s Python-ob ULbgs
9090936M™d9d0L.
>>>a = np.arange(10) ** 3
>>>a
array([ 0, 1, 8, 27, 64,125, 216, 343,512, 729))
>>>a[1]
1
>>> a[3:7]
array([ 27, 64, 125, 216))
>>>a[3:7] =8
>>>a
array([ 0, 1, 8, 8, 8, 8, 8,343,512,729))
>>> af:-1]
array([729,512,343, 8, 8, 8, 8, 8, 1, 0]
>>> del a[4:6]
Traceback (most recent call last):
File "<input>", line 1, in <module>
ValueError: cannot delete array elements
>>>foriin a:
print(i ** (1/3))

39g30:

0.0

1.0

2.0
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2.0
2.0
2.0
2.0
7.0
8.0
9.0
3653505600056 obogzdo o 3gMe MgMdby
dm©ob gmmo 0bgdbo. 0bwgdugdo osg3gds ddodggdocm
3990gmi3000 HOEH3mS 03Y3OIMdOL Losboo:
>>> b =np.array([[ 0,1, 2, 3],
[10, 11, 12, 13],
[20, 21, 22, 23],
[30, 31, 32, 33],
[40, 41, 42, 43]])
>>>b[2,3] # dgmég bEGGodmbo, dgLsdg bggdo
23
>>> b[(2,3)]
23
>>> b[2][3] # dg0dgds sbgis
23
>>> b[:,2] # dgbsdg bggBo
array([ 2, 12, 22, 32, 42])
>>> b[:2] # 306H39w0-9mMg LGMHodmbo
array([[ 0, 1, 2, 3],
[10, 11, 12, 13]])
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>>>b[1:3,:: ] # dgmc9g 5 dgbsdg LEGH®OJmbgdo
array([[10, 11, 12, 13],
[20, 21, 22, 23]])

MOmEabsg 0bwgdugdo  Bogwrgdos, 3069 ©gMI9GdO,
39033900 0bgdugdo  gom3zswoljobgdmer  0dbgds
FM900L obdotgdom:

>>> b[-1] # dmem LEG®oJmbo. 9d3035¢9bEmeos bl-1,:]

array([40, 41, 42, 43])

bli] - obg foozombgds bli, <odpgbo Loddmeom
6odgbog 9M0L  LoFoMm>]. NumPy -8o gl dgodgngds
Bo0fgmmb oM EHowgdol sbdsdgdom: bli, ...].

353909, M) X 5J3L Gbao 5 (56w ol odglb 5
©96Mdo), 35906 :

x[1, 2, ...] 9943035 9bGmeos x[1, 2, 3, 3, 1],
X[... , 3] 030399, ®53 X[:, 1, 5, 5, 3] 9
x[4, ..., 5,:] gb o®obL x[4,:,:,5,:].
>>> a = np.array(([[0, 1, 2], [10, 12, 13]], [[100, 101, 102], [110,
112, 113]]))
>>> a.shape
(2,2,3)
>>>a[l, ...] #0039, Msgall,:,:]sba[l]
array([[100, 101, 102],

[110, 112, 113]])
>>>cl...,2] # 030399, ®sgal:, :,2]
array([[ 2, 13],

(102, 113]])
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961535¢056DMmI0gd0sb0 Fsllogol 0@gMHomgds 0fjygds
306390 09MHJoEb:
>>> for row in a:
print(row)
d9g30:
[0 12]
[10 12 13]]
[[100 101 102]
(110112 113]]
oY)  LsFodOms  dogero  dsbogol (GO 3G
9099963905 39MBg3s, oMMl 030 0gml  gMoYsb-
Bmdowgd0sb0, 530Lsm30L Fgodergds 4s9mygbgdmen 0dbsls
flat s&®0odm@Eo:
>>> for el in a.flat:
print(el)
d9gp0:
0
1
2
10
12
13
100
101
102
110
112
113
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6.5. 3sog30L IOl Fg33es

dsbogl 9943l @mE®Ts,  OHMIgEoE  FIboLLBEIMGOS
3939990 9MHAoL L3003 §ergdgbEgdol MHoibgzoom:

>>>a
array([[[ 0, 1, 2],
[10, 12, 13]],

[[100, 101, 102],
[110, 112, 113]]])
>>> a.shape
(2,2,3)
dsbogol m®ds Fg0dErgds Fgo3oeml  bgsalibgs
06 ds69d0l obdsMgdom:
>>> a.ravel() # dobogl 4oMddbols dOEHYWws©
array([ 0, 1, 2, 10, 12, 13,100, 101, 102, 110, 112, 113])
>>> a.shape = (6, 2) # gm®dob 9933w
>>>a
array([[ 0, 1],
[ 2, 10],
[ 12, 13],
[100, 101],
[102, 110],
[112, 113]])
>>> a.transpose() # GMoBL3MBOMYdS
array([[ 0, 2, 12,100, 102, 112],
[ 1, 10, 13,101, 110, 113]])
>>> a.reshape((3, 4)) # gm®dob 9933w
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array([[ 0, 1, 2, 10],
[ 12, 13,100, 101],
[102, 110, 112, 113]])
ravel() gmbdio0ol 99gyo gergdgbBHadol Qobnogqds
099L0058905  B3gmMqgdmog C gbol LEGHoEL b MxGM
Y680 033wgds Jo6x396s 0bgduo - a[0,0] gwqdgbEol
9dm0d93bm s6ob  a[0,1]. ravel() o reshape() xbd309dL
399790w0sm,  ©FBHJPOMO  56MTgbGHOL  godmygbgdoo,
00xdsmb FORTRAN  ULHowdo, 6mdgmdog  LHOsx3s0
3903330905 MBOM B Ebgbs 0bgduo.
>>>a
array([[ 0, 1],
[ 2, 10],
[ 12, 13],
[100, 101],
(102, 110],
[112, 113]])
>>> a.reshape((3, 4), order="F")
array([[ 0,100, 1,101],
[ 2,102, 10, 110],
[ 12,112, 13, 113]])
reshape() 99gnMmEO  50MHV6IOL  O30L  MRMIIBBHL
3933000 gmMIom, 08 O™ MHMEILs3 resize() dgom©O
3933300l ™300 dsbogl:
>>> a.resize((2, 6))

>>>a
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array([[ 0, 1, 2, 10, 12, 13],
(100, 101, 102, 110, 112, 113]])
390050gmdol Mm39MH5300LsL M) 9OHM-9HDO SOHAbEGH0
dm390mos -1, 35806 00 93@MISGHMMO© FoTMOMNZGOS
3b656MRgbo dmEgderols Ggladsdoloo:
>>> a.reshape((3, -1))
array([[ 0, 1, 2, 10],
[ 12, 13,100, 101],
(102, 110, 112, 113]])

6.6. 35103900L 25960035690

599b0dg dslbogo Fgodargds 4590056l hstack o
vstack 399630900l go8mygbgdoom.
hstack() 59H®056gdL  Tobloggdl  30M39e0  ©gMIol
dobgz0m, beagnem vstack() - dmerm 0gHdol dobggzoom:
>>>a =np.array([[1, 2], [3, 4]])
>>> b = np.array([[5, 6], [7, 8]])
>>> np.vstack((a, b))
array([[1, 2],
3, 4],
[5, 6],
[7, 8]])
>>> np.hstack((a, b))
array([[1, 2, 5, 6],
(3,4,7,8]])
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column_stack() ©996J305 99005690l  gOHNY6BMI0-
g0056  F5bogl  MMYbBMmTogdosbo  dsbogol  gg@Hgdols
Loboon:
>>> np.column_stack((a, b))
array([[1, 2, 5, 6],
[3,4,7,8]])
5b65¢Ma0Ms©, LBEBHMOJMbgdolmzol 6oL row_stack()
B0bJ30o:
>>> np.row_stack((a, b))
array([[1, 2],
[3, 4]
[5, 6],
[7,8]])

b

6.7. 35L030L gobergB3zs

hsplit() @250mygbgdom Fgodewgds gooberobmls dsbogo
3mOH0DMbE MO0 ©0gMHAoL goliizem0g. Mbos dogmommlb mvy
Godgbo  gombsoMo  dsbogo  Asdmz0IL b6 MMIgen
139¢390b7 o0bobMU:
>>> a = np.arange(12).reshape((2, 6))
>>>a
array([[ 0, 1, 2, 3, 4, 5],
[6, 7, 8, 9,10, 11]])
>>> np.hsplit(a, 3) # goobeoBml 3 bsfos
[array(([0, 1], [6, 7]]),
array([[2, 3], [8, 9]]),
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array([[ 4, 5], [10, 11]])]

>>> np.hsplit(a, (3, 4)) # a 303Gk dgbsdy s> dgmaby
#139Gob 8939y

[array([[0, 1, 2], [6, 7, 8]]),

array([[3], [9]])
array([[ 4, 5], [10, 11]])]

vsplit() 396300  obargbl  Asbogl  39MEH03 OO
©9OAoL AsLH3M0gZ, boenm array_split() Lodwgorgdsly 0derg3s
80900mMb ©9MH3A700, LosE b FMmbgl dobgBas.

6.8. sbegdo s PoMImagbgdo

ds1039dmsb  FMFomdOl  OML  Fomo  AMbs39dgd0
Dexge  LsFoOMs  goo3m3omgl  Lbgs  dslogdo.
d9L5dgd9w0s 3 99dmnbgg3s:
MOMSEm J0b0Fgds 56 JABoL 963 Bsliogol SLEL o S63
dolo dmbszgdgdol SLenU:
>>>a = np.arange(12)
>>>b=a # 5bogro mdogdBHo 56 dgddbocms
>>>b is a  #a s b m®o Lobgos 9gHMO0EL00ds39 ndarray
#mdogJ@obmgzol
True
>>> b.shape = (3,4) # a gm®dol ;33w
>>> a.shape

(3, 4)
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Python gosbiggdl 339egds@ ™d0gdBHoL, MHmamM;
0399 90L, 5d0EMI BMbJ300L 25dMmdobgds 56 Jdbols sligwgdls.
dslboggdol  Lbgoolbgs  Mmd09dBHgdl  Fgwderosm
3°900Ygbmb 9Mm0s0a03g dmbs3gdgdo.  view() dgomoo
dadbols  dslogol  sboer  Md0gJBL, MMIgEroE SOl 00539
9mbs399900L Homdmaqbo:
>>> ¢ = a.view()
>>>cisa
False
>>>c.base is a #c 0mbsggdoms oMdmeaqbss, GMmIgeros
#930360L a-b
True
>>> c.flags.owndata
False
>>>
>>> c.shape = (2,6) # gm®3s a o6 9033¢90s
>>> a.shape
(3, 4)
>>> c[0,4] = 1234 # a dmbs3gdgdo 99oE3wgds
>>>a
array([[ 0,1, 2, 3],
[1234,5, 6, 7],
[8,9,10, 11]])

dslbogol FMs 5M0oL Ho®dmeggbs:
>>>s=a[:;1:3]
>>>s[:] =10
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>>>a
array([[ O, 10, 10, 3],
(1234, 10, 10, 7],
[ 8,10, 10, 11]])
copy() 9gomo Jdbols dsbogol s dolo dmbsgdgdols
Bsdg0 sligmls:
>>>d = a.copy() # 390496905 oLOZ0L sbsero MdOYJEHO
#5boewo dmboigdgdom
>>>disa
False
>>>d.baseisa #d -U 965 533b LogOom a-Lsb
False
>>> d[0, 0] =9999
>>>a
array([[ 0, 10, 10, 3],
(1234, 10, 10, 7],
[ 8,10, 10, 11]])
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VII 530. 359mbs3emoligdol sdw)dsggds

Python 9bs%g @i36MHmyMs9980L ©@OML  Fgodegds
50300 3Jmbgll mGo GHodol Fg3madsl. 3060390 sGOol
Lob@odummo Tggmds - syntax error. 00 2o9mBbYdS
36MyM5doL 3oL IHgMHOLLL gbols LobEsdbol WsML3930L
0900929. 390 F930M3700L sOLYGOMBOLSL 3OHMYEMSTS 56
3330006 Yds.

39mM9 Godol Fg3mds sMoL g gdols d9zmds
(runtime error). 030 250mBbYds 339 3MI30WOMHYOM
3G6535do dobo g Egdol EOMUL. sLgomo JgE3EMago0
0fim©93056 259mMbs3w0olgds@. Fogsmoms, Hobs mgdgddo
39630bowgm MoEbzol gocsddbs LEGHMmogmbo:

string = "5"
number = int(string)
print(number)

dm399dMwo 3mo FoMmdsGHgdom  3md30oMmEYds O
99LEOMWEYds, ModEgbssg  LEHModmbo "5"  Fgodergds
3Mb639MGH0M©IL HoEbgs©. gobgzobomo bgs dsgowomo:

string = "hello"
number = int(string)
print(number)

50b0dbmeo  3mol  Jgle)engdolsl  asdmBBgds
390mbs3eolo ValueError, ®599bss hello bLdModmbo o6
090dgds  29Mm0gdbsll  Gogbgs. gdomol  dbMog o,
3b505, OMI Mogbgzgo 96 [oMIMoIbl MoiEbgl, doasd
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090dgds  Loddg a43Jmbgl ImabsMYdoL  T9Eobsliosb,
MmIgeds3 0903¢gds 0L 56 Fgo@obmls, MLy 39erMm©gdo:
string = input("d90sbgo MHoibgo: ")
number = int(string)
print(number)
3900b53eolol  50d3OOLSL  3OMYMHToL  Fdomds
090905, 930Lgob 030l oLOFIZ9® @S  FodMbs3Erolols
B3N 5390es Python-do s6ob try...except 3mbLE®¥Yd-
3095, ®MIgebss 993L 990930 BMOASWOO 2obLsbBLIM.:
try:
0bLGHMMJ30900
except [$030_350mbs3wolgdo]:
0bLGHMMJ30gd0
8090 d0MHOMIPO 3O, OMIgedos 3m@gb3zoMo©
390d9ds  500d3M0L  2odmbozeolio, obmogbgds  try
3oLOYdMEO Lodyzol 390gy. ™ 98 3mdo 4969M0M©IdS
399mb53¢0olo, 35906 3mol dmTomds try 3mdo d9hyqds
Q5 d9LMHYIEgdS Q5IOL except derm3do.
except  2oLo0gdMHO  LoGyzolb F9dgy  F9odegds
909mommlb  MMIgwo  45dmbszmobo  Mbs  ©sdw)dsgzgl
(0sgoomoq,ValueError o KeyError). except ULo@yzol
399099 LE®OJMbby of969ds except dEom3ol
0bLEGHMMJ30900, OMIWIdoE  LOMWEGds  25dmbs3woliols
Dom3ndz900L50.
39630bo@mm go8mbs3wolol ©sdds3gds LGmodmbols
(03EH35© FoMsddbols Jo o0 BY:
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try:
number = int(input("dgo@obgo Moibgo: "))
print("89sbowwo Gogbgo:", number)
except:
print("go6Mogdb653 Bs05MS FormBs@gdeo©")
print("360530L EILEOWEGdS)

3923593L LS®ogmbo:

3903569 Moibgo: hello

396M05d3658 P06 Fo6r1mBo@9des©

3G06590L ILBOEYdS

OMamO3 3Ly 499mEHIB0Ib BIbL, LEmoJmbols

3903560l Mobgol  498m@GHobs  3mblmebg 96 dmbgds,

berenm 36:0maModol GgLMegds 49Ol except denm3byY.

3930396mm Lim®mo Moibgo:

3903 9bgo Mobgo: 22

d9@sboo Goibgos: 22

3G06530L ILBOEYdS

gbws  g39wexngMo  bmMIswrmee gL,

3990b53¢0l0 56 500d3M> s TgLsdsdobo except dBEOMZO 56
5099953009.

dogoomdo  399d53090MES  GOHDNEOOMNIENSQ  Y3IJLS

399Mb53¢0olo, HMIgEoE d90degds 500d3zMmol 3m@do. hg9b
3923000005 ©5353MbB3MgBHM™ LI MTo390g0  ASTMbs3-
obol 030, HMIgEoi Mbos dogmommb  except Lo@yzol
990y

try:
number = int(input("dgo@sbgo Moibgo: "))

162



print("89¢sbowo Gogbgzo:", number)
except ValueError:
print("go®Msddb653 B05MS FormBsBgdeo©")
print("36MH™y©530L LEOWEGdS")
099 LOG¥SE0S 0LYMOs, MMI JOMYMSs30 TJodEGdS

53969600091 Bb3s@OLb3s G030l  Asdmbszeolio, dsdob
393300005 0B0bO 358 Fo3MM (35¢-(35¢39 TSEHIOOMO
except 459mbobwgdol 459mygbgdood:
try:
numberl=int(input("89o@&sbgom 30639w0 Gogbgo: "))
number2=int(input("dgo@sbgom dgmeg Goisbgo: "))
print("gogmaol 9gwgyo:", numberl/number2)
except ValueError:
print("go6sgdb653 B505MS FormBoBgdeo©")
except ZeroDivisionError:
print("®obgol by ao9ma3ol d309wmds")
except Exception:
print("bmgoo 259mbs3wolio”)
print("3M05308 ELEOWE9ds")
0¢) §5603M003905 25dmbszolio LEGMoJmbol GoEbgzs
39M5gddbol  99gao, 95306 030 @FMTs390s except
ValueError d¢om3ol doge. o) 3gmMg Gogbzo Gmeo 0dbgds
Bmeools, 96 0dbgds BBy Aogmes, dsdob  s©0dzcmads
ZeroDivisionError 959mbsjemolbo s 00  ©5885300905
except ZeroDivisionError d¢nm3zol dog6.
Exception ¢030 §o63mo@a9bL Loghom 459mbs3zeoll,

Omdgedog 9mbzgds g3zgws  499mbszeolo  Lodvysgos.
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5do@md sbgom Jgdmbggzsdo  bgdoLdogmo  sdmbszwobo,
OMIgog 56O FoMImoyqbl ValueError s6 ZeroDivisionError
G038, 539935309ds except Exception dgnom3do.
3900b53e0olgdol ©sdw)ds3900Lsls Fgodegds dodmynbg-
O 0gbsl  9M0sm30gdgero  dewmzo - finally. dolo
3ob3slbg3909o  30L939Mds  9GOL,  HMI 030
bLEMWOGds  0dobsd  98MM30IOOIE oYM M) 9GO
39696006900 g58mbszwolo:
try:
number = int(input("99o@sbgo Moibgo: "))
print("89¢sbowwo Gogbgo:", number)
except ValueError:
print("®oEbgol 206 sddbs 56 dmbgdbs")
finally:
print("try d¢gom3ds @oslitrmes 996w gds”)
print("360530L ILE™EGdS")
as M396M53HMMoL  ©sbTsMgdom T9a30dwos  AsdMbs3-
obol dqlobgd 9o 0bBMMTs(300 29WIZEIM (33O,
GdgoE 990dwgds 25dm3z094gbmo except derm3do:
try:
number = int(input("dgo@sbgo Moibgo: "))
print("89¢sbowwo Gogbgo:", number)
except ValueError as e:
print("89¢)9gmd0bgds godmbszwoliols dglobgd”, e)
print("3M05308 ELEGWMEgds")

56536094 Ge0 J9Eobols Fogoeomo:
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390396900 Moibgo: fdsf
39¢)9md0bgds 45dmbs3zerolol dqlobqgd invalid literal for
int() with base 10: 'fdsf
36HMyM53oL ILEOVIGdS
DX IO LoFoMms bgeoom ©igbgmocmEal gm0l
3990b530l0. 580BsmM30L 49dM0Ygbgds raise M3gOHIGHMOO:
try:
numberl=int(input("dgo@sbgom 30639wo Gosbgzo:"))
number?2 = int(input("dgo@sbgom dgmeg Goisbgo: "))
if number2 == 0:
raise Exception("9gm&g Gogbgo o6 965 oymb 0")
print("mMo Gosbzol aogmgol 999y0:",
numberl/number?)
except ValueError:
print("89¢5b00s 50530940 dmbo399990")
except Exception as e:
print(e)
print("3G:0530L ELEOWE9ds")
390Mb53eolol  99mdobgdolsls  dgagodewos Aol
399339  99BHYmdobgds, ®mIgwoi 890y  990dwgds
3990960 04658 dmdbTsMgderolbmgzol:
390356900 306390 MHogbgo: 1
39035690 dgmeg Goibgo: 0
dgmMg MHobzo 56 Mbos ogml 0
3M65d0L ILBOEGdS
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VIII 7530. @s0¢ngdo
8.1. gsogols 3sblibs s obwMgs

Python 9gbsl o3l Lbgoobbgs GHodob  g3o0gdmsb
dmdomdol  Igbodegdmdy,  FogMsd  3oMHmdoms©  gb
903500900 90dgds I39M® MM Lobgmds: BHaduEGMOo s
d0bosrmo.  BH9JuEHMO0s  BSOEGdO cvs, txt, html
3OBIOMMYO0m, BMYd©s© bgdobdogmo Goowo, MMIgEos
0b65bogll  0bxzm®To30sL  BHJuGdo  Losbom.  dobstrmwo
93500 g005:  25TMUBsbMENgds, 99POM, Z0WIMBOI0WIOO0 S
Lbgs. 8500l 3Ho3dob dobgz00m Fslmsb ddsmds Tgodergds
0ymb goblbgeggdmwo.

390 gdmMb  3Mdomdol  @OML  Mbs  I30(335M
M396530900L HBMQ0gM0 J00Y3OHMB.:

1. gsool 4oblbs open() dgomol 4sdmygbgdom;

2. gooeol  ffogoombgs read() 9gom©oL  EobToMmgdom 6
BofgMs gooedo write() 390m©OoL Lsd s gdom;

3. 53500l sbM3s close() Igomoom.

B350 mob 3domdol sLHYJd9, 030 MbEs Fooblbols
open() 3bd300L IbTsMGO0m, MHMAEOL LobEoduos:

open(file, mode)

1bdEool 306390 3565890 [otmBmoygbl 4bols
9390539. gb qBs Fgodegds ogml BBMEYEHMGO b
ofly9dmgls ol zol 5036033690 LoddMEMMO,
doowomoq:  C://somedir/somefile.txt.  dgodegds  oymb
©0L30L F0M0MGIOL go6r1gTg BogoWOMO:
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somedir/somefile.txt - slgo dgdmbggzsdo gsowol dgdbs
3obbm®mEogrqds  Python-ob 9983900 L3M03EH0L
356m53Lgd0l dobgz00m.

d9mMg  2ooLs3gdo  sORMIgbGHO - mode ©599bgdL
9350000 goblbol  Mg70dl  0dol dobggzom, vy Mol
3939909050 35306090m. 5GIGIMOL 4 BMA>O M19s0d0:

r (Read) - @sowo o0blbgds Fologombo®. mvy gsowo
Bsdmgbo o0 oML,  g9bgMoMmgds  godmbszwrolio
FileNotFoundError;

w (Write) - 3500 2o0blbgds BoLofigMs. ™) BooEro oM
560b, 85306 00 8904369ds. v ALo3L0 Fooo 339 SGOU,
05306 090 9bwoEsb 90ddbgds s glodsdolo dzgwo
dmbs3999d0 dsl8o (oodengds.

a (Append) - 33000 2o0bLBYds BoLETIEJIWS. 1Y) FOOWO
56 56OL, 95dob ogo 8904dbgds, bmerm vy s®olL dsdob
9mbs399990 Bo0fig69ds 53s0ol dmenmdo.

b (Binary) - 953009496905 3065600 gsoeol d9bsgdbgwso.
39900949bgds b3 9s0090msb ghmo - w b r.

R50@mMob  3MFomdol  ILEOIEgdOl  F98gy 0O
SMEOWYIWs© by sobmeml  close()  dgomoom.
dm3gdo  3goMmEO  3O0mOZ30LMRGIL B0 ™Mb
535300090 Y39s 333mygbgdrye OILYOLL.

35250mM, o3bLbsm GgduB Mo gsoo: hello.txt

myfile = open("hello.txt", "w")

myfile.close()
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9350000 4oblboLOL o6 Aslsb  FMFsmdol  EOMUL
d900dqgds Dogofygom Lbbgoalbgos 259mbs3eoll,
35290mo©, LMD 96O 9oL fiIgomds o 5.0. o3
d9dobgg3sdo  36MMyMsds 046905 3o, bmerem  dobo
d9LEOMEds 56 05093l close  IgNMEOL 2odmMdobgdsd©Y
Q5 d9L50530LSE TFIOWO 56 HOHLYMHYDS.

50 d9dombggzsdo 39230005 ©5350853Mm»
390mbs3eoligdo:

try:

somefile = open("hello.txt", "w") #yo0blbs gsowo
BabofgMoo
try:
somefile.write("hello world")#Bsofjg6Ms ggsodo
except Exception as e:
print(e)
finally:
somefile.close() #Q50bM5 g3sowo
except Exception as ex:
print(ex)

50 9gdmbggzsdo  @oomsb  dmgwo  3domds
Bodgbgdme»  try  d¢rm3do. 0y 500d3Mgds  ©s0dg
390mbs3eolo, 85306  bgdoldoge  dgdmbgzgizsdo  finally
0330 BSOEO IOLLIMHGDS.

5oL RO dbgMbadEo 30bLEHOY30s:

with open(file, mode) as file_obj:

0bLGHOJ30900
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9L 3MBLEGHOY 300 2496LsBE3ME3L 3oblboero
5390eobmgzob file_obj 33eoL @ MY gdL 0bLEM™MJ300L
653690L. B0 g gdol 89009y BOOWO 53EMISGHYIMSQ
0bMgds. 04599, M99 0bLEMWJ300L FglGEgdolsl with
0erm3do  50dzMgds Mo0dg  2odmbszerolo,  Bsowo
©H0bHYMHYds.

fobs  dspaomomo, Fgodewgds  2593hgMmom 899 9y-
Bso®oo:

with open("hello.txt", "w") as somefile:

somefile.write("hello world")

8.2. 39duHMO Bs0mgdo

AIuAHMO0  Boowolb  BobofigMo  goblbobmgol,
LoFo®mms  godmyggbgdmer  odbsl W Gggodo. 89009y
Bofgm0olm3ol 259m0ygbgds write(str) dgomo, GMmdgerdos
3900593995 BsLofgmo  LEHModmbo. Mbs 9obodbml, M™mA
B50{9M90s Lobgurmde, LGModmbo. mv LoFoMHms GMogbgzol
56 bbgs G030l dmboigdgdol BsfigMs, LsFomms foboslifs® dsmo
3Mb639MGH0M905 LEBHMOJMb. F3PgMHM™ M09 0bBMOTo3E0s
hello.txt gsogdo.

with open("hello.txt", "w") as file:

file.write("hello world")

0v) 293bLlbom  Lodomoergl, ®mdgerdos 0dYymeqds
Python-ob 30006569 13M0330, 35d0b 0g 365bs3m hello.txt
70, v 93065 5©0b0dbMEo gsowo dgoddbsl Lbgs
doLodsmmnbg, 95806 Mbs dogmommli gl dolsdsGomo.
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35O, 03039 @oowo  d93Jdbod d  olzby,
Mobm30Ls3 25dM30Ygbmom 3mo:
with open("d:\hello.txt", "w") as file:
file.write("hello world")

d94dboero  gsogro  Jgodegds  as0blbsl  bgdoldoge
A9FAHMIO HgodGH™OTo s LOH30¢oLEdgde Fgo3owmU
dolo 899590 mds.

5359530 B0l 3093 9o LGGmodmbo:

with open("d:\hello.txt", "a") as file:

file.write("\ngood bye, world")

5353905 bgds 500l dmerm Loddmerml d909y.
sdodmd  ov) 33065 BHoJuGo  ©@I39T5BHMme  sbowro
bEAHOOJMb0oIB,  ILLTsBHIOgo  BgduBHolb  Hob  mbgoo
399m3094gbmon "\n" LoddMem. xsddo hello.txt gsowls 9690
399990 dobssMlo:

| file Edit Format View Help

hello world
good bye, world

asodo  Bsfgmol 3093  ghomo  bg@bos  print()
bEAHBPIOGHMo  FgomEo,  OMIgwos  odmoygbgds
9mb5399900L godmbo@obs 3MbLmwby:
with open("d:\hello.txt", "a") as hello_file:
print("\nHello, world", file=hello_file)
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print 9g;mm©do dgmeg 35653930l Lobom 50093995
B50@0ol  Lubgwgds file 356539GM0m, bmem 3oMzgwo
356539360 5M0oL Bsodo RslsfigMo LEG®odmbo.

8.3. 5350¢mols f5300b3s

R50¢0lL ologombo 00 4o0blbgds r (Read) Ggg0ddo
@5 09909y 99gbodegdgeo 0dbgds dobo d9359bmdol
Do30mbgs Lbgoolibgs dgommoo:
— readline(): 35006 30BN MOL 9O LEBHOOJMbU;
— read(): 3000b9YMBL Bs0EOL Jger  F9doYIBELMBSL

96 bLEGH®oJmbo;
— readlines(): 30mb@dL  gsowol  g3zges  LGHMOJmbL
Losdo.

35250ms, §93030mbmm Bgdmom BRsfigMowo gsowo

LEHOOJMb-LEBHMOJMb:
with open("d:\hello.txt", "r") as file:
for line in file:
print(line, end="")

dobgegz50 0dols, MmA readline() dgom©L 3bsws©
5O 30949690 39390 LEGHMOJMbol  Holsgombao,
03500l 399MBg30LsL gl FgoMO  53GMISGHYIMS©
39900dsbgds 35390 sbowo BE®OJmbol dolowgds.
5do3md 303¢do bgwoom sHBOMO 96 59J3L readline dgormeol
399mdsbgdsl.  Moobs3  LEMOJmbgdo  godmoymes  "\n*
LEAHOOJMEYBY  @oolgerol  LoddMmEmmo,  dmdEY36m
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LEAHO0JMEYBY bgIgBHO  2oOGBOL  FeTMBIMOEbo  print
03B930980 25099390 end="" 3609369 Md>s.
390mg30dobmm  3boo  Loboom  readline() dgormeo
393910 BEBMmOoJmbob foliszomba:
with open("d:\hello.txt", "r") as file:
strl = file.readline()
print(strl, end="")
str2 = file.readline()
print(str2)
39900@sbl d9gaL:
== RESTART: C:/Usersz/Guliko/LppData/Local/Frograms/]

hello world
good bye, world
readline 9gmMmEOL  459mygbgds Tgodergds  FsoErols
LEHOoJmbgdo folisgombs while 303¢0do:
with open("d:\hello.txt", "r") as file:
line = file.readline()
while line:
print(line, end="")
line = file.readline()
0] B0 56O 5HOL OO, 030 Fgodegds 9MHM0bs©
0965L fozombyemo read() Igommols odmygbgdood:
with open("d:\hello.txt", "r") as file:
content = file.read()

print(content)
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51939 399m30ygbmo readlines() dgomo domerosbo
3350¢00b ol gombo LEGModmbgdols Lools Lsboo:
with open("d:\hello.txt", "r") as file:
contents = file.readlines()
str]l = contents[0]
str2 = contents[1]
print(strl, end="")
print(str2)
1s0ol  §s300bg0olsll  dgodengds  Hogzsfywogm  0d
36OHMdEgIol, O™ Jolo 300E0MGdS 56 gdmbggmeqls ASCII-b.
50  Jgdombggzsdo  B3zgb  @gbso  Losboo  dga30deros
03O Mm 3M0MGdS encoding 3565393 M0b
©HAsMH9d00:
filename = " d:\hello.txt"
with open(filename, encoding="utf8") as file:
text = file.read()
09350906mm oty bmdob  L3Mo3GHo, MMIgEoa
dmdbdotmgderol  doge  dgBoboe  LBEGHMOJMbgdl  Bfgedl
1350do, 89909y dMbgds B0l  FobssMLolL fszombgs
@5 936056%9 00mFobo:
# 53500l Lobgaro
FILENAME = "d:\messages.txt"
# 24963L5BOZ3OM” (350090 Lo
messages = list()
foriin range(4):

message = input("390@&s69m LG®odmbo"+str(i+1) + ": ")
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messages.append(message + "\n")

# Loob BsHges gsoedo

with open(FILENAME, "a") as file:
for message in messages:
file.write(message)

# (o300b35 535006
print("{s300bwmwo 9@ ymdobgds”)
with open(FILENAME, "r") as file:

for message in file:
print(message, end="")

d0009ds 99090:

== RESTARRT: C:/Users/Guliko/LppData/Local/l
ApoEebye LEMAodmbe 1: Sandro
ByoGebye LEModmbo 2: Lomjaria
ByoGebye LEModmbo 3: Anna
FyoGebye LEModnbo 4: Karden
Bozoocbeymo BpEgrdobpbs

Sandro

Lomjaria

Anna

Karden

i

8.4. CSV gsogdo

P00 BMMB53HJO0Ib  ghm-ghmo  493MEgEg-

005 csv @mMId@GHo, MHmIgeog 0bsbogl 0bgm®dsiEosls
dmbgMbgdmeo bsbom. csv gsowdo 3o3gmeo bGMmodmbo
Dot0mogbL 3939 Bsbsfgdl 96 LEGH®oJmbl, MHmIgeros

090905 330399000 odMYMBOEO (35390 13gEHOLRD.
530Mds3 3§300 Bm®AsGl Comma Separated Values. o0
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0bsg csv gmms@Go gl sMHob  FHgdumo  Bsowgdols
13m®do¢o, Python Lsdmdoml 4oLsdo®EH039dwe@ MBEHWE-
390gmxal  csv  b3ggoswydo  Bsdgbgdemo  dmmeols
399my9bgdsls.
39630bowMmm ImEweols 39dsmds JooeomBY:
import csv
FILENAME = "users.csv"
users = |
["Tom", 28],
["Alice", 23],
["Bob", 34]
]
with open(FILENAME, "w", newline="") as file:
writer = csv.writer(file)
writer.writerows(users)
with open(FILENAME, "a", newline="") as file:
user = ["Sam", 31]
writer = csv.writer(file)
writer.writerow(user)
xs0do  Bsofjgmgds  mMQobbmBowgdosbo  Los -
39dBHMOM03500  3bOowo, Loog EowzgMo  LGModmbo
Po60moygbl  9ghm  BmIbsGmgdgel. bmwm 3o 3geo
dmdbdocmgdgo dgoEegl mem 39l - Lobgwo s dsBs30.
1399BHMOM0350 3OO Fga9ds Lado LEBHMOJMbobS s MmO
13930LS6.
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13500l BsLofgMo  oblbolsls dglsdg  3o6sdg@®ols
Lobom dogmomgds newline="" 960d3bgeomds - goGogwo
LEAHOOJMbo LT GdIL 03 B0  3MMgIEHMEs©
0465b Ho300bmwo LEGHMOJMmbgdo Mm3gMs30Mwo Lolidgdolysb
©50M:7)30QIBWSQ.

Bofgmolomgol B39b a30bs dogommo writer mdogd@o,
OMIgoE odMMbgds csv.writer(file) ggbdiool doge. s
RbdEosl 399399  goblbowo  gsoo. bmwm  mzom
Bofgms  bagdo writer.writerows(users) 9go®m©om. gL
dgoom©o  3000gdl  LAH®OJMbdol  BozMgdl.  B3z9gbL
9990bg3935d0 gL 5G0L MOYIEBMTogdosbo Los.

0¥) 15F0OMs 9OHMO BsbsFIOOL oGS, MMBgEos
Do0mogbl  9mPbBMB0Egd0s6  Losk,  Bsgseoms,
["Sam", 31], 35006 53 99dnb3z935d0 Jg0dEgds 459mdabgdmen
0g65b writer.writerow(user) 8900Mqo.

LodMEMME, B3OM03GHOL TGO gdol 9999y 03539
bogowowgdo s0dmPbgds users.csv gs0w0, GMmIGerbss
996905 8980090 899509bermds:

Tom,28
Alice,23
Bob,34
Sam,31

1350036 {ozombzolmzgol 3oMmojom ©sa330M©IdS

093Jdbso reader mdogd@o:

import csv
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FILENAME = "users.csv"

with open(FILENAME, "r", newline="") as file:
reader = csv.reader(file)
for row in reader:

print(row[0], " - ", row[1])

reader ®d09JAHoL Fogdolsl  Fgaz30deos  303wdo
3900535MBoMmm dolo yzgws LEGG®ogmbo:
Tom - 28
Alice - 23
Bob - 34
Sam - 31
3obbower  Bogowomdo  mommgMwo  Bsbsfgmo o6
LEHOogmbo FomBmoygbos 3o3gMeE BosL, oIS,
["Sam", 31]. @065 5doLs csv IMEMEL 5d3L B3gEOsW MO
535390000  JglodEgdmdgdo  9dlozmbgdmsb  Lodwm-
dome. 39MmJdm, csv.DictWriter() gwbJgos s06Mbgdls writer
3099dBL, OG0 Boodo RsfigMol Lodwoegdsl odwrggs.
csv.DictReader() @wbjgos sd6mbgdls reader ™dogd@L
135000 Follvgzombo. ogsmmomas:
import csv
FILENAME = "users.csv"
users = |
"name": "Tom", "age": 28},
"name": "Alice", "age": 23},

"name": "Bob", "age": 34}
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with open(FILENAME, "w", newline="") as file:
columns = ["name", "age"]
writer = csv.DictWriter(file, fieldnames=columns)
writer.writeheader()
# 6500096089 LBHMOoJmbol Bsfgeo
writer.writerows(users)
user = {"name" : "Sam", "age": 41}
# 9600 LEHO0JMbOL BsfgeS
writer.writerow(user)
with open(FILENAME, "r", newline="") as file:
reader = csv.DictReader(file)
for row in reader:

print(row["name"], "-", row["age"])

LEAHOOJMbol hsfgMs sbg3g dgodengds writerow() o
writerows() 990mM©Qd0L  EsbTsMgdom. 93 Fgdmbggzsdo
00mMgMo  bEMogdmbo Do0mo 96l (3939
©qgbo3mbL s A9MS 5dols, bEgds 11393Jd0L LEMIMMYdIOL
Bofg®s  writeheader() 9gom©ol  IHIsMGd0m, braeom
csv.DictWriter 9gom@do  dgmMg 356599360l Loboom
39005933995 139G 9Ol bs3Mgdo.

LEHOOJMbgdOL  Fo30mbzoLol,  U39gEHIOOL  ILIbgryg-
0900 g59mYygbgdom, d9330d0s J03sOHMM™ LEGMOJMbgdol
dopbom (350399 3608369 ™MdgdL: row[ "name"].
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8.5. 30bsMmo Bs0gdo

00bsOMEo  BY0Egd0  BHgJuEHMOOLRSE  AsBLb3sz39d0m
0b65b5396 06x8MEAs305L d50EHJOOL B39Ol Lobom. FsLosb
bodmdsme Python-do ULsFodms Bsdgbgdrmeo  dmpyero
pickle. gl ImME0 FoMogbl m® Igmmel:
— dump(obj, file) -Bs{gL obj mdog]BHL dobstrver file Bsowdo;
— load(file) - 300bwEMdL dMbs37890L dOBsOIO BSOEOIH
0099 Jo.
d0bsOMmo  gsowob Pologomo 96 Bolafigo
3obLboLSL 1B Fo30m3zseobfjobmm, ™A B39b a330Mmgds
3°dm30996mo "b" Ggg0do BsHgMol ("w") 96 Fogzombgol ("r")
695100056 ©5d5BHO0m.
©5391935m, LOFOOMS MO0 MdOYIEOoL dgbobgos:
import pickle
FILENAME = "user.dat"
name = "09s"
age =19
with open(FILENAME, "wb") as file:
pickle.dump(name, file)
pickle.dump(age, file)
with open(FILENAME, "rb") as file:
name = pickle.load(file)
age = pickle.load(file)
print("bsbgero:", name, "\tsbogo:", age)
dump gmbdiool  sbdsmgdom  b30d9Y3O s
Bo0fgm90s MO0 Mmd0gJBo. 530FEHMI Goowol §os3z0mbgolsls
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51939, 9630093 s load GMbs00L  dgdzgmdOm
3933003¢00 §53030mbmo gl md0gd@9do.

36HmyM5doL 99 0:
Lobgo: mMIs sbo30: 28

dbaoglbo  d9a30deos  8930b65bmm s Bs00ELb
50m300Mm0 M0G0l bs36M9d0:
import pickle
FILENAME = "users.dat"
users = |
["oomds", 28, True],
["sqols", 23, False],
["™Md0", 34, False]
]
with open(FILENAME, "wb") as file:
pickle.dump(users, file)
with open(FILENAME, "rb") as file:
users_from_file = pickle.load(file)
for user in users_from_file:
print("bosbgero:",  user[0],  "\tsbogo:",  user[1],
"\todm®mfobgdmero:", user[2])
0dol dobgzom ™ GMIgwo ®mdogddo Boghodgom
dump @gubdgoom, 0039 ®d0gJHO ©IVOMMbds load
2bJ30000 Bs0E0ol fozombzobsL.
30 M5dob 999y0:
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== RESTRART: C:/Users/Guliko/LppData/Local/Programs/Fython/.

Lisbgmo:  cmmds sbogo: 28 wogrtfobgdmme: True
Lisbgmo:  semolss sbogo: 23 wagerffiobgbmmo: False
Lsbgmo: Amdo sbbyo: 34 wagrtfobipbmme: False
FEF

8.5.1. shelve dmgmeo

0B  Boowgdmsb  LYdMdsme  Python-do
990dgds  g99mygbgdmw 0dbsl 3093 gMmo dmEero -
shelve. 00 0b65bogl g3ooedo Md0gdBHIOL obLsbBL3MEo
oLoEgdom. 9dgy 59 obowgdol dobgwzom Tgmdos
50m0mb 56y dgbsbmeo md0gdBHo Bs0w0sb. shelve
Ao dmbo39990056 3mdsmdols 3OHmEglo g358mbgdls
©qdbo3mbgdmsb  FMTomdsl, GMIwgdog Sbggg 09gbgdgb
390509090l Md0gJEJOOL Tglobobo s 58MbOMIdS.

339500l golioblibgeroqo shelve dmmeo 04gbgdl open()
9369 30oL:
open(Bs_gs0wsdy|,flag="c"[,protocol=None,
writeback=False]]])

boog  flag 396099 BHGM3>  dgodewgds  Booml
360093690 md9d0:

- ®g50wob  gooblbgds  Holsgombo s RsbhgMo
(060336900mds ©MFoOom). M9 GBs0O SO SMLYdIMOL, J5F0b
090 89094db69d9;

— T 500 250blbgds bmErm@ [oliszombo;

— W G500 250blbgds BoliofgMo;
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— n: gPowo ds0blbgds BolsfigMms. vy 0go 96 sOLYGdMBL,
dsdob  99goddbgds. 09 @osogro  sOLYdMOL, Bsdob  dsls
39599900

R0mMb 3530060l ILIbMESE 2odm0dabgds close()
d90™MQo:

import shelve
d = shelve.open(filename)
d.close()

BO0E0  d90degds  2o0blbsl  with  m3gMsGm®ols
©b3smgd0m. dgz0bsbmm @y ogz030mbmm  Bsoosb
65d9gb0dg mdogd@o:

import shelve

FILENAME = "states2"

with shelve.open(FILENAME) as states:

states["London"] = "Great Britain"
states["Paris"] = "France"
states["Tbilisi"] = "Georgia"
states["Madrid"] = "Spain"

with shelve.open(FILENAME) as states:

print(states["London"])
print(states["Tbilisi"])

dmbsizgdms  Bfgms  0mzsoliobgdls 360dzbgemdols
05996935 49BLOBOZOIEO ol gdoLm30U:

states["London"] = "Great Britain"

boem  53500osb §ozombgs, golowgdols dobggzom
360083690 md0l dJogdols 993035¢09bE¥M0s.:
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print(states["London"])

3oLomgdols  Lsboo  godmoygbgds  LEGHGoJmbywo
360093690 mdgd0.
dmbs3gdms §o300bgz0L0L, vy dmmbmgbowo golsmgdo
5 5MoL, 35006  99bgmoMmEads  odmbszemobo. 53
d9dobggzsdo  Gobsbfo®  T9gag0dwos  49935dm{idmm
3oLO®YOOL 5OLYIMDdS in MIGMOEGHMMOL 89d39gmdom:
with shelve.open(FILENAME) as states:
key = "Brussels"
if key in states:

print(states[key])

09230d0s  998m3094gbmo get() dgommo. dgmmol
306390 356539 BHM0s - AdLoMgdo, MHMIol dobgpzom
mbo  0dbsll  dogdmeo  360dgzbgermds,  dgmEg -
d6008369mds  dowom, MMmIgwog dMHbgds vy
29L5Mgd0 56 0g69gds Bodmgbo.
with shelve.open(FILENAME) as states:
state = states.get("Brussels", "Undefined")

print(state)
for 3ozaol sdmyqgbgdom  Jgodwrgds  Fo0OEID

439es 360336900mdol gowosdbggzs:
with shelve.open(FILENAME) as states:
for key in states:

print(key," - ", states[key])
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keys() 89000 536mbBgdL 535006 Ygzgams AoLoM9dL,
bomeom values() 3900mo - 439e0s 36093690 mdsL:
with shelve.open(FILENAME) as states:
for city in states.keys():
print(city, end="") # London Paris Tbilisi Madrid
print()
for country in states.values():

print(country, end=" ")#Great Britain France Georgia
Spain
990d0gds  2odm3z0ygbmo items() IgoomO, GMIGE0E
506MMbIdL  3mME9Jgd0lL  Bo3MgOL. (39390 3MOGHI0
3903393 oL 9dL s 3603369 MBdSL.
with shelve.open(FILENAME) as states:
for state in states.items():

print(state)

259m0 &bl dg9aL:
("London", "Great Britain")
("Paris", "France")
("Thilisi", "Georgia")
("Madrid", "Spain")
dmbspgdors 3sbsbergds

dmbsizgdms  8933w0olm30L  BogdoMolos  golioegdols
dobgz0m 30b0Fgor)er 04bsL sbsgro 3603369gemds, bmerm
dmbs39dms LT JOI®© MBS FoboLsDBPZOML  sboro
3oLoegdo:

import shelve
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FILENAME = "states2"

with shelve.open(FILENAME) as states:
states["London"] = "Great Britain"
states["Paris"] = "France"
states["Tbilisi"] = "Georgia"
states["Madrid"] = "Spain"

with shelve.open(FILENAME) as states:
states["London"] = "United Kingdom"
states["Brussels"] = "Belgium"
for key in states:

print(key, " - ", states[key])

90000 9909a0:
== RESTALRT: C:/Users/Guliko/Lpp
London - United Eingdom
Paris - France
Tkhili=i - Georgia
Madrid - Spain
Brussels - Belgium
P
dmbspgdors fsdems
Polodgwo©  (9853MMMEs©  d90degds  99ga0L
domqds3)  990degds pop() }MbJ300L  25dmyqbgdy,

OMIJlsEg 390093995  9w9d9bBHoL  gologdo o
86093690 ™d5 ©MFoE0m, M) AoLOMYOO 56 0gbgds bodmazbo:
with shelve.open(FILENAME) as states:
state = states.pop("London", "NotFound")
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print(state)

Pobodengms, 93Mgm3gg, dgodergds del m39Mo@mOOl
3990y9bgds:
with shelve.open(FILENAME) as states:
del states["Madrid"] #38¢om mdogEb Madrid gsbsmgdom

g3ows  9gdghGol  fobodwgwa 890degds
399m304gbmo clear() dgomo:
with shelve.open(FILENAME) as states:

states.clear()

8.6. OS 3mo s 397935Mmd5 B0 )®
Lol gdsliosb

3939 MQ0mMb O Bo0EgdMb Fdsmdol Jmge Moy
d9L5dgdMIGOL  FoMmoygbl 0s Bdgbgdmo Imo.
oMmo0s 030  J9oEegl 36035 BwMbJgosl,  Bsa®msd
39630bow M omgob Ibmermo doMomswgodo:

mkdir() - Jabols sbogn bogowsoerql;
— rmdir() - §59¢0ob Lodowoql;
— rename() - 350055673936 Bo0EU;
— remove() - fodol gsob.

Logowowall  dgLoddbgars, MmamGE  dsbgobowgm,
399m0ygyqgbgds mkdir() gwbJzos, GMIgELsE gowsgagds 3bs
d9L59bger Logdowawrgdy:

import os

# 800066 L3IMO3EHBY 4IMI0IOMEO ADS
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os.mkdir("hello")

# 50LMEBHOHO 3o
os.mkdir("c://somedir")
os.mkdir("c://somedir/hello")

Logowowal  Fobodgms  godmoygbgds rmdir()
2bd3os,  OMIGbyg 29993995 gbo  Holodergen
L7500 ©Y3Y:

import os

#9000bsty 13M03¢ DY ©59M309dME0 3o
os.rmdir("hello")

# 50 EHMOO 4o

os.rmdir("c://somedir/hello")

3500l 253LsMJdg350 odm0dabgds rename(source,
target) 3bJ309, 3060390 356589GM0 5MOL 3Bs BSOWSIWY,
boerm dgmeg - 300l sbsgro Lobgero. dolsdsmmo (3Bs)
990dgds  0gmlb  OMAMOE VLMW YGHMOO, 1939
©593009090. Fsooms, C://SomeDir/ Lodsmswgdo
396053L9do0s somefile.txt Bs00O, 3563500 Aol sbosro
Lobgero - hello.txt:

import os

os.rename("C://SomeDir/somefile.txt",
"C://SomeDir/hello.txt")

13500l Holodegeo 25dmodsbgds remove() BbJaos,

OMIJLE 3900993995 3D Bo0EsdY:
import os
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os.remove("C://SomeDir/hello.txt")

0¥) 99393090000 go3blbsm Gsowo, GMIgmwoi 96
5MLgdMdL, 95006 Python  9o9mbiggdl  godmbszeooll -
FileNotFoundError. 05308 @sH03930L d0bboom dga30dcros
300m3094gbmom  3mblEMmJzos  try...except. BOOE0L
3obLbsdg dg0degds 99dmdgl SOLYOIMAL M 9GS 0Yo
os.path.exists(path) dgoom@ol  sbTsMgdom. 53 dgomEL
39005933995 2B, ®MIJO3 9930 gd9E0s 9dm{dgb:

filename = input("890&sbgom aBs Bsool39b: ")

if os.path.exists(filename):

print("00m0gd90 FS0E0 SOLYIMBIL")
else:

print("gs0wo 56 sOHLYdMIL")
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IX 00530. 300093096 3mdsmds
9.1. 9mgnyemols 8943bs, Bs®ongs import s from
0bLEGOMJ309000

Python gbsdo dmwwo gfmgds 6gdoldogH gsowls
36MHMYMHTME0  3MEOM. MONMIM  3OMAMASL  F9dwod
083 GH0M9ds 259390 ML s JooMmb 3mds dols
30olgdmab,  BMbd30980056 @5 MB0g]BHJOMb. b
500603bml, MHmd dmEmero Jgodegds 0ymb  sfgdowo
50585MGHM  Python-bg, M09, dsgowoms, C o6 C++
9690%9.

9.1.1. dmneol BsOrm3s LEGHobsMEwwo
003¢0M9g30©b

9ol BsGm3zs 9godergds import obLEGMmdzool
©ob3sMgd0m.  Foo0md©,  BIZOmM®  IMOMWO oS
909006569 35@50maol oloMgdo:

>>> import os

>>> o0s.getcwd()

d9g30:
'C:\\Users\\Guliko\\AppData\\Local\\Programs\\Python\\Python
36-32'

import @oloegdmemo  Lodyzolb 890y d09gmOMYdS
Aol Lobgao.  gohmo  0bLGMMIz000  FgodEgds
Bogmommo  M59gbodg dmEmero, dogMmsd gl 9O 9GOl

93096900, Mosb 5IdWIOL Mol [oz0mbgs-
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©MdsL.  083mOHGH0MYds  2033000m»  time s random
9@ 9db.
>>> import time, random
>>> time.time()
1376047104.056417
>>> random.randomy()
0.9874550833306869
dmEgdol  083mOmEG0Mm9d0L 390y dobo Lobgwro
3ob©gds  33woo,  MHMAol  99d39mdoms3  d90dwgds
$30m30l J0©gds FMmEMEEOL SGHMO0dMBHIOMB. Bodsoms,
090dgds  80305OmMmm e 3mbLAHBGL,  OHMIgeos
39600390 os math dmgvyendo:
>>> import math
>>> math.e
2.718281828459045
0¥) 3ol 0M0MGIMNWO SGHM0dMGHO 56 0gb9gds
Bs3mgb0, o®dm0dzq0s AttributeError godmbszwrolio, boerm
0¥ 56 ImbgMbgds Mol 3m3bs 0d3meEGH0MmgdoLm30L,
d5dob - ImportError:
>>> Import notexist
Traceback (most recent call last):
File "", line 1, in
import notexist
ImportError: No module named 'notexist'
>>> import math

>>> math.E
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Traceback (most recent call last):
File "", line 1, in
math.E

AttributeError: 'module’ object has no attribute 'E'

9.1.2. gliggmMbodgdols 350mygbgds

0¢) 3ol bobgo doerosh aMdgeos b vy 56
9ma3fmbl  Lbgoolibgs dobgbgdol a5dm, ds58ob dolomgol
d90dwgds gLlggmbodol dgddbs, as AoLoMgdMo Lo@yzol
©5HAsMH9d0.

>>> import math as m
>>>1m.e
2.718281828459045

50 99dmbggzsd0 math dmEMEol y39ws 5G®0dEMb
P3omds  bmdEogergds dbmem m (3300l
©ob3sMdom, bmerm math 33wso 53 3OMYMsdsd0 19339
5056 046905, Gomgdsbs 590l 8909y 3MMyMdsdo mvY
530960 import math, 85906 dmmeo 0dbgds fizomdso
GmamO@3 m, sB939 math bLsbgwoo.

9.1.3. from obLGHOWMJ30s
9ol 4oBLYBOZOMO  5GHO0dMEJOOL  BsOMZS
090dgds  from  obLEHOWYJ300m. T 5g3b M9 9b0TY
RMO5G0:
from <dm@Eveol bobgero> import <s@GH®odGHo 1> [ as
<1ln3Mbodo 1> ], [<s@®0dmE0 2>[ as <gbyzombodo 2>] ...]
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from <dm@yerol bsbgeo> import *

3060390 gmOdsGo  YBOH639gmxal  Bog®orml
dmoEsh  dbmemn  mgdzgh  dogdH  domomgdmwo
3GHO0dMBHGd0.  aMdgeo  Lobgergdolomgol  dgodergds
1LY3™b0IGdOL L6036y, MMIgEoi Mbs dogmommls as
3oLsgdmEO Lo@yzol 8909y,

>>> from math import e, ceil as ¢
>>>e

2.718281828459045

>>> ¢(4.6)

5

033MmOGH0MJOMWO SGHM0dMBH0 YY) 093605, FJ0IEGdS
396m3bgl  M9dgbodg  LEH®OJMEDY,  3mEolL  M3gm
Do300b3z0l M350 LsBOoLom:

>>> from math import (sin, cos,

tan, atan)

from obLEGHMMJzo0l 89990 BMOISEHO IMOUY0EIH
00mgJdol yz9ws (3350l BsO™M30L Lo gdsls 0derggs.
05250mOLM30L  25353900M  sys  dmuol  g39gemd
5300 BHOL 033MOEH0MIOS:

>>> from sys import *

>>> version

'3.3.2 (v3.3.2:d047928ae3f6, May 16 2013, 00:03:43) [MSC
v.1600 32 bit (Intel)]'

>>> version_info
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sys.version_info(major=3, minor=3, micro=2,
releaselevel='final', serial=0)

Mbs 500b0dbML, MM 439w sGHM0dMEO 96 0gb9gds
033mMEGH0M9dwo. 0079 IMEIEdo dobLboBOgOHmos __all
(3350, 35906 BogMmgzgds dbmenm 53 Lools s@MOdvYEGdO.
o) _all  33ws@o 5O 6oL QobLyBO3OIo, dsdob
BogMH™M3905 Y439ws 5G®0dME0, Mmdguog 56 0fgygds 939w
bsbslidoo. 39Ms  53oby, Mbs  0dbsl  gomzow0ol-
Pobgdmwo, Mm3d  ImEMWoIb  Yzgws  5GH®odMEOL
0033mMEGH06M9d59 d90dwgds I9MMZ0ML 393500 3OMYMoL
Lbobgarms  LogM3g,  M99gbssg  9HPBI0MLIbggd0s6o

33150900 9MHF9bgnBY 250997960930b.

9.1.4. Lo3MO IMEMeEol 39Jdbs

3d934dboom mymodule.py 93500, Mmdgedos
3963L5BOzOM® Mo0dg B96J30900:
def hello():
print('Hello, world!")
def fib(n):
a=b=1
foriin range(n - 2):
a,b=b,a+b
return b
00539  Lodomoswgdo  d93Jdbsod  Lbgs  g3soqro,
9595 0mMsQ, main.py:

import mymodule
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mymodule.hello()
print(mymodule.fib(10))

36HmyM5doL 99 0:
Hello, world!
55
390035¢0lobgm, ®MmI dnol Lobgwo o6 Mbs
900b39mL 4oL H LOEHYZOL s 96 Mbs 0fygdmgLs
gonMom.  dmEmeo  9godwgds  dgobsbmm 08539
Logowowgdo, LosE MOl doMHOMOEO  3OMPEMsTs 56
3935 d0, LysE OOl oYgbgdero python. dmerol
dgobol 2Hgd0 Jom00gdme0s sys.path 33enodo.

9.2. J06MH0m5¢0 B58969do dmEegdo

Python gbsb 943l Oomgwo Moo  Bsd9690meo

dmEMEgdo,  OMIwgdog 99330005 odm309ygbmo
3606599830. g9630b0Mmm Fomsb doMomowgdo.

9.2.1. random dmEEO

random 9mEYE0 FoOM3L d9dmbggzomo MoEbzgdol

39696006905, Lo JoMOMIO BMbJE0gdo.:

— random() - 5396960690l dgdmbzgzom Goabgl 0.0 -sb
1.0-009;

— randint() - 936MMbBgdl Fgdnbzgz000 GOoEb3L QobLIBEZ-
M0 0535DMb0IB;

— randrange() - 5069690l Fgdmbzgzom MoEbgl Mosbgzms
39bLsBE3MME0 653609d0IH;
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— shuffle() - 3955500090l LOSL;
— choice() - 906HbgdL Lools gdmbggzom 9EqdgbEL.
random() ®w964305, OMIMOE 53060d6gm, SOMHMBYOL

93693090 GH0o0sb dgdmbggzom ®ogbzgdl 0.0 -sb 1.0-
09 990w 9do. 9) LoFoMOms GoEbzgdo MBOM ©OEO
©0535DMb0sb, ogooms 0-sb 100-0y, d9ga30d¢0s,
d9L50500bo, random() ®w6J300L F9gOIRO 29350 MO
100-%y.

import random

number = random.random() # 86093690 mds 0.0-s6 1.0-

CRey)

print(number)

number = random.random() * 100 # 9603369crmds 0.0-56

100.0-8¢0g

print(number)

randint(min, max) s36Mw690L dgdmbggzom Imge
6oEbgl min s max 36093690 md9d0L dmsergdo.

import random

number = random.randint(20, 35) # 9609369 mds 20-
b 35-009

print(number)
randrange() ®wbJzosl, GMIgwos 36OWBIdL J9dmbggzom
dog MHoibgl MoEbzgdol  obloBmzdmmo 653609006,
593L bodo gmMas:
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— randrange(stop) - ®ogbgms 65360900l Lobom, GMmIgermogsb
mbs dmbgl dgdobggzomo 3603369 mdoL  5BMm©gds,
3990g9gb9d0o 046995 0s35BMbo 0-sb stop GoEbzs9¢Y;

— randrange(start, stop) - Gogbgms 6530900 FoMdmoygbl
©0535DBMOBU start MoEbgzosb stop MoEbzs9©Y;

— randrange(start, stop, step) - MoEbgms 65360930 HoMBdmoygbl
©0535BmbL  start  M03Eb306 stop MoEbzsdy, Msbog
39390 MHoEb3o ©0s35HMbdo 9bLbgsggds obsligsb
step dOxX 0.
import random
number = random.randrange(10) # 360936g9crmds [0 —10]
print(number)
number = random.randrange(2, 10) # 3609369cmods 2, 3, 4, 5,
6,7,8,9, 10 ©0535Pmbdo
print(number)
number = random.randrange(2, 10, 2) # 3603369¢omds 2, 4, 6,
8, 10 ©0535%m™bdo
print(number)

L0gdMBb LodMdsme random dmEwyerdo oblsbrgzvy-
w05 M0 gmbjaos: shuffle() 3wbJsos gowossyoegdls ool
d9dombggzomo Lsbom, bmeom choice() gbdios S06Mw69dL
Lo0sb 9Hm F9gdmNbz93000 Jegdgb@:

numbers =[1, 2, 3, 4,5, 6,7, 8]

random.shuffle(numbers)

print(numbers) # (2,6, 1,7, 3, 8,5, 4]

random_number = random.choice(numbers)

print(random_number)
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9.2.2. math dm@ueo

math Bs3969do dmmeo Python-8o {oGoyqbl
236930900 653090l 507985303960, BHM0RMbMIGEHMOMEO
@S @MYPSOM0MNINWOo  Mm3gM530900L  FGLOLOMYICGIS.
39630b0w M doMmomMoO B6J (309806 BmyogHmo:
pow(num, power) -  506MHbgdl num Mosbgzl power
bseobbdo;
sqrt(num) - num GoEbzol 335MsEHMIo BqL30;
ceillnum) - ®oEbgol @MY gds  wbmgl Mol
doge Hobzs0Y;
floor(num) - ©oEbgzol TIMY35wds wdbermals »Izo6mgL
doge MHo;3bzs009;
factorial(num) - ®oEbgzol BogdGHMM00;
degrees(rad) - 50005605 3M5MLTO 3509Y3569;
radians(grad) - 46506 M50s6d0 go0y3965;
cos(rad) - 370bol 30b0bMLo MoE0s69dT0;
sin(rad) - 3=9obols bobmlo GsE0sbgdd0;
tan(rad) - 3mobols ¢obygblio G®o0s690d0;
acos(rad) - 379mbob 5633 M5E0569dT0;
asin(rad) - 37bol sG3L06MLo Ho0sbgddo;
atan(rad) - 39900bols 5633sbggblo M50569dd0;
log(n, base) - n Hobzol wmasGomdo base gdoo;
log10(n) - n ®oEbzol sOMBOMO MYsOHOMTO0.
DmMa09M0 BbJ300L 359mygbgdol dsgoomo:

import math
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#2-ob 3 boMobbo

nl = math.pow(2, 3)

print(nl) #8

# 03039 3965305 390390 S193 TgbO L
n2 =23

print(n2)

# 5391300 53MPYdS

print(math.sqrt(9)) # 3

# mobermgbio Moglio dogao Moibzo
print(math.ceil(4.56)) #5

# <5bermgbo Md0MHgbo dmgeo Goabgo
print(math.floor(4.56)) # 4

# 500560056 3O MLTo Q50Y3969
print(math.degrees(3.14159)) # 180

# 365006 M5E056d0 Fooy396s
print(math.radians(180)) # 3.1415.....

# 300b0bLo
print(math.cos(math.radians(60))) # 0.5

# Lobmbo
print(math.sin(math.radians(90))) # 1.0

# Bobpablo
print(math.tan(math.radians(0))) # 0.0

# MysM0md0

print(math.log(8,2)) #3.0

# 500MO0MO OMYSMHOMI0
print(math.log10(100)) # 2.0
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math dmEuo, sxMgm3g, FoMowaqbl domgw oy
B539b690me 8mB0390L, Mmym®moEss PI o E:

import math

radius = 30

# 30 50000560 ML FsOHOMdO

area = math.pi * math.pow(radius, 2)

print(area)

# 10-0b b5@ OO0 MYsMI00d0

number = math.log(10, math.e)

print(number)
9.2.3. locale dm@vyemo

6oEbzg00ol  FmOIsEGH0GMdoLsl  Python  vdogom
049690L 56 mUodlm® LoliEGgdsl, GMmdmol EOMLLE domgwro
Mosbgzol  mbMoggdo  gmHmAsbgmoligeb  asdmoygmazs
ddodggdom, bmwm  fowso  bsflowo  dogaroligsb
3odmogmxs  HgdEowom. 936m30L  36&06963) By,
35250mMo©, 35dm0Yygbgds Lbgs LoLBHYds, HMIOL OMULSE
056602900 25dmoygmgxzs FadGHowom, bmwm ffowswo ©s
dongero bofjoero - 8dodoo:

# 9bgEmbadumMo LobEgds

1,234.567

# 936030 Lol gds

1.234,567

RMO5GH0MJO0L 3MIMdGIOL 4osLOHY39¢o© Python-
do 5O B589b90meo locale dmvyero.
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WMISNYOO  JNGHOMOL  iboygbgds  locale
dmedo 2oblabEgmos setlocale() gmbdzos. 0o 0©gdL
M6 3560599GOU:

setlocale(category, locale)

306390 356539 3HM0  F0MDOomMYOL 353 JMMH05DY,
OHIolm3zobys godmoygbgds 1bJgos - Moagbgzgdolmgol,
35BHobom3zol b MmM039LmM30L  gOHMOE.  356M5TgGHMOL
96003690md0ol  Loboo 930305 39933900 99990
3MbLE9639d0sb ghm-gmmo:

LC_ALL - @m35@0%gds 30390905 Y39s 35HJdM-
605Dy - Mogbgzgdol, 35BHOL, Mmool @y  5.0.
RMO53H06M9d5DY;

LC_NUMERIC-¢®35¢00%g0s 3039905 Ho3b390b9;

LC_MONETARY-gm3500%905 303900905  35¢nvy-
GobY;

LC_TIME-gm35¢00B90s  30390©90s  0oMomls @
MOMDY;

LC_CTYPE-gm35¢00%g0s  Lboddmemgdol  bgs 96
939005 ©930LGHMA0 gog3560Lsls;

LC_COLLIATE - @m35¢00bgds LEGMogmbgdols dgws-
900LSL.

setlocale g3mbdi300L FgmMg 3565d9GHOO  J0IO0GOL
@O JP@ONODY,  G@Igwosg  gbs  ogbs
399my9gbgdmeo. OC Windows-m30l d90dgdos
399m3094gbmo  J399bol  3meo ISO dobggzom, ®GOo
LoddMEMBYSD Fggqboero. sgsmoms: Georgia —ge, Usa —
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us, Russian -ru, bmeom MacOS ULob@gdobomgol bsFoMms
dogmommb gboli 3m©o s J394bol 3mo, Tosdeoms:
0bgeolbyGolomgol 989003580 - en_US, Gwmlvmeolomgols
mbgodo - ru_RU, do@ormeobogol Lods®omggermdo - ge-
Ge, 2496M3s69olomgol 49®mdsbosdo - de DE. mdocrom
1394 BHMOM0350 459m0Yygbgds 3Mw@GH«es en_US.

M3Mem© MHoibzols s 395¢MEOL BmEOTsEH0MIOOL-
0300 locale dm@wyero FoMoaqbl me 13wbjsosl:

currency(num) - 5g30635@gOL 35¢w9Esl;

format(str, num) - num 6Ao3b3zo Q5o3yo3L  str
LEGHOO0JMBT0. 2505943560L58 HOEb30L H0306 odMmBEObaty
39900996905 9990 LOTdMEMYdO:
d - dogero Hoibgzgodobmgzol;
f - 33m93h9MGH0w0sbo MHoibzgdolmgzgols;
e - Mobz900L 9JL3MmbgbiEosw o Bsbsfgmolimgol.

5060360 Loddmml ob ofgegds % - 3GMME96EL
6500560, dogomomaqo: "%d".

Powoo MoEbzgdol godm@sbolsl f Loddmeml Hob
Do Gowob 8999 990degds dogmommlb fows bsfowdo
0¥ ©509bo 60dsbo Mbs solsbml: %.2f # mMo 6odsbo
fowsc bofoendo.

39630bowmm ©H0oEb3z9d0lL s 35 MEOL WMIsE0BYdS
539603)obmgzoU:

import locale

locale.setlocale(locale. LC_ALL, "us") #Windows-mgol

# locale.setlocale(locale.LC_ALL, "en_US")# MacOS-m30l
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number = 12345.6789

formatted = locale.format("%f", number)
print(formatted) # 12345,678900
formatted = locale.format("%.2f", number)
print(formatted) # 12345,68

formatted = locale.format("%d", number)
print(formatted) # 12345

formatted = locale.format("%e", number)
print(formatted) # 1,234568e+04
money = 234.678

formatted = locale.currency(money)
print(formatted) # 234,68 €

0y 3mb3OgOYwo 3oL boggwee  dgmey
356599GH®0L Lobom 25093995 39M0gEo LBEBHMmOJmbo, 590b
Python 95800949690l 3m@@HMMsl, GMIgog 4o9moyqbads
9000bstg  LsdMTom  3MA30BHYODY, bmewem  getlocale()
23bJ300L IHAMGO00Y 9g0degds 53 3N EHMMOL JoWYd.:

import locale

locale.setlocale(locale. LC_ALL, "")

number = 12345.6789

formatted = locale.format("%.02f", number)

print(formatted) #12345.68

print(locale.getlocale()) #('English_United States', '1252")

202



9.2.4. decimal 3o

9305309030056 Mo(3b390m56 3MTomdol EMML SO
9000905 N BMLEHO J99A0:

number =0.1 +0.1 + 0.1

print(number) # 0.30000000000000004

3GMMdwgds  99odwgds  4oo3hYy30@GH™o  round()
23bJ300L g99mygbgdom, MHMIGE0E MR35 gAL CHoOEL]L.
5ol Bbgs bgMbog, MmIgwog damdsmgmdl hsdgbgdmwo
decimal 9m@¥)E0l godmygbgdsdo.

50 dmEdo MoEbzgdmsb LsdmBsmo  goliswgdmeo
3™33mbgbGo ™ol Decimal 3awsbio. dobo 459mygbgdolomgols
mbs  dgogdbsl  dobo  MmdogdBo  3MBLAHOVYIEHMOOL
399mygbgdom. 3mbLEHMWMJGHMMTo 250593905 LEHOOJMbmwo
360083690mMds, G®MmIgarois Homdmoygbl Goabal:

from decimal import Decimal

number = Decimal("0.1")

530l 999gp Decimal md0ogd@ob 250mygbgds dgodengds
5MH0mIYEH03I M39630903d0:

from decimal import Decimal

number = Decimal("0.1")

number = number + number + number

print(number)  #0.3

Decimal-0sb  m396M5309030  godergds  dogero
M0o363900L 45dmyqbgds:

number = Decimal("0.1")

number = number + 2
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56 990dgds Mm39M5309dd0 fowso Moabggool: float
@5 Decimal s6ggo:

number = Decimal("0.1")

number = number + 0.1 # 54 0g69d5 9305

5353 gdomo  60dbgdol  obdsmgdom  d9godegds
3960LsBEzOML Gsdgbo LoddMEM 0dbgds Moibzol Howo
Bofoerdo:

number = Decimal("0.10")

number = 3 * number

print(number)  #0.30

LEAHOogmbo "0.10" goblobEg®sgl mE 60dsbl fows
Bsffoerdo, 8580bsg v dmem Loddmemgdo 046905 bmero.
d9L50530bo, "0.100"  Fo®mdmoagbl Lod 60dsbl fFows
Bofoendo.

9.2.5. quantize() gm0

Decimal ™d0g9d®gdolb o3  quantize() dgomoo,
6HMIgoE HoEbzol I35 gdol Lodsgdsly 0derggs. od
d900m©do 3063900 56IIBEGHOL Lobom gowsgEgds s1939,
Decimal md0gd®Ho, 6mdgwog domomgdl  Gogbgzol
53623509008 BMEOToE):

from decimal import Decimal

number = Decimal("0.444")

number = number.quantize(Decimal("1.00"))
print(number) #0.44
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number = Decimal("0.555678")

print(number.quantize(Decimal("1.00"))) # 0.56

number = Decimal("0.999")

print(number.quantize(Decimal("1.00"))) # 1.00

399myabgdmwo LE®odmbo "1.00" dommomgdl, MmJ
©3M350 905 oo Bosfowdo méo bodbom. mdowoom
©5IMP35¢90s 500{96M905 ROUND_HALF_EVEN
030300, MHMIOlL  OMLY3  Mogbgzo MR350 Yds
d9@G™d0m, 099 020 396309, bergnm dolo obsdm®mdgo sGols
4. 955¢0mM5:
from decimal import Decimal, ROUND_HALF_EVEN
number = Decimal("10.025")
print(number.quantize(Decimal("1.00"), ROUND_HALF_EVEN))
#10.02
number = Decimal("10.035")
print(number.quantize(Decimal("1.00"),ROUND_HALF_EVEN))
#10.04

©53M235¢900L  LEMOGHJR0S quantize-do 45900593995
d9mMg 356599BHMoL  Lobom. LEMoJmbo "1.00" s0bodbsg3L,
6Md 9MHY3509ds Howso bsforol M msbMoysdog.
9098 3039w d9dmbggzsdo "10.025" - Igmeg 6odsbo sGol
2 - oafio 6osbzo, s303H™md dombgosgs 0dobs, MHmI
39900920 308M0s 5, MO 56 T35S Bod>TY.

205



dgmMg 99dobggzsdo "10.035" - dgmeg 60dbs sG0ol 3 -

39530 ®o3bg0, s80EHM™Ad 030 IMY35¢Yds 4-300Y.
53635009005l SbgmO 3939, 890dwgds SN OLY
LobEZ39e0  oymb. sbge  Jgdmbggizsdo 0g0  Tgodrgds
bgsbes  2o6obyBOZOML, BsIMMIO™sdsb ghHm-gOHmo
3MBLEHBEHOL Aodmygbgdom:
ROUND_HALF_UP - 60o3bgol 0s96Mg35¢q0s 39GH™md0m, mv
9ol 99909 Imob 305360 5 56 8g@0;
ROUND_HALF_DOWN-603b30l  ©s303590s 6530090m-
d0m, ML 8ol 999y dmol 5 56 dg@o.
number = Decimal("10.026")
print(number.quantize(Decimal("1.00"),ROUND_HALF DOWN))
#10.03
number = Decimal("10.025")
print(number.quantize(Decimal("1.00"),ROUND_HALF DOWN))
#10.02
ROUND_05UP - 536935¢0gdl dbmeme 0-U 1-0¢g, 0o
dols 99009 Imqob 5:
number = Decimal("10.005")
print(number.quantize(Decimal("1.00"), ROUND_05UP))
#10.01
number = Decimal("10.025")
print(number.quantize(Decimal("1.00"), ROUND_05UP))
#10.02
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ROUND_CEILING - ®ogbgl 536235¢090L d9@EHmdoom,
dombgsgzs 0doby, vy MGmdgwo 3gox®o dmol  dol
39900y
number = Decimal("10.021")
print(number.quantize(Decimal("1.00"),ROUND_CEILING))
#10.03

number = Decimal("10.025")
print(number.quantize(Decimal("1.00"),ROUND_CEILING))
#10.03

ROUND_FLOOR - 56 536335¢09dl Goabgl, dovmbg-
53500 0oLy, M) HMIJo 30g3MH0 dmol Job 9dgy:

number = Decimal("10.021")

print(number.quantize(Decimal("1.00"), ROUND_FLOOR))

#10.02

number = Decimal("10.025")
print(number.quantize(Decimal("1.00"), ROUND_FLOOR))

#10.02
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X 530
0099GHHg mM0gbGH0MgdMmo I3MHMYMaYDS
10.1. 3¢05lgd0 s Mmd0YJHYdO

Python dbs®Olb MFqgOL  ©3OMYMdgd0L  Mmd0gdEHbg
Mm609bGH0MGOM  356M50adol,  My3  bodbogl,  G™J
d9L5dgd9E0s 3OIMYEMSAOL 30336 gbFHJOO F9BOLIBOZOMU
3@slgdol Lsboo.

3@slo 5ol FodErmbo 9649 Mmd09dEHOL BMOTSEMMO
500965, bmwem mdogddho - 3wsbol 9gabgddwsmo, dolo
950 gobbmeM309090s. 3mOL M35 LsBGOOLOm J3eslio
590006901  BMbJ30900L @S (330l 653M9BL,
OMIwgdog  SUOMWGdID  2o6339  STMEIBIL.  3Esliols
xbd3ogdl  sb939,  MPMm©gdgb  FgomgdL. obobo

39bLsBM3M5396 30sLOL J(3935L. 3EsbOL (33sEYdL 330500
5GHM00939d0 - 0obo 0bsbs396 3esliols EYMTSMGMOL.

3003L0 2560L5BMZ3MYdS class golivoegd®mo bodyzom:
class 3esbol_bobgero:
3@sbol_09onmgdo

3ol md0gdBHol  Fgboddbgero  godmoygbgds
999990 Lob@sduo:

3099GHol_bobgwo = 3¢5Lol_Lobgero ([356589EHM9d0])

39290mMo©, 2563LsbBPZOM™M FoMEGH0g0 Person 3wsbo,
OHMIgos Fo6IMogbl 5¢sd0sbL:

class Person:

name = "Sandro"
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def display_info(self):
print("gamarjobaT, me mqvia", self.name)
personl = Person()
personl.display_info() # gamarjobaT, me mqvia Sandro
person2 = Person()
person2.name = "Anna"

person2.display_info() # gamarjobaT, me mqvia Anna

Person 3emolo  2obLoHm3Msogb  name  5@G®0dMAEL,
OMIgog 0bsbogl 50530560l Lobgenl, bmerm display_info
3900 358Mog3L 06835305 5sd0sboL Tglobgd.

6900bdogmo 3eslols 3gomEOlL 2oblsbEgmOLLl Mbs
3930035¢0oljobmm, MM  yzgws  Fompobds  30MH39w0
3565990l Loboo Mbs dooMMmlb ddwmwo Bodobstrg
009JGD9, ®MIJE0E 30OHMOOL MbsbTs@ s6G0L self (c++ -Jo
5M0L 9boermao - AsLOgdMmo Lbodyggzs this). o3 dIMEom
3wsbol dogbom dga30dwos 80305MMNMm 53539  Jewslols
dgomEadl 96 9GH®OdNMBHIOL. 3gMdme,  self.name
399mbsbgdom  Jgodergds  dog300mo  dmdboGmgdrol
Lobgero.

Person 3¢sbols 9BLboBm3Mol 90qy 993Jdbsod dolo
MO0 ™mdogd@o: personl s person2. md0gdEHoL Lobgerols
3990mygbgd0m, 930305 30335MMM™ JWsbol dgomE9dls
@S 3GH®OdMEIOL. ImEgdmee  99dmbggzsdo  Mm6039
3099dGHoLmM30L 30d5bgdo display_info() dgormel, GmIgerogs
LEHOOJMBL godmoEsbl 3mblmE By, Igmeg MmdogdEHOLm30L
3330 name 5GHM0dGHL. 53 O™ display_info dgoomeols
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2590dsbgdolsls o6 mbs 360d369emdOL  Aso3gds  self
3565393 Hobom3z0U.

39630bowmm Foge0mo. d93J86s0 35O BN~
bacoo:

class Rectangle:

color = “green”
width = 100
height = 100

3@sbol 5@GHM0dMBHI0DY f3™ds dgodengds doz00Mm
399090 Laboon:

3099dGHoL_Lobgwo.s@G®modmEGHo

3900353b5M® oM 3MNMHI©O 3ol MmdogdEBHo o
©539930Mm 59 Md0YJEOL 5GHM0dMEO - BJOO:

rect]l = Rectangle()

print(rectl.color)

535053 mo 396 dogM dgddbogn 3emslll Igommo - gb
0bJ30ss, GMIgwoi Jwsbol dogboo dYdIMYMAL o
SO gOL QoBLIBOZOME Bodwdoml, GMIgos Y39wsHy
399 330535DMdL qJdbogro Md0gdBHOL SEGHMO0dMEGHIOMb
D300masl.  ogocmoms, Rectangle 3oLl ©93TsGHMD
dgoomEo,  OMIgwog  3dIMmomzwol oMM 3Mmbgol
R9MMMOL. 0doLOMZ0L, MM JgNMmEITs> 0E3MEIL ) OMIgE
30994356 3FomdL, 5O mAgbEo@ ol MBS A9og3gL self
3565990, OMIWoms3 030 Foomqdl i3mdsl msz30l
9mbs(3999005b.
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class Rectangle:

color = "green"

width = 100

height = 100

def square(self):

return self.width * self.height

3665958 996905 LEdME MM Loby:
class Rectangle:

color = "green"

width = 100

height = 100

def square(self):

return self.width*self.height

rect]l = Rectangle()
print(rectl.color)
print(rectl.square())
rect2 = Rectangle()
rect2.width = 200
rect2.color = "brown"
print(rect2.color)
print(rect2.square())
36HMyM5d0L 990:

== RESTART: C:/Users/Guliko,

gresen

10000
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10.2. 306LGOHMIEBHMGO

3ol 3mbBLAHOIBHMOO  BodMogdsl  0derg3zs
30900mMb Md0gdEAL 3565393HMgdo dolbo Fggddbol M™U.
509bs, Bbgds Fglodergdermds  890ddbsl  Mmd09d3EH9do
Pobolifot dm390mwo 530393 JO0m. 3sbiols
3MBLEOWIEHMMO0 s6HoL Igomeo: _ init_ (self).

Bgdmm, OHmas 893Jdgboo Person 3awsbol mdogd@gdo,
399m3094gbgm  3MBLAHONIBHMOO  EMIoom,  OHMIJWOo3
305365005 943l Y39 3esbls:

personl = Person()

person2 = Person()

3wslido d90dgdos 3H9s© 3960LsbEZOML
3MbLEGHOMJBH™O0  B3g305EHo  GgomEOL  EIHBTsMGdO,
OMIGbsg  9fmgds  __init(). dogooms©, 893(335¢Mmm
Person 3ansbo dsbibyg 3006LEO9dEHMOOL 35 gdom:

class Person:

# 300bLBHOJBHMOO
def __init__ (self, name):

self.name = name # 35949690 Lobgels
def display_info(self):

print("godsGxmds, dg dJ30s", self.name)

personl = Person("bsbo®m")

personl.display_info() #go0sGMxmds, d9 9300 LobOM
person2 = Person("s65")

person2.display_info() #go0sGMxmds, 39 3300 965
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306390 3505390l Lobom  3mbLEGOWMIGH™MO
dooadL ¥3MEl d0dEobsdg MmdogdBHBg - self. bmaxg®
3MBLEGHOMIGHMMGdT0  ©oYgbgds  3Esliol  SBHM0dMBHdO.
dm3gdme  8gdmbggzedo  dgmeg  396Mmsdg@®mol  Loboo
3MBLEAHOMJBHMOT0  2oi9(39ds  BMAbAsMYdOl  Lsbgero,
OMIgwo3 ©oygbgds self.name sGH®0dMEHOLMZOL. Mbs3
SGHM03MAHOLMZ0L 96 SMHOL 9E0WGOI0  49BOLIBEOZMMU
3wosldo name (33050, OMAMO3 gl oym Person 3awsliols
fobs 39Mbosdo. self.name = name 3609369c0mdOL ©oygbgds
339 9653bss© Jdbols name 5@®OdMEL.

personl = Person("bsbo®m")

person2 = Person("s6s")

3909250 300(90ds:
39056Ox My, 39 9305 LobOM

20056 Mds, 39 3305 9B

Bgdmm  gobboryen  dsgowomdo,  dsrnzmombgols
d9Jdboll MMl ggeol,  Loa®doLs s  Logsbol
dolomomgds@ Rectangle 3000l ©03535¢ ™o 99390
3MbLEGOMJG™Oo:

class Rectangle:

def __init__ (self,color="green", width=100, height=100):
self.color = color
self.width = width
self.height = height
def square(self):
return self.width * self.height
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rect] = Rectangle()
print(rectl.color)
print(rectl.square())

rect] = Rectangle("yellow", 23, 34)
print(rectl.color)
print(rectl.square())

36 65d0b 999y0:

== RESTAERT: C:/User=s,/Guliko/hAppData.
gresen

10000

vellow

-

o s
g g

10.3. @gbBGvgEHMMo

M309dBHmob  3domdol  ILOYIEgdol  T9d9R
092300005 250m3094gbmm  del  m39Mo@GHmMo  dobo
d9bLOYMHd06 SFMIEOLM30L:

personl = Person("dsGms")

del personl  # dgblog©m9d0sb 9o

# personl.display_info() # gl 9gom©o 56 039do390L,
65096 personl 9339 Hodeowos IgblloMgdosb

mbs 9500b0bML, GMmI 3G0bzoddo sdol  go3gmgds
355M(30WYdIW0s,  M59gbssg  B3M03GHOL  dMdomdols

LOMEYdOL 98Iy Y39 Md0gIAH0  S3HMBGOS®
Po0degds Agblog®m9d0sb.
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3905 530ls,  Jwsbdo ga30deos  2ob3LeBL3OM™
©LEGHOWIGH™MO, _del  B53969dgmo 1bdi00L
950D gdom, HMIGE0E 259m0dobgds 56 del Mm3gHmoGHMOol
200mdobgdol  Fggao 96 mdogdBHoL  93EGH™AsGHIOO
Do0eolsls. dsgoeromaco:

class Person:

# 3006 B BHMOO
def __init__ (self, name):
self.name = name # 35996900 Lobgels
def _ del__(self):
print(self.name,"{58croos dgblogMHgdosb")
def display_info(self):
print("Q505Gx Mds, 39 305", self.name)

personl = Person("omds")

personl.display_info() # q50s6Gxmds, 39 4300 mds

del personl  # {58005 AgblogMd0H6

person2 = Person("x930")

person2.display_info() # q50s6Gxmds, d9 34305 X930

del person2  # {foderoos dgblogMgdosb

3MbLmmbY godmEsboo 89wg0:

== RESTART: C:/Users/Guliko/AppData/Local/ /I
aodofeds, 47 Odzos owmds

meds Hodemormos dgbliogfgdoaosb

podofoembs, dnp ddzos w30

w30 Hedmormos dgblogAgdoosb

>
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10.4. 3¢m3L0b g956L5BM3Ms dmEendo ©s
3ol BoMmgzs 3Omy®535d0

OmamO3  fobo,  Joligdo  obmogligds (39w 39v
dmgddo s 99992 033mOEH0MIO056  3OMAEMsTol

doMomo© 13M033HTo. 31d35m 3MM9dBHdo 33543l ™Mo
Ro00: main.py (36MHmaMsdol doMomso B3MH033H0) ©os
classes.py (L3603@0 3WSLOL FoblOBOIBOM).

B Project ~ € = | B I-

¥ [0 00P CA\Users\Eugene\Pyc

classes.py

main.py
|!ll External Libraries

classes.py 6350030 3563L5H03MOM MO Jeslo:
class Person:
# 300bLBHOJBHMOO
def __init__ (self, name):
self.name = name # 35949690 Lobgels
def display_info(self):
print("q50sGxmds, 39 d430s", self.name)
class Auto:
def __init__(self, name):
self.name = name
def move(self, speed):
print(self.name, "d0o0l LobJsGom", speed, "30/bLon")
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Person 3¢0olonsb  gomo  goblobmg®meos  3arsbo
Auto, MHmIgeroE 90ob 3sbdsbs s 9d3b move Igomo s
name 5@®M00M30. B3OOM®m gl 3¢slgdo s Jodmz0Yygbmm
obobo main.py 3M03@do:

from classes import Person, Auto

tom = Person("Tom")

tom.display_info()

bmw = Auto("BMW")

bmw.move(65)

3@slgdol Bo®m3zs bgds BMLGs© 0bg3g, Omymes
236930900 IMOYI0sb. Fga30deros Bsgbmmm dogeo

90 2odmbobgdom:
import classes

b Bogdmmm  30em3g  3wobgdo,  MHmamOE By
dsgoomdo:

39009250 800090ds:

30056 Mds, 89 84305 Tom

BMW ool boBdstoom 65 30/bod

10.5. 063583Lv9ems30s

3wslgddo  MFoom  5BHMOdMBHJI0 OOl LogMomm
P300mdol, Moz 608bogl, GMI  3MMaGsdol BgydoldogMo

5Q300Esb Fodegds Mmd09dBHoL 9GH®0dMEOL Jowgds o

dolo 93E3es. BoYIWOMO:
class Person:

def __init__ (self, name, age):
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self.name = name # 3599693 Lobgel
self.age =age  # 359969d0 sbO3L
def display_info(self):

print("bobgaro:", self.name, "\tsbyzo:", self.age)
tom = Person("Tom", 23)
tom.name="5@530560-MmdMds" #3330 name 5EHMOdMGHL
tom.age = -129  # 333w0m age 5GH®0dMBL
tom.display_info() # Lobgeo: 5530560-mdMds sbs3o: -129

39000@sbls 3gaL:

== RESTART: C:/Users/Guliko/LppData/Local/
Lsbgmo: s@adosbo-—mbods sbago: —-129
>3
dm3gdme  9gdmbggzsdo  8ga30dwos  dmbo39dgdl,
35290mMO©,  5Q5d0sBoL  sb3L 9B Lobgenl  dogsboFmon
565309430 3603369wmds, ©3Md35m, 80399NOOM
MoGYmBOMo dBs30. ALAS3LO 3935 9 9MOL LalmMzgwo,
5dodmd g0  M309dBHOL  9BHM0dMGHJODY  igomdol
3MbE®Mmob Lsgombo.
dm3gdn  3OHMOMgdoboob  9Foem 30380630
063553Lbmwsi300l 3b90o. 090 6ol ™309J& b9
060963 0Mgdmwo 3MMAE539d0L 1316396& G0
3Mb6391330s. 030 byl Mol Mmd0gdGHoL sEGHMm0dMEHIODY
3065306 030masLs. 3G®0dv)3gdol 5L
©360OMYM539d0L Python 96580 olobo Mbs asdmgzsgbomm

OMAMOE 396dM 5699 sbHo s d93DwEmm (j3mads
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donbg  L3gEoswImo  FgMYdom, MMIWIOLSE  S1939
3930000 ™30L90900.
393335 Hgmm  goblsbrgmmwo 3wslio, dsmdo
30989000 A56LsBE3GOm:
class Person:
def _init_ (self, name, age):
self. _name =name # 35996900 Lobgarls
self. _age=age # 35996900 SLo3L
def set_age(self, age):
if age in range(1, 100):
self. _age = age
else:
print(" 99390900 5b530")
def get_age(self):
return self.__age
def get_name(self):
return self. name
def display_info(self):
print("bobgaro:",self._ _name, "\tsbogo:", self.__age)
tom = Person("oomads", 23)
tom.__age =43 # age 5GHM0dMBH0 56 89033 9ds
tom.display_info()  # bobgwo: 0mds sbszo: 23
tom.set_age(-3486) # 59390900 51530
tom.set_age(25)
tom.display_info()  # Lobgero: omds sbs30: 25
39000@sbls d9gaL:
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== BRESTLRT: C:/Users/Guliko/LhppData/Local

Lsbgyemo:  oeds slispn: 23
@M3zadgmo sbajo

Lsbaermo:  ods slisp: 25
e

3969 5GHM0dMGHOL  dgLoddbgms  @sLsfiyolldo dobo
©oLObgegds Boolidgds m®MIoy GHo®gdo: self.  name. slgom
SGHM0dMAHL  89330dwo0s  dogdohmmom  dbmwmE 00539
300L0sb, Bog™Msd 396 80305(10530 53 3ESLOL YoENIb.
9525oms©, 9603369 mdol  doboFqds 93  5@GH®OdMEHBY
35x39OL 56 dma339dL:

tom.__age =43

boem  dobo 86033690 mdol  domgdol  33IwMds
909309356L g gdol 993mdsdY:

print(tom.__age)

d90dgds  a330ML,  dmdbIsmgdrols  sbvzol
3960956 30b0Fqds. 5dobomzol 0ddbgds m30L9d9d0. 9eO
30L900L 25dmygbgdom, 89230005 J0300M™M 5EM0dEOL
96003369 mds:

def get_age(self):

return self.__age

dm39de IgomElb BIoMs MHmgdab ,39BHgOL* 56
5JLglma®Us.

5b530L g3 IS ZOBLYBOZGME0s bbgs mMmz0lgds:

def set_age(self, value):

if value in range(1, 100):

self. age = value
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else:
print("©sv983909¢00 5b530")

5  B3ab  89a30dwo0s  2o930Y30dHMm®  30MMdOL
dobg30m BoFoMms My 565 sbd3oL Fg33ws. dm3gdye
d900m©L BdoMms MHMgd96 ,,LYBHIOL™ 56 BWEHIGHMOU.

39390 390dM 5GMm0dMEGHOLM30L 96 OO 930-
9090 dbs3L0 Fyz0o M30L9d0L Jgddbs. MHmamG 3, By
9525omdo  5sdosbols  Lobgwo Fga30dw0s  ©O359gbmm
dbmnE  3mbLEGHOWIGHMM06,  bmem  dowgdolomzol
39bLsBE3M™ME0s get_name IgoMO.

30099900l 56mEHS30900

bgdmo 3bsbgm GmymE dg3Jdbsom mzolgds. Python
965l 943L 300093 9OHMO - M30U90gdOL AIBLIBWIMOL MM
9939bGHmMo  bgdbo. g bgdbo  omgzswoliobgdl
bm@o30980L  go8mygbgdsl,  MHMIgdol  0fjygds @
LOdMWMMO.
30L905-393H9M0L 99Jdbolomzol m30L9dol Fob olidgds
sbm@oEos @property.
305985-9EgMoL 9Jabolmzols M30L9d0L Hob olidgds
5B6m@o305 LgEYMoL_mz0Lgdol_Lsbgmo. setter. 35©o3(9OM®
Person 3ansbo s6m@o30900L 359mygbgdoo:
class Person:
def __init_ (self, name, age):
self. _name =name # 359496900 Lobgwls
self. _age=age # 35996900 sLo3L
@property
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def age(self):
return self. _age
@age.setter
def age(self, age):
if age in range(1, 100):
self. age = age
else:
print(" 5498390900 sb530")
@property
def name(self):
return self. name
def display_info(self):
print("bobgero:",self.__name, "\tsbozo:", self.__age)
tom = Person("ods", 23)
tom.display_info()  # Lobgwo: omds sbsgo: 23
tom.age = -3486 # 058390900 51530
print(tom.age) #23
tom.age = 36
tom.display_info()  # Lobgaro: mmds sbogo: 36

39900@sbl d9gaL:
== RESTART: C:/Users/Guliko/AppData/Local/
Lsbaemo:  oceeeds sisyn: 23
@330 mo sbogo
23
Lsbyemo:  omds slisyn: 36
e
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9035J30M™  YMMo©Egds, O®md  ™30L9ds-,9EH M0
3o60LsBOZMYds 130L9ds-,39BHJMOL" F90g. 3OS STobo,

SU9GIM0G @O ,29BIO0G  Lobgwgds ghHmbsoMs - age.
09053 »39BHIOL 3J305 age, SFoGHmd ,LgBH9geoL“ Fob

59496905 sbm@o30s @age.setter. 5dob 3900099 »29BIOLIG”
@5 »,L9BHIMLIE” 00305005300 tom.age godmbabwyergdom.

10.6. 89933000M9MB0MBS

390330006M9MB0MO0L  MmMA60DGdsdo  Imbsforgmdls
90608m3 mMo 3wslo: ddmdgEo Jwsbo s 8993300069
3wobo.  dgLbodergdgeros  IMO3WMdomo  89933000M)MdO-
0OMds3, MMIoL MMLy3 09933000609 3eslo  doowgds
65096039 ddMdYE0  3sLoLYsb. FdMmdgwo b Lodsbm
3wbosb 99933000609 964 FoMdmgdo 3arsbiol dgddbols
Lob@ogLoas:
class §o60mgdm@o_3wslol_bobgaro(ddmdgero_3eslol,
[03mdgro_3esln2, ddmdgero_3wslbo_ n])

Bgdmm  gobbowyer  Fogoomdo  g0m303sbmm
9993300M)MdO0MMdS:
class Figure:
def __init__ (self, color):
self.color = color
def get_color(self):
return self.color

class Rectangle(Figure):
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def __init_ (self, color, width=100, height=100):
super().__init__(color)
self.width = width
self.height = height
def square(self):
return self.width*self.height
rect]l = Rectangle("blue")
print(rectl.get_color())
print(rectl.square())
rect2 = Rectangle("red", 25, 70)
print(rect2.get_color())
print(rect2.square())

36HMyM5dol 9990:

== RESTART: C:/Users/Guliko/LpplData/Lc
blue

10000

red

1750

i

3ob30bowmom  dsgoomo, Fg3ddbso  Lodsbm  Jerslio
Animal, bmwwaem 9999y 993J0bso  dobigob  Foedmgdmero
3wobo - Cat, GMmIgoi 399moygbgdl Lodsbm  Jawsbiol
SGHM0dMBHLYE:
class Animal :
# Constructor
def __init__ (self, name):

# Animal 3cooll 593b 1 5G®0dw@Eo: 'name’.
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self.name= name
# 8goomo (method):
def showInfo(self):
print ("I'm " + self.name)
# dgoomeo (method):
def move(self):
print ("moving ...")
# Cat 3¢05b0 dooEgds Animal 3¢olioob
class Cat (Animal):
def __init_ (self, name, age, height):
#250m0dobgds  3mBLEGHOMJGMMo FdMdgEo  3esliols -
(Animal)
#Oo0mo  ddmdgo  3eslol  mame'  5@G®OdNMBL
d0gdsaMml 3609369 mds
super().__init__(name)
self.age = age
self.height = height
#bgobemo 3563L5BOzOM™ (override) 03039
5LObYgdOL FgoOMO, M3 FIMdYGE Jarsldos
def showInfo(self):
print ("I'm " + self.name)
print (" age " + str(self.age))
print (" height " + str(self.height))
tom = Cat("Tom", 3, 20)
print ("Call move() method")

tom.move()
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print ("\n")
print ("Call showInfo() method")
tom.showInfo()

36HMyM5doL 999Q0:

== RESTLRT: C:/Users/Guliko/LhppData/
Call move () method

moving ...

Call showInfo() method
I'm Tom

age 3

height 20

i

dowom, (o®dmgdmwo  Jwslo 9993300MGMdO
0090L d900m@YOL LHdSBM 3oL, ogMsd 9933000MY

3ol d9mdeos  bgosbens  4oBLyBOgG™L  (override)
d0mdgE0 3sbol dgmMmEYdo:

class Animal :

# Constructor

def __init__ (self, name):
# Animal 3¢00bU 5J3b 1 5GHM0dGHo: 'name'.
self.name= name

# dgonmeo (method):

def showInfo(self):
print ("I'm " + self.name)

# 9goomeo (method):
def move(self):
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print ("moving ...")
# Mouse 3¢5b0 d00©gds Animal 3¢ollosb
class Mouse (Animal):
def _init (self, name, age, height):
#25000dobgos  3MbLEOMIGHMOO FdMdgero  3wsliol -
(Animal)
#6505 30090 3¢0slols 'name’ 5@GMOdMEBHL JogdogMH™U
96003690 mds
super().__init__(name)
self.age = age
self.height = height
#bgaobas  9obgLabwgdmm  (override) 0039
5LObYgdoL FgoMO, Mg FdMdYE Jerslidos
def showInfo(self):
# 95930d5bmm ddMdYE0 3slol dgmnmEo
super().showInfo()
print (" age " + str(self.age))
print (" height " + str(self.height))
#bgaobans 2563L5BOzOM™ (override) 093039
5LObYgdOL FgoOMO, M3 FIMdGE Jersldos
def move(self):
print ("Mouse moving ...")
jerry = Mouse("Jerry", 3, 5)
print ("Call move() method")
jerry.move()

print ("\n")
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print ("Call showInfo() method")
jerry.showlInfo()

36HmyM5doL J990:

= RESTLRT: C:/Uzers/Guliko/kppData/Local,
Call move () method
Mouse moving ...

Call showInfo() method
I'm Jerry

age 3

height 5

i

10.7. 365303000 8993300060 9Md0mMdS

Python dbs6L  MFqg@L  IM93emdoo  3993300MJM0-
MOl HoMdmgdero 3¢slo dgodgds dgogdbsl mMo b
39B0  LodsBM  3wsbosb. ddMdgE  3esligdl  dgodergds
3Jmbgm  gombsoMo  s@GH®odMEBd0 b goomegdo.
Pom8mgdmmo 3eslo 3GM0MmMHoEGHMs© 00gdl 99933000
9MO0MBOL BLOOWIB 5EHMOdEJOL S FJ0IMEYOL.

39630bowmo dsyoeomo:

class Horse:

maxHeight = 200; # bLsbEGH0dgEBH®O
def __init__ (self, name, horsehair):
self.name = name
self.horsehair = horsehair
def run(self):

print ("Horse run")
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def showName(self):
print ("Name: (House's method): ", self.name)
def showInfo(self):
print ("Horse Info")
class Donkey:
def __init_ (self, name, weight):
self.name = name
self.weight = weight
def run(self):
print ("Donkey run")
def showName(self):
print ("Name: (Donkey's method): ", self.name)
def showInfo(self):
print ("Donkey Info")
# Mule 3arolo 9993300MGMOOMMBsL 00gdL Horse o
Donkey 3c0sligdosb
class Mule(Horse, Donkey):
def __init__ (self, name, hair, weight):
Horse.__init__(self, name, hair)
Donkey. _init_ (self, name, weight)
def run(self):
print ("Mule run")
def showInfo(self):
print ("-- Call Mule.showInfo: --")
Horse.showInfo(self)
Donkey.showInfo(self)
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#-——- Test oo

# 'maxHeight' 33@o®0 9993300609M30m J0©gd0s
Horse 3¢05b0qsb

print ("Max height ", Mule.maxHeight)

mule = Mule("Mule", 20, 1000)

mule.run()

mule.showName()

mule.showInfo()

36HMyM5doL 9990:

RESTART: C:/Users/Guliko/LppDatas/Local
dr.py
Max height 200
Mule run
Hame: (House's method): Mule
—— Call HMule.showInfo: —-
Horse Info
Donkey Info
e

10.8. mro() 9gomeoo

mro() 9gomEo  dmEgdMmo  Jasbol  ddmdgEo
305lgdol  Bool  OM35W0gMYOoL  LyTSEIGdIL  0dEg3o.

365bm0 Jogoomby:

object

« A =

X Y | =
- o = - A
A B |
> ]
M|



Python 9bsdo pass (pass statement) 0®MJdobgds null
(396009w0) d6dsbgdol Abgoglios. 0go 3MOTFIOL 56 53900900
@5 3o3m0yYygbgds 850D, MMmEaLsg 3esllL 96 FgmmEL 96
593L dobss®lo.

class X: pass

class Y: pass

class Z: pass

class A(X,Y): pass

class B(Y,Z): pass

class M(B,A,Z): pass

print(M.mro())
36 M5d0b 990!

EESTLRT: C:/Users/Guliko/LppData/Local/F
[<class ' main  .M'>, <class ' main_ .E
n .X'» <clzss ' main .¥'», <class '
o e

10.9. isinstance ¢os issubclass g3mbgz0gdo

isinstance ®wbJgos S0mAGAL SMOL My vMS 5009

3960339900 3Ll Md0gGo.

issubclass g3mbdi300 5dm(AgAL sOOL Mg 5GS glsmOl
3@sbo bbgs 3ensliols 899330006M9.

3obgzobowmm ImEgdmeo 896430900l  LoEdmbLE)-
5300 oQ9COMO:

class A: pass
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class B(A): pass

# True

print ("isinstance('abc’, object): ",isinstance('abc’, object))
# True

print ("isinstance(123, object): ",isinstance(123, object))
b=B()

a=A()

# True

print ("isinstance(b, A): ", isinstance(b, A) )

print ("isinstance(b, B): ", isinstance(b, B) )

# False

print ("isinstance(a, B): ", isinstance(a, B) )

# B is subclass of A? ==> True

print ("issubclass(B, A): ", issubclass(B, A) )

# A is subclass of B? ==> False

print ("issubclass(A, B): ", issubclass(A, B) )

3G M5dob 999y0:

EESTRART: C:/Users/Guliko/LppData/]
izinstance('abc', object): True
izinstance (123, object): True
izin=stance (b, A): True
izin=stance (b, B}): True
izinstance(a, B): False
izsubclass (B, R): True
izsubclass(Lh, B): False
o g
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10.10. 3000m®30B30, sdLEGHMSIGHMEo
dgomo

3m@odmOHBobdo  Bsdmogdsl 0dwrgzs gOMNBs0MS©
903050Mm  Md09JBHJOL, MMIgwmSE 93  geMbsoGo
Go3ob  0bGgmhxgolo, ™®dogdBHol  Jos  MYoobogools
d0bgo35. bbgo Loyzgdom ™I 304350,
300dmO©R0BI0  00035¢0oLfiobgdl goHMbsoMo  Lobgwgdols
dJmbg 9gonm©gdol bLbgoobbgs M9oeoHgdsl. gl dsgrosb
LoloGygdms  8993300MGMOOMMOOL  OML,  GMEILSE
0903300069 3wsldo dgodegds bgwsbwrs 4sb3LsbL3OM™m
d0md9E0 3sLiol 3900MEYd0.
doowomdo 99ddboros méo 3Jwsbo - English o
French. m®0g3g 3a0sll o3l greeting() dgomeo. mMogzg Jdbols
bbgoollbgs  dolLoenrdgdsl.  dgddbogros mMo  Lbgssbbgs
009d3H0 ImEgdMEo 3asligdosb s 4edmdobgdrenos 53
™60 m009dGobL dmgddggds 9o intro g3mbd0sdo:
class English:
def greeting(self):
print ("Hello")
class French:
def greeting(self):
print ("Bonjour")
def intro(language):
language.greeting()
flora = English()

aalase = French()
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intro(flora)
intro(aalase)
36HmyM5doL J990:
EESTART: C:/U=sers/Guliko/LppData,I
Hello
Bonjour
P>

BLBEGOsdBHMo Igom@ob 56 sdLEGHMIIGHMWo 3esliols
36905 Mol olgom 969080, OmymEoEss Java, C#, Bsa6sd
LEOMWOHE 96 2oboLOBW3Mgds Python-do. 0d3s 35063 6oL
dolo oblsbE3zmOL bgdbo.  sBLEHMoJEH™Mwo (abstract) sGol
3wsbo,  MHmIgedog 239BLOBOZOMEos  HOLEHOIIEGHIWO
9900900, OMIWgdoz HoMdmgdmwds 3Jeolids bgwrsbens
b5 4oBLsbE3ZOMUL (override) vy »bs dolo godmygbgds.
SLOMIHIwo  JPomEgdo  yoggwmgol  ofjzg306
399mb53¢olL NotImplementedError.

39630bomom dsgowomo:

#50LEBHM5dGHM0 Janslio (Abstract class).
class AbstractDocument :
def __init__ (self, name):
self.name = name
#99gmmEob  459mygbgds 89w9degdgos, M589bswa3
4039 m30L 53Moaq0L d93masls
def show(self):
raise NotImplementedError("Subclass must

implement abstract method")
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class PDF(AbstractDocument):
#bgobws  20boloBOgzMML  ddMmdgero  Jmsbols
dgomo
def show(self):
print ("Show PDF document:", self.name)
class Word(AbstractDocument):
def show(self):

print ("Show Word document:", self.name)

documents = [ PDF("Python tutorial"),
Word("Java IO Tutorial"),
PDF("Python Date & Time Tutorial") ]
for doc in documents:
doc.show()

36HMyM5doL 999A0:

== RESTRRT: C:/Users/Guliko/AppData/Local/Progra
Show PDF document: Python tutorial

Show Word document: Java IO Tutorial

Show PDF document: Python Date & Time Tutorial
e

dmy3560o 85900000  ©YIMBLEBHMOMGOSL 939390l
3w0dm®OHxzoddls Python-do. Document mdogd@o d90dgmgds
Domdmp9bowo oyml bgosslibgs m®dqgddo: ( PDF, Word,
Excel oo bbgo)
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10.11. m3965GHMOg00L 3500533060035

M3905GHMMgd0lL  gosB306Mm3s>  Python-do  s6ol
99L5dgdMds  B3gEaosw )Mo  FgomYdolL  EsbIsMmgdom
3wslgddo  bgobrs  39bobyBOZO™L  9bol  Lbgsslbgs
M39M5GHMMgd0. Sbgmo IgnmE9do JgambsbzmMwos fob
@5 0mmdo MO0 boBolildom. M3geMsEMEMs© BS0MZWYds
5M5dbMmmm©  +, -, ¥, / 60dbgdo, 965990 9bol LobEoglols
1393013039,  OMIgwoi NOOMB3gYMABL  M39Mo309dL:
M309dBHol  99ddbs,  dogdBHolL  godmdsbgds  OMAMO;
xbdzool, ®mdogd@ol  9gwgdgbBHbg B0dsGmM3s 0bwgduol
dobg30m, md0ggGOL 2o9m@sbs s bbgs.
B396 339 299M309gbgomn M3gMOBHMMIIOL A9OEHZ0M-
308 BmyoghHmo dgomeo. gugbos:
> _init_ () = 3eobob 30bLEGHOMIGHMEO0, OHMIGEOE A5dMO-
dobgds m009dBHgdol 99Jabolol;

» _del () = 3wsbob ©@abEH®WYIEH™EO0, HMIgEoE godmo-
dobgds M0099GHqdob [odwobols;

> _str_ () — m309d@ob 3505ddbs bLGH®oJmbmer Foedme-
390500.  259M0dobgds, MHMELYE Md0YIBHO  §9Y(39S
print() o str() g3969453090U;

> _add_ () - 99309006 M3gMeGHMMmOL  49IEGZ0OMZ0L
9900™MQO. 250m0dsbgds, MMy ®dogBHO  dmbsfo-
@9gmdlL 89360900l ™m3gM530580 Mm3)Mbmb dobbgbs
dbm»0b;

> __setattr_ () — 59000dsbgds, ®mEgbsg md0gdEHoL sGMo-

3GHBg LOYGdS JoboFqds.
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Python 9bsdo  m39M53m®mgdol 45053300300
965350 bbgs dgommeos. 25630bomom omysb y3z9woby
bdoMo  99mygbgdswo. Lobsdwzowmgdo, M39MoEMMHGOOL
395GH3060m35  BsIMIBAsGMYOEM  3sLgddo  49dM0Ygbgds
5030l HdoMs, ™) 96 Rs3M3W0m JMBLEM™MIEGHMOU.
05650, 5yb ™d0gdBHBY ™mOH09bEGH0MIOM  I3OHMY-
65990580 SOLgdMBOL sbgoo d9L5d9dEXMdYO,
8056d9(imboos gobgobowmo bmyogmomo 99dmbgaggs.

M39605GHMMm9O0L 20O E30M™M30L  TgLodgdEMds
MBONB3ggmRl  BodmdbsGmgdrm  3sbol  Abogligdsls
Python-ob $5399690me 305LgdmMsb. g0gom, MHMI ygzgws
Bs89bgdemo  dmbszgdms Godo Python-do 560l 3wsbo.
09009290 939ws md0gd@L d90degds 3Jmbogl gH»bsoco
06@9mgxgobo. ™ md3zgbo  3wslo  omzsoliobgdls
®3099d3HolL 9ww9dgbGHBg Jodorm35L 0bgdlol dobgzom,
355¢0ms a[0], gb 890dergds MHBEOb39ymBo 0gbsb.

©5319350m 235J38 B 3005L0-536M989¢)0, MmIgeos
boodo dgoEogl A 3¢sliols md0gd@9gdUL:

class A:

def __init_ (self, arg):
self.arg = arg
def _ str_ (self):
return str(self.arg)
class B:
def __init__ (self, *args):
self.aList =[]

237



foriin args:
self.alist.append(A(i))
group = B(5, 10, 'abc')
ool 9ergdgb@ol dobomgds d9a30dwos 80335MHMMo
aList 39l 0bgdloon:
print(group.aList[1])

36 M5d0b 999y0:

RESTART: C:/Users/Guliko/LppData/
10
-

053650, LBo0bEIMLMS, OMYME 59M30090m Jergdgb@l
06009Jbo0® 1300 M309dEH0IB s G5 JobO 39EP0Ib:
class B:
def __init  (self, *args):
self.alist =[]
foriin args:
self.alist.append(A(i))
def _ getitem__(self, i):
return self.aList[i]
group = B(5, 10, 'abc’)
print(group.aList[1]) # 25dm0&sblL 10
print(group[0]) # 5
print(group[2]) # abc
3G Modob 999y0:
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RESTART: C:/Users/Guliko/AppDatas/Lc
10
5
abc
=

59350 5390090 3ol Md0gJE9d0, HMIgdoi Python-
do  Bsdgbgdmo 3amoligdo-000@g3emdgdol  (bLogdo,
LEHO0Jmbgdo, 3mMEI9d0) Md0gJBHJdOL AbyogLos. Fgmmo
__getitem__ () 390533060mo3L  0bgdlol  dobgzom
99996G0L  53m@qdol  Mm39MoEosl. bbgs Lodyzgdoom, gu
d900™MEO  259M0dobgds, MMmEILsg ®d09dBHBY LEWWYds
99396¢&0b 59mMgdol Mm3ges30s: MmdogdEolobogdlo].

DX IO LoFoOMs, GMI Md0gdEBHol J3g3> BMbIiso0L
dbaogbo oymb. o3 Bodbogl, Mm3 mvw 235J3L a mdogddo,
35806 d9330do0s Aol d0z05MMM®m  Fmbdisool bm@sgoom,
5699 Bl 8909y ©@o3L3500 M3 BMRbOWgdo
39005339 96M29963H900 Lo FoMHmqdol 9dmbggzsdo:

a=A()

a()

a(3, 4)

_cal () 8goom©o  533MIsGHMMO©  45dm0dsbgds,
OMEgLSE  md09JAL  F005M™Ms396,  OMAMOE  BbJ30sUL.
3525omo©, o 9gmMg LEAHMogmbdo dmbgds dgomeols
3o0mdobgds: _ call () oodg 3emsbio:

0099&H0 = 3e0obo()

009930 ([09L5denm 569 d96&gd0])

39630bomo dsgoeromo:

class Changeable:
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def __init__ (self, color):
self.color = color
def _ call__(self, newcolor):
self.color = newcolor
def _ str_ (self):
return "%s" % self.color
canvas = Changeable("green")
frame = Changeable("blue")
canvas("red")
frame("yellow")

print (canvas, frame)

dm39dn  dogoomdo  3sbol  3mBLEHMYYIGHMOOL
©ob3s6Mgd000  Md0YdBHgdoL  F9Jdbolol  oygbgds  dsmo
x9M0. o  dmombmggds  dobo  Fga3ers,  BsgdsMobos
®309d3HBg  d0dsrmzs 0Ly, OMmamO3  B6J305Hg  ©d
50mA9bBHol  Lobom  googEgl  sbowo  ®gemo.  slgmo
9005OmmM3d 953BHMIdGHMO® 459m0dabgdl _ call () dgooml,
OmIgwos, dmEgdmer dgdmbggzsdo, dgEzerol mdogd@ol
color 5&®0dwEAEb.

Python-8o __str_ () 9goom@ol  256MH©s Mol  dobo
dbaogbo 93930l dobggzom, FogMsd MBOM IBIEMbosbo
dgomeo __repr_ (). @039 3900m@0 s06bgdL LEGHOOJMbU.

0] 3¢09do s®ol  dbmerm _str_ () 3gomo, 35306
009JHbg  808sOHM30L5L  0bGHYM3MYBHGH™MIo  print()
23BJ300L gogdg 080 56 25dm0dsbgds:
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>>> class A:
def _ str_ (self):
return "This is object of A"

>>>a=A()

>>> print(a)

This is object of A

>>>a

<__main__.A instance at 0x7fe964a4cdd0>

>>> str(a)

"This is object of A'

>>> repr(a)

'<__main__.A instance at 0x7fe964a4cdd0>'

309dGHolL LEAHMOJMbs© A9MoJdbol d3geMds str()
B5396900  gMbd300L  obToMgdom, s3MIM3g 0dobgdls
_str__() 9goml. sbvg __str_ () 990m©O0 25053300053l
565 print() gmbJgosl, 9Msdg str() BwbJsgosl. print()
1bdzos olgs Imfigmdowo, HGMI M3000mb 0dsbgdl str()-b
05300 56MH29896EGH9d00Lm3z0L.

Python-do 560l Bsdgbgdwawo  repr() gmbigos,
OmIgog 0bYgg, OMAMEOE  str() Mmd09gdBL  39MSJdbol
LEHOoJmbo, FogMsd ,bge“ LE®Modmbo®. Asbgobowrmm
3525 0mO:

>>>a="3+2'

>>> b = repr(a)

>>>a

3 +2

>>>b
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S 9dL

"3 42"

>>> eval(a)

5

>>> eval(b)

'3+ 2

>>> ¢ = "Hello\nWorld"
>>>d = repr(c)
>>> ¢
'Hello\nWorld'
>>>d
""Hello\\nWorld"
>>> print(c)
Hello

World

>>> print(d)
'Hello\nWorld'

eval g3mbdi0o  49Moddbols 939 LEGHMOJMbL
36OHMyMdMe 3mdo, MHmIgeoa 0d3g LEMEEIds. print()
RbdEos SOOI 4oILZWSL B LEBHMOJMEDY, v
dsbdo sMmoL AsdMmYgbgdo \n Loddmeom. repr() gmbJzos
M™Igro3
06@96M3693Ho300Lysb  LBEGHMOJMmbol o33P, GH™3gdL sl
»09o@* 5649 Lofyol B3mMIsdo.

>>> ¢ = "Hello\nWorld"

>>> ¢ #365¢nmgo print(repr(c))

'Hello\nWorld'

>>> print(c) # sbsgomgo print(str(c))

Hello

dmgdggdsl,
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World

omdzs Mdg@gbo  Fgdmbgzggzobomgols repr() o str()
dmOob  2oblbgseggds o6 sMOL  360d3bgermgsbo.  sdo@ma
3obdo 53005 23bolyBO3OML  9hmo 99O
_repr_ (). 030 @53mdsbgdmwo  0g6g0s  ULEH®OJmbgdo
39M5gddbol Y39y dgdmbgggologols:

>>> class A:

def __repr__ (self):

return "It's obj of A"

>>>a=A()

>>>a

It's obj of A

>>> repr(a)

"It's obj of A"

>>> str(a)

"It's obj of A"

>>> print(a)

It's obj of A

09 BoFodOms dmbszgdms  aoblbgsggdemo  Lsbom
390m@bs, 85806 3arsliBo Mbs 49BoLIBOZOML M3gemsEHM-
900 35053300 M30L MO39 F90MO.

39630bomm 3¢slols 3MBLEOWJEHMMOL FowIBHIMMN-
30L 355¢r0mo. __init__ 8900MQO 4909EHZ0M™Mo3L 3esliols
3MbLEHOMIGHMOL:

>>> class A:

def __init__(self, name):
self.name = name
>>>a = A('Python')
>>> print(a.name) #399a0: Python
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XTI o030
05000 ©5 OHMBE FMFomds
11.1. datetime dcqyemo

056M0Ly 5 OMLME  3Mdomdol oMo
236930900 296mo3L9d oy datetime dmewyerdo 99d9A0
3wslgdol Lsbood:

date

time

datetime
11.1.1. date 3sbo

05600090056 BodMdom 30LsMYJIMo date Jersliom,
OMIgog  2oblabEgmmwos datetime Jdmwyerdo. date
009dGHolL  dgloddbges  9az30d¢0s  49dmgoygbmo date
3MbLEGHOWJGHMM0, MMIgwos 9630dY3O s 0©gdL Lod
3565993MUL: Hgao, »39, Gogbzo.

date(year, month, day)

393936500 ©15039 05M0O:

import datetime

yesterday = datetime.date(2018,10,1)

print(yesterday)  # 2018-10-01

00000656y 300l dolowgds  30LIMYGO M
today() 99onm©oo :

from datetime import date
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today = date.today()

print(today)  #2018-10-01

print("{}.{}.{}" format(today.day,today.month, today.year))
day, month, year m30lgdgd0m 99odergds dogz00Mmm

(3939 ©QJ, 039 ©s fgwo.

11.1.2. time 3gmsbio

OMLML bodmdom 25dmoygbgds time 3Jewslo. dolo
3MBLEGHOMIBHMOOL  498mygbgdom,  Tgodergds  F9oddbsls
©OMOL Md09dGo:

time([hour] [, min] [, sec] [, microsec])

3MbBLEHOMIEHMO0 396d0dI3MMEs© 0JOL Losmgodl,
Pmogdl, 09908 s 80360m(odgdl.yz9ws  3560589@60
3M09MBOWYOIW0s @5 M) OMIJ0dg  356M0TYGHOL o6
390053399, GqLsdsdolo 360d3bgermds hs0MZgds bIens.

from datetime import time

current_time = time()

print(current_time) # 00:00:00

current_time = time(16, 25)

print(current_time) # 16:25:00

current_time = time(16, 25, 45)

print(current_time) # 16:25:45

11.1.3. datetime 3¢sl0

datetime  3@osbo  gOOLOBgWosbo  FMYIEOEI6
59OM00690L  9MoELy s OMLMID  FMTFomdols
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09L5dgdMdYOL.  datetime  mdOgBHOL  FgLoddbgers
3900d¢gds 9800930 3mBLEHOWJEMMOL godmygbgds:

datetime(year, month, day [, hour] [, min] [, sec] [,
microsec))

306390-b530  356599BHM0, MMIgdoi3  FoMmdmowy-
66 Pogerl, 0398 ©@o ML, 9EOW OIS, BIMRgbO
35930 gOI0s @S 0Y) 56 F03M)D0mMGOm  Fom
360093690 ™d5L, dowom 0boE0sEoBEYds bryero.

from datetime import datetime

deadline = datetime(2018, 10, 1)

print(deadline) # 2018-10-01 00:00:00

deadline = datetime(2018,10, 1, 4, 30)

print(deadline) #2018-10-01 04:30:00

90900656y Mooy s  EMHMOL  godmbo@obs
39dm30dobmo now() dgomo:

from datetime import datetime

now = datetime.now/()

print(now) # 2018-10-01 10:29:00.083843

print("{}.{.(3{}:{}".format(now.day,now.month, now.year,
now.hour, now.minute)) # 1.10.2018 10:29

print(now.date())

print(now.time())

36HMaM5doL 9990:
== RESTLART: C:/Userszs/Guliko/LppData/Lc
2018-10-01 10:29:00.083843

1.10.2018 10:28
2018-10-01
10:29:00.083843
g g
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day, month, year, hour, minute, second ®30Lgd9000
390dgds  80300M0  MOMOOLS @S OMOL (B3I IO
9600369wmd9d0. date() o time() dgom©gd0m F9g0deEgds
d0300M®M (3539 MIMOPO S O™ FqLsdsdolo.

11.1.4. b®ogmbol MsMoWs A3MEoJabs

strptime() 39000 LEAMOJMbOL PoMOWIE YoM agdbols
Lodv)5egdsls 0deng3s. gl 99MEO 0MYOL MO 356M5FYEBHOU:

strptime(str, format)

306390 str 356053930 3MOL MIMOPOLS S OMHMOL
LEHOOJMbMwo  JobloBE3MS, bmwm dgmeg - FmEOIs@Eo,
HMIgoE 2obloDdEgmagl M) HMYME sGHOL gobmsglgdmwo
05M0oLS 5 OMOL  3ve39wo  bsfowgdo  5d
LEOogmbdo.

RMOI5GHOL  2obLBLZMOLMZOL  Jga30d0s  ASTM30-
49bmm 99890 3Mo:

%d: g Mogbzol Lsboom

%m: m30L ®ogo@mo bmdgmo

%Y: §90 MO0 0sbmogol Lobom

%Y: 900 4 »sbMoyol Labom

%H: L0 24 L55M0SBO BMEOT5EH0

%M: oo

%S: lodo

bbgoolb3s BMMTSEJOOL godmygbgds:

from datetime import datetime

deadline = datetime.strptime("10/10/2018", "%d/%m/%Y")
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print(deadline) # 2018-10-10 00:00:00

deadline =  datetime.strptime("10/10/2018  12:30",
"%d/%m/%Y %H:%M")

print(deadline) # 2018-10-10 12:30:00

deadline = datetime.strptime("10-10-2018 12:30", "%m-
%d-%Y %H:%M")

print(deadline) # 2018-10-10 12:30:00

11.2. m396530900 00560090y
11.2.1. 0560005 ©s MMl FMMI>GH0MYdS

date o time Md09J3H9go0L BMOIsEH0MIGOIOLMZ0L MOOZY
3obdo Qom35¢0olobgdmwos strftime(format) dgommeo. gb
8900m©0 dooegdl dbmEMmE gHm 350539 GHML, OHMIgEos
d0momadL BMOIsBHBY, GMIgrdog bs 2MHI0Jdbsl
056000 56 MM,

RMOISGHOL 4obLEBOZOMOLMZ0L F9a30dE0s A5TIM309Yg-
b gm®HIsGHoMmgdool Bsdmmzwowo  3mgdoEsb gMom-
96»0:

- %a: 3306008 EEOL sdMY305EWGS. dsgowoms©, Wed -
Lo®dygzoLasb Wednesday (@ugdooom  459m0ygbgds
063c0b)H0o Eallsbgrqds);

- %A: 330600L Y LOYIWS, Fogowoms, Wednesday;

— %b: ®30L ©sLILYEIGOOL  SOMYZ05ENIES.  BORIWOMI,
Oct (October);

- %B: 030l slabggds LS. Joseoms, October;

- %d: ®30L 9 d93b9dE0 brywom. Jsaseoms, 01;
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%em: 0730b beado, Bgligdryo B)roo. Aiyroonx, 05;

%y: 9000 60 0sbMogom;

%Y: (900 4 »sbGoyom;

%H: L5500 24 1550560 BMOTSEGHOM. FoQOTOMS, 13;
%l: L5530 12 L5530360 FMOT>EHOM. FoQdE0MS>, 01;
%M: §9o00;

%S: §)500;

%f: 30360(500;

%p: 35B39690900 AM/PM;

%c: 0500 S O™ BMOI>GH0MGOo Jodoboty
Locale-oo;

%X: 050000, BMMI>EH0MYd0 dodobstg Locale-mo;
%X: MM, ZMEOHIEH0MJOMwo dodobsdg Locale-0o;

Lb355Lb3s BMOToEOL 25dmyqbgdol Jogowomgdo:
from datetime import datetime
now = datetime.now()

print(now.strftime("%Y-%m-%d"))

print(now.strftime("%d/%m/%Y"))

print(now.strftime("%d/%m/%y"))
print(now.strftime("%d %B %Y (%A)"))
print(now.strftime("%d/%m/%y %I:%M"))

30590l 999y0:
== RESTRART: C:/Users/Guliko/hpplData/Loca
2018-10-01
01/10/52018
o1/10,18

01 Cctober 2018 (Monday)
0110518 11:05
e S
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©30om M308 s EEOL ILEHYEGISL A5TMOESBL
0byerobydms. vy a30bs  dodobsg  Locale-ols
3990ygqgbgds, Hobslffot Mbws ©sgz59gbmo locale Imgyerols
259myabgdoo:

from datetime import datetime

import locale

locale.setlocale(locale.LC_ALL, "")

now = datetime.now/()

print(now.strftime("%d %B %Y (%A)"))

11.2.2. 056005 ©5 @OHMDBY 56000393030
™39M530900

05M00gdmsb  3MFsmdol  OML  bdoMms  LyFomms
65039 05Ol ©ogdsGHML 96 250MI3eEIL OHMOL Mo0dY
9995090. 5dobsm3golL datetime dmYendo 4obLsbBLIMME0s
timedelta 305b0. BoJBHMOIM035, gb 3sLO FoBLEBOZMEZL
©@OMOL MM 3960MEU.

©@OMOL  FMogEol  obloBzMOLmzol  dgodergds
timedelta 3006LEOw)JEHMOOL godmygbgds:

timedelta([days] [, seconds] [, microseconds] [,
milliseconds] [, minutes] [, hours] [, weeks])

3MbLEGHOWJHMOTo 096303 PoI339dD
©O990L, §o990L,  FozMM{odqdl, dowrofsdgdl,  Frmmgdl,
Losmgdl s 3306099dL.

3963L5BOzOM™ M589b0dg 3gBoMmo:

from datetime import timedelta
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three_hours = timedelta(hours=3)

print(three_hours) # 3:00:00

three_hours_thirty_minutes=timedelta(hours=3,
minutes=30) # 3:30:00

two_days = timedelta(2) # 2 days, 0:00:00

two_days_three_hours_thirty_minutes=
timedelta(days=2, hours=3, minutes=30) # 2 days, 3:30:00

timedelta g5dmygbgdom dga30dwos F933G0dMmm b6
39003530 M® MIMO0MIDO0. FoZOLO0MO, F0Z300MD MIMONO,
6MIgoE 046935 Mo ol d909y:

from datetime import timedelta, datetime

now = datetime.now()

print(now)

two_days = timedelta(2)

in_two_days = now + two_days

print(in_two_days)

d00gdo 99Ya0:
== RESTLET: C:/Users/Guliko/ZppData/

2018-10-01 11:21:42.700725
2018-10-03 11:21:42.700725
>33
39303M0 M5 OM 0gm 10 Lssmobs s 15 fmmols 396,
13943HMOMH03500 8080bsMg OML MbEs odmzs3wmom 10
Loso o 15 ffmoo:
from datetime import timedelta, datetime

now = datetime.now/()
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till ten hours fifteen minutes=now-
timedelta(hours=10, minutes=15)

print(till_ten_hours_fifteen_minutes)

d00gd o Fgao:

== RESTAERT: C:/Users/Guliko/hAppData/
2018-10-01 01:09:46.2494223
e

11.2.3. timedelta ®»30L9ds

timedelta 3¢sbl 5J3l M989608g M30Lgds, MMIgEMS
©H356M9000 893300¢005 J0Z300MM OMOMO F495¢gO:
> days - 53619690l ©©)9OOL MoMOIbMdLs;
> seconds - 50(v690L {900l Gom@bmdls;
» microseconds-506M+9690L 303MM{odgdolL Mom©gbmdsL.

total_seconds() 99om©oO dMW69dL §odgdol LogHomm
(509bMdsL, MMIgedon dgol MYgdoE, ™300 (99003
5 0360 M59900.

35290MI@, POZ0PMNM OS5 OOHMOMO 3JMHOMPOS MO
5oL ImMol:

from datetime import timedelta, datetime

now = datetime.now()

twenty_two_may = datetime(2018, 10, 4)

period = twenty_two_may - now

print("{} g {} §>d0 {}
dozemmfsdo".format(period.days,period.seconds,

period.microseconds))
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#1 ©wg 47995 {jsdo 792386 dozcmmfsdo
print("buyeo: {} fodo".format(period.total seconds()))
# Logam: 134328.322065 (jodo

11.2.4. 005600900 9900561905

(oEb3z900Ls @s LBEBHMOJMbgdOL BLS3LO MOMOWYdO
090dgds  99355MM® 996900l LEHobIOEH Mo
M39653HMM700L Eobds®mgdom:

from datetime import datetime
now = datetime.now/()
deadline = datetime(2018, 10, 1)
if now > deadline:
print("36G0m9J@ob BsdsMOOL 35005 4930s")

elif now.day == deadline.day and now.month ==
deadline.month and now.year == deadline.year:

print("3Gm9d@ob BsdsMgdolL 3500d L")
else:

period = deadline - now

print("©o®Ps {} wg".format(period.days))
print("gbe»s 56ob:", now)

36HMaM5doL 9990:

== RESTART: C:/Users/Guliko/LppData/Local/
Ifeddol Rodufigbol ooy Bogoms

Qbemy Sfoli: 2018-10-02 10:57:40.143283

FEE
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XII ov030

3058303790 0bEgMxgolols 3gddbs
12.1. 3sbs@mmol gsbx®ols 89Jdbs

939569 390H0MmETo 3053500 FOMPMs 09gbgdls
3655303 0639HBgoLL, MMIgEoE 39(30egd0om dmbgeby-
dm0s  dmdbIoMmgdEolo;mgol, 30Mg 3mbLmero. Python
©36MOMYM59900L 9bol  obBsGgdom, slY3g  Fgodergds
39043bsl M5830379w0 3OHMaMsd9d0. sdolsmzol Python -do
©Ndowom  453m0yYygbgds  13gEosEMMo  3m33MbY6EHYOOL
Bogbgdo - tkinter, Mmdgeoi dobsfizmdos  (39¢0 39090
B539690@0 Mmool Lsbom, MMdgwwog 9903938 Y39es
LoFoMm Mox30379w 3m33mbgbBHL - ows390L, GH9duBHMe
39090l o 5.9.

30583030 3OHMyM5dg00L d9ddbol LsdsBM dmIgbEo
5oL Bobx Mol d9ddbs. 9999 BobxsMST0  ©9TE DS
369830310 063gORIoLOL Yyz9ws sbs@Bgbo 3033mbgbEo.
sLsHYyoldo 93§65 oM 3030 BobxsES:

from tkinter import *

root = Tk()

root.title("go6530329mo 36MyMsds Python-bg")

root.geometry("400x300")

root.mainloop()

205930399000 Gobx Mol GqLoddbgws 35dmoyqbgds Tk()
3MbLAHOMIBHMOO,  OMIgGEog  2oblyBOzmwwos  tkinter

dmedo. 99bsdabgero Gobxs®s root (33c0oL dogboFgds

254



@ 90  (33Woom  99330d0s  305ODmM®  Bobx Mol
5GHM0dBHJd0.  39Odme, title() TgomEOL  IHTsMGOOM
990dgds  Robx ol Lomom®ol  ©oggbgds,  geometry()
9900mEol  EsbsMmgdom - BobxMHolb BmIgoo. BMIgdol
©oLYgbgdo geometry() 890m©To 49593995 LGHMOJMbo
1m®dsGHdo "bogsbg x LOToMEg". M) IBIOPOL BIbKX MO
99J9bolisl  geometry() 9gom@o 96  259m0dobgds, 9sdob
Robx MO 0353908 0d LogzMEgL, MMIgwos LsFomMms Jos
099500396030 256L5mo3L9dEs.

796X OOl sLsbgzobmgol LsFoMms mainloop() dgomeols
399mdobgds, MHMIgEog 2o9dzgol Bobx Mol bomdowgdols
©59M 8539006 303l IMABAsMGOYEMIb MO0 GOHM-
doLm30UL.

3Mm©ob 25039001 999250 0300930  (35M09E
939bx oGl
[ § aetapogmoe dGoy@as P".,fthon-cbal. =IAC ﬁr
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12.2. mogms3900

tkinter 9903936 3M33MbB9Y6EHJdOL  b530IYAL,  OMIen-
053906 9MH-9gM05  QOES30. OZSTIGHMD  VOES3I0
SN HRIOM IR

from tkinter import *

root = Tk()

root.title("GUI - Python")

root.geometry("300x250")

btn = Button(text="Hello")

btn.pack()

root.mainloop()

©0530L dgbodadbgemo  Asdmoygbgds Button() 3mbLE-
Ond@Gmeo. 58 3mBLEGOWJGHMMTo  text  3965dgGHOOL
©ob3sMgd00  F90dgds Qows3oL  BgduBol  d9dabo.
9099963900l borgsMmdobmzol  3sdmodsbgds  pack()
3900q0. 3000905 890 9y0:
(@ GULua Python o o[ [ |

Hello
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3oW39Me  3m33mbab@L, s FmGOL os3ll, o3l

3090 MH0Yo 5BHM0d3HJd0, MHMIGO03 293 gbsly SH9bgb
ol 30D995e0HY0sHBg s OMIWgdoE F9godergds 535ymo
3MBLEGHOJEHMMHom:

from tkinter import *
root = Tk()
root.title("GUI -Python")
root.geometry("300x250")
btn = Button(text="Hello", # ©@ogs30L ¢gdu@o
background="#555",# @ows30L gmbol ggGo
foreground="#ccc",# &9JLuEHob ggeo
padx="20", #39893> LEDBOZHO0B 3MOOBMBE MO
pady="8", # 390935 LEBOIM0ILE 39O EHOI>WYMS©
font="16")  # 3M0xEHOL Lodsmeg
btn.pack()

root.mainloop()

# GUI -Python =RECN X

e =
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pady, padx, font 3s6599BHM9gdo0 00gd96 Gogbzom
36039369 ™mdsL, bmenm background s foreground 3565993~
6900 009096 39gOOL 9d3bdgE™mdom 603369 MdLL. font
35653930 9903536 IH0REOL 2obLsBL3MSL.

Button 3mbLE©OWJE™OL Fgmderos dooeml d99gy0
35650936 900:

Button (master, options)

master 356059930 §oM0moagbl  ¥dmls ddMdYE
3mbGH90bgm"Bg.  gobbormen  Jgdmbgzgzsdo gl Fgodewgds
4MBOOYm M3000 30303290 Bobxs®s s B39b 99a39dwom
©5339f9®o:

from tkinter import *

root = Tk()

root.title("GUI - Python")

root.geometry("300x250")

btn = Button(root, text="Hello")

btn.pack()

0¥) 330 0g3bgds 900 Gobxs®rs, 35806 Mowrs30 s
bbgs Bgdobdogmo 9wgdgb@GHo ©wBow o, Fobmsgzlgds s
0obxo®sdo. 53  Ggdmbgzgzsdo 3060390 3565TgBHOO
0900¢gds 250Mm3EM3M®M, MMM BJS Fo350mMgddo. 0wy
3m©do 0ddbgds 599608y Bobx GO, 85306 Tgy30dw0ds
Button = 3mbLGOMIBHMOL 490533900  d3Mwo  LsFoMm
RobXR MDY, TgmMg 356M09gBHM0o - options {oMBMmogbL
356599900l 6536M9dL, HMAgdo@3 993300¢005 ©I3599bmm
om0 Lobgwrgdol dobgzom:
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activebackground: ©ows3ol  g¢gMo, O™ 0O
0994m93905 8 F)MH0 3MI>MgMd5d0;

activeforeground: ©os3olb GgduBHolb BgMo sFgMHoE
9 MB56M9Md580;

bd: LyBEZOOL Loldg (Moo 2)

bg/background: 005306 gmbol ggeo;

fg/foreground: ows30L 3H9duEHOL BgeO;

font: BoduBHol TOogEHO, Togowomsq, font="Arial 14" -
Arial 3Mog®o, 14px Lodsewom, o6 font=("Verdana", 13,
"bold") - Verdana dGog@o 13px Lodsmeroo dlbgoo
Lobdoom;

height: 0os30L Lodsery;

highlightcolor: o530l g6, GMmEILsE 080 BFM3MLTos;
image: 2590mbobegds O 3DY;

justify: @gduEob aobfim®mgds. LEFT 0oUfm®Mgdl &gdub
domEbgbs  3000qLmsb, CENTER - (396¢0%%g, RIGHT -
9o6x3965 30009Lb;

padx: ©oos3ob dgfigzs  GH9JuBodg TomEbbosb o
956mx3600056;

pady:dgfiozs  Lobw3zmHosb  BHgduBodg Hg30wsb s
3303000

relief: 456LsbBEZMH3L LobL3MOL FH03L, 9g0dEgds JoowMmls
360093690 md900: SUNKEN, RAISED, GROOVE, RIDGE;
state:5949690L o 30l 3yMIMHIMOLL, G90dwgds Joommls
360083690 md900: DISABLED, ACTIVE, NORMAL (q000cm00));

text: ©5599bgdl o530l BHgduBL;
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— textvariable:sbm®3ogargdls 30ddsl StringVar 9egdgb@ by

— underline: 30wOMYBL  OEIL  GHgJuHBg  0d
LoddMEML 6MIgHBY, HMIgwoE 2o0bsHgds. mdowom,
3603369 mds -1, 5699 563902000 LOFdMEPM 56 Q50bsBYds;

- width: @oos30L Logsbg;

— wraplength: ©s©9gd0m0 36033690 MdOL O™ Mos3bY
A9JLGHO 39050EHBgds bbgs LBGodmbby.

12.2.1. 00530l ©539M0ol ©sdw)dsgzgds

©os3bg  ©oFJMH0oL LM Ts39ds  LoFoMms
3MbLAHOMIGHMOTo  ©oygbgl  command  3o6539EHO0,
2bJ30sbg 3dmwol doboFgdom, GMIgoi 938530900
©5396M0Lsb:
from tkinter import *
clicks =0
def click_button():
global clicks
clicks += 1
root.title("Clicks {}".format(clicks))
root = Tk()
root.title("GUI - Python")
root.geometry("300x250")
btn=Button(text="Click Me", background="#555",
foreground="#ccc",
padx="20",pady="8",font="16",

command=click_button)
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btn.pack()

root.mainloop()

3Mm©do ©FgMolL ©sddmdogqdgeo Mol click_button
Rbd30s. 99 BMBJ30580 03330 gds AEIMISMVIMO (33¢SQO -
clicks, ®mIgeog 0b6sbsgl off3o39d0ms MHmEbgl s dobo
96003690md5 95935 BbxOOL Lomsm®Tdo. sLgmo Lbsbom,
©053Hg LEIMOMIME OFIOOLSL 5dw9dsggds click button
2bJ305 5 (393908505 MrMEYBMBS QO0BOYDd:

§ Clicks 4 ESER)

12.3. 9a09996@ 900l 030198900l dg33es

O30l  5GHMOdMGOL,  Bogowoms®,  B9duGolb
d9bo33gs  dgodengds StringVar 89959060
90wgoeo  3033mbgbEoL  9o8myqbgds. Bsl 5gd3lb  mMo
9d9oMEO:
> get() - 506MHbgdl LGHMOJmbL StringVar - ©s6;
> set(str) - 99053y453L LHModmbo StringVar-do.

StringVar  m309d®Hol  30D5mMo  gagdgb@ol
A9JuAH9b oL393806MgdsE 5T 9egdgbEHoL 3MBLEHEMMI-
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G™6do <bs  ©iYgbgl  textvariable  3565d9GHGo0.
©53)03500, QO d3bY MM 306> HJuAOL Fgazers:
from tkinter import *
clicks=0
def click_button():
global clicks
clicks +=1
buttonText.set("Clicks {}".format(clicks))
root = Tk()
root.title("GUI - Python")
root.geometry("300x250")
buttonText = StringVar()
buttonText.set("Clicks {}".format(clicks))
btn=Button(textvariable=buttonText, background="#555",
foreground="#ccc",padx="20",pady="8",font="16",
command=click_button)
btn.pack()

root.mainloop()

09396995 buttonText (33¢05000, G®MIgelsg 9J3L StringVar
G030. dobmzol sggbgds Lofgolo 360d369ermds, 989y
btn (330 993530060 gds 93  GHYJuAHL  textvariable
356599GH®om.  LodmEmm  xs880 ows3bg  ©oFIMHOLLL

390333905 dobo GHgdu@o:
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r § GUI- Python

Clicks 3

=

StringVar 3m33mb96&0l 96 dobsfigomdos dmgeo

Gogo  Abasgbo  3m33mbgbEgdo  Bmbsggdoms
G03900Lm30U:

— IntVar

— BooleanVar

— DoubleVar

Lbgo

05250mo©, 993399 LEG®oJmbo 393939069~
00bs IntVar (33eomob o go8mag9@obs  ©ofh303gdsmo

50 9bMds:
from tkinter import *
def click_button():

clicks.set(clicks.get() + 1)

root = Tk()
root.title("GUI - Python")
root.geometry("300x250")
clicks = IntVar()
clicks.set(0)

btn = Button(textvariable=clicks, background="#555",

foreground="#ccc",
padx="20",pady="8",font="Verdanal3",
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command=click_button)

btn.pack()

root.mainloop()

" # GUI- Python el o= e |

solb  Ubgs  bgdbo,  GmIob 2990yg9bgds

dmbgMbgdmeos 35906, GmEaLsg LoFoMms 3ma3mbgb@ol
565 35OGM 39duBHOL, 5539 B3 356M539GHMOL 33X0EGdS.
9L bgEbO FPMISMYMBL gergdgbEobomgol config() dgormeols
3990dsbg0530. 35900MOQ, J5dMm30Ygbmo config dgomeo:
from tkinter import *
clicks =0
def click_button():
global clicks
clicks +=1
btn.config(text="Clicks {}".format(clicks))
root = Tk()
root.title("GUI - Python")
root.geometry("300x250")
btn=Button(text="Clicks 0", background="#555",
foreground="#ccc",padx="20",pady="8",font="16",
command=click_button)
btn.pack()

root.mainloop()

264



12.4. 9em9396@0L 3mbogombomgds
Robx 90500 99dgbBHgdol 3mBogombomgdolmgols

209m0yqbgds  Lbgoslbgs bgmbo, MMIgEmosash y39wsby

3560300 9e9gd9bEobmzol pack() Igomob godmdsbgds. gl

99000 J00©gdL 999 356589EHMIOL:

expand - 0¢) True-b GHmEo0s gagdgb@o 035390l 3mbEgo-
Bg6ol doger LogMEgL;

fill - 39BLYBOZMOZL, 9EgTgbEHO Fo0dEGOS M) 3G, MOMS
3953L0b 0530LvRs0 LO3MEY 0MHY3E03. 53 35659gBHMTS
d90dwgds doommb  d9dgao 9603369 mdgd0: NONE
(@Mdoom, 9ugdgb@Go o6 go0dwgds), X (503¢gds
dbmEmnE 3m6M0BMmbGHIWDHY), Y (3508gds dbmerm
3003035wbg) s BOTH  (3m6®mobmb@Hoswbg o
390H035bY).

side - 9agdgb@l 255056506l 3MbEHI0bgMOL gMo
db®osb. Jgodegds doomml  360d3bgcrmdgdo: TOP,
BOTTOM, LEFT, RIGHT.

35250MO©, 2930oWMM POWS30 TMIGE BMOAsDY,

expand s fill 366539900l godmygbgdoo:

from tkinter import *

root = Tk()

root.title("GUI - Python")

root.geometry("300x250")

btnl = Button(text="CLICK ME", background="#555",
foreground="#ccc",
padx="15", pady="6", font="15")
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btnl.pack(expand = True, fill=BOTH)

root.mainloop()
399m304gbmo side 3560599 0:

from tkinter import *
root = Tk()
root.title("GUI - Python")
root.geometry("300x250")
btnl = Button(text="BOTTOM", background="#555",
foreground="#ccc",
padx="15", pady="6", font="15")
btnl.pack(side=BOTTOM)
btn2 = Button(text="RIGHT", background="#555",
foreground="#ccc",
padx="15", pady="6", font="15")
btn2.pack(side=RIGHT)
btn3 = Button(text="LEFT", background="#555",
foreground="#ccc",
padx="15", pady="6", font="15")
btn3.pack(side=LEFT)
btn4 = Button(text="TOP", background="#555",
foreground="#ccc",
padx="15", pady="6", font="15")
btn4.pack(side=TOP)

root.mainloop()
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rq? GUI - Python [F=EGES)

LEFT RIGHT

- EER

side o fill 356599@M9d0L 3mdd0boMYGdO® gegdgbEo
3900905 350850l 3963039 YMS:
btnl = Button(text="CLICK ME", background="#555",
foreground="#ccc",
padx="15", pady="6", font="15")
btnl.pack(side=LEFT, fill=Y)

place 3gomo

place() 9dgmmEo 3mDBoEoMmboMgdol  356M5d9EHMYOOL
MO BMLEHOIE 9HYMdOL Bodwmoegdsl 0deg3s. 030 0PIGIL
999099 356599EHM90UL:

height s width - 9wgd9b@ol Lodsmeg s Logsby
304b9e9dd0;

relheight s relwidth - 5bg3g Loy s Loysby,
9058 3603369c0mdolL Loboo godmoygbgds float Moibgzo 0.0
s 1.0 9995¢09do, MHMIgerog 8099m0mgdl BLosME0b s
Los60s6 FdMdYE0 3mbEJobgeol o by;
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X 5y - 9w9d9b@Hol gobmsglinds 3mMobmbEHbg o
39603035wbg  30dugegddo  3mbEHgobgMol  dotbgbs
D905 390bglmsb J0TsMMNGOOM;
relx o rely - 51939, 3399¢93L 9gdgbEHoL 4obmozLYdLs
3OO0BMbEGHY s 39MGH0350DBY, BoaMsd d60d3zbgemdols
Loboom godmoygbgds float Gogbzo 0.0 s 1.0 dmoergdo,
OMIgwos  30momgdl  LOTsVEOEIb s LoYIBOWIH
d0mdgo 3mbEHgobgMol Howmby;
bordermode- §35d¢93L 9agdgbEHol LobL3MOL BMEOToB.
990dwgds doomml INSIDE (wdowom) s OUTSIDE
96003690 mds;
anchor - @559gbgdls 9e9dgb@Hol  godol  Mm3309dL.
d90d9ds doommb 3609369 mdgdo: n, e, s, w, ne, nw, se,
sw, ¢, O™Igdo3 s®ol 99dgao 99dm3zwgdgdo: Noth
(BMomgmo - Bgs), South (bLodbOgmo - J3gs), East
(60dMbogargmo - FoMxggbs), West (obogengomo -
dom3bgbs) s Center (396¢OBY).

39290mMo©, A9635m3bM™m oS30  Loasboom 130

304b9eo s Lodseom 30 304Lgwro Bsbx Mol (396¢HDY:

from tkinter import *
clicks=0
def click_button():
global clicks
clicks +=1
btn.config(text="Clicks {}".format(clicks))
root = Tk()
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root.title("GUI - Python")

root.geometry("300x250")

btn = Button(text="Clicks 0", background="#555",

foreground="#ccc",
padx="20", pady="8", font="16",
command=click_button)

btn.place(relx=.5, rely=.5, anchor="c", height=30,

width=130, bordermode=OUTSIDE)
root.mainloop()

Mbs  500b0dbml, Mmd place() dgormol  yodmyg-
Bgoolols 96 by godmoygbmor pack() FgoomoO, Goms
9999630 gobgl borgso.

39635003Lmm Bsdo Yo 30:

from tkinter import *

root = Tk()

root.title("GUI - Python")

root.geometry("300x250")

btnl = Button(text="x=10, y=20", background="#555",

foreground="#ccc", padx="14", pady="7", font="13")
btnl.place(x=10, y=20)

btn2 = Button(text="x=50, y=100", background="#555",

foreground="#ccc", padx="14", pady="7", font="13")
btn2.place(x=50, y=100)

btn3 = Button(text="x=140, y=160", background="#555",

foreground="#ccc", padx="14", pady="7", font="13")
btn3.place(x=140, y=160)

root.mainloop()
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§ GUI- Python O | B |-

x=10, y=20

%¥=50, y=100

x=140, y=160

grid dgomeo
grid  9gomEo gwgdgb@Hol 3dmbogombodmgdoliomzol

0ygb90L Lbgs doamdsl. 0g0 9wgdgb@ol 2sbLsbwzm

X500 296mogLYdoL Lodwowrgdsly odenggs. grid dgomo
800093l 999 356599BHEQOL:

column - bgg@ob bmdgMo, Sm3ws 0fYygds bmwoEIb;
row - bGMogmbolb bmdgeo, 503w 0fjygds 69oEsb;

columnspan-Gudrio g0 s o P
rowspan-GudcogBo oo s 0z gt
ipadx o ipady - 99093900 3m6O0bBMbEGHIMOHI©O
39603030 Ms@ dgLodsdols 9ugdgbEol Lsbw3m0LHb
dol ¢9Jdu3o8Y;
padx @5 pady - 09093900 3m6OH0bMbGHIMOMHI©0
39603030 Ms©  dgLodsdols  do@oL YOOl LoBE3-
0056 9193963 0L LoBO3MAY;

sticky - 99396@0l 35m9b506M9ds X G®sdo, M) MM

9099963 Bg @oOos. 990degds doomml 360d3bgermdgdo: n,
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e, S, W, ne, nw,

se,

SW,

MOmIgdog  B3969096

3905653693900L T9Lodsd0L J0TSMHMYEGdSLS.

3963L5BOZ3OM® 15 9 YOS 30LY6:

from tkinter import *

root = Tk()

root.title("GUI - Python")
root.geometry("300x250")

for r in range(3):

for c in range(3):

btn = Button(text="{}-{}".format(r,c))

btn.grid(row=r, column=c, ipadx=10, ipady=6,
padx=10, pady=10)

root.mainloop()

[ ¢ GuI- Python ESEER ™)
0-0 0-1 0-2
1-0 1-1 1-2
2-0 21 2-2
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12.5. Label - ¢9du@aco 39

Python-do @&gdudmMo Fgqdo Fomdmoygboos Label
9gdghhom. b gwgdghho  LHahog®o  GadbGHob
39903960l Bodwmogdsl 0drgzs, MgsdGHocMgdol dglod-
g0 MdOL o69Ty.

Label  g@gdgbBol  9gboddbgero  299moygbgds
3MbLEGHOWIBHMM0, HMIGo 00JOL MG 356599EHEUL:

Label(master, options)

master 35659930 (oMmBmo9bl 33/l Fdmdg
3M6@&90b69MBg, bmerm options 356599BHM0  HoMdmoygbl
39999 LobgEYdME 3565993 MgoL:

— anchor - @9du@ob 3mbogombomgds;

— bg/background - gmbmGo g9gMo;

— bitmap - 33wwo 59mbobEgdsbY, HMIgEoE s50LObYdS
J)by;

— bd - 3oL LsBrz®oL Lobdg;

— fg/foreground - &9JuGHoL ggeoO;

— font - &9duBHol FGoREO, dsxowomsq, font="Arial 14" -
Arial 30g@30, 14px LOJoOom;

—  height - 993960l Lodomwny;

— cursor - 53306 358396900l 3MOLMOO  Fqbg
dosbermggdolsls;

— image - 33o0 oBMbobMEgdsby, MMIgEoE s0LEbgds
3©90;

— justify - ¢9duEH0b 4o05bsdMgds; LEFT, CENTER, RIGHT;
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— padx - 99(935 993960l LEBOZMOL ol FHgduBodwy
956x 360056 5 FoG3bb0IB;

— pady - 395935 9e939b6GHOL LEBEOZOHOL ol EgduEoedwg
0930056 ©s §39300095;

— relief - 2oBLOBEOZM3L LBzl GHodL, Mo om
360083690 mdss FLAT;

—  text - ©5949bgdL Fool GgduBl;

— textvariable - 5353806090l StringVar gargdgb@omab;

— underline - dow®oMIdL OELIOL  BHYJuBol ol
LoddMEML bMIgHBY, MGG 2o0bsHgds. o om
3600369wmdss -1, b sOEgOm0  LoddMEEm 96
3o0boBgd;

— width - gengdg6E 0ol Loysby;

— wraplength - ©s©gd0mo 360d369ePMdOL ML 3H9duEHoL
LEH0JMbgdO Fo0E9bgds.

6Ol RobxsMsdo  498m30Gbmm  BoeEHo30

Gadbdo:

from tkinter import *

root = Tk()

root.title("GUI - Python")

root.geometry("300x250")

labell = Label(text="0b®sb 05F53500560", fg="#eee",

bg="#333")

labell.pack()

poetry = "JoGomo  3sOGHM  9bss?\ndoGomemo
Joermzgwm ®(99655\nIgH051\ndgoLHgMss\nbw3s
OHm\nodmgbss!”
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label2 = Label(text=poetry, justify=LEFT)
label2.place(relx=.2, rely=.3)

root.mainloop()

A9JuBHoL Lbgs LEAHMOJMEBY AoLsEObs© Fgodegds \n
909893M™d0L Q5dmMy9bgds:

[ § GUI - Python

debfsh ds Figafosbo

Jefromnn Bufdem nhaa?!
Jefrormemo Jaforgneeo GffagEsl
rBnfaorns!

Bomobfgfasl

B3 ol

ndrgabasl

12.6. Entry - 99560l ggero

Entry gwgdgb@o §o63moaqbl  @gdu@ol  dqLo@eb
39wL. Entry 3mb6L@6Mmd@mmo 00qdl 9999y 356599GHM9dL:

Entry(master, options)

Logo@3 master 5MHOL  dIMo  FIMdJ  Robx MDY,
boeoe options - 9990090 356599GHM9d0L 65369d00:

—  bg - gmbol g9gMo;

— bd - LEBEO3OOL Lobdo;
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— cursor - omoa30L  d5B39690¢0l  3MMLMGMO  B9duEM®
3956 do@sbolsl;
- fg - 3adbob Bgoo;
— font - 39JuGob IOoxG0;
— justify - 505650693l F9gdu@l. 96083369 mdgd0s: LEFT,
CENTER, RIGHT;
— relief - 25BLsBO3M3L LEBOZMOL FHO3L, Moo’
9600369emdss FLAT;
— selectbackground - godmymaowo Ggdu@ob 3GmedgbEol
13mbols 39G0;
— selectforeground - 359mgmgzowo &9gdu@ob ggmo;
— show - 0de935 Bo@sdl dgLs@sbo Loddmemgdobmgzol;
— state - 99396GHOL MMM, Tgodergds dooml
360093690 md900: NORMAL (©doerom) s DISABLED;
— textvariable - 5353806905 StringVar 9wgdgb@osb;
— width - 9e0gd96E0b Loysbg.
3963L0BOzmm»m  Entry 9gdgbGo ©d  0ows3bHg
53900l go8m30gl dobo  GHgJuBo FIw3g Bobx M0
396¢ymdobgdoo:
from tkinter import *
from tkinter import messagebox
def show_message():
messagebox.showinfo("GUI Python", message.get())
root = Tk()
root.title("GUI - Python")
root.geometry("300x250")
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message = StringVar()

message_entry = Entry(textvariable=message)

message_entry.place(relx=.5, rely=.1, anchor="c")

message_button = Button(text="Click Me",
command=show_message)

message_button.place(relx=.5, rely=.5, anchor="c")

root.mainloop()

[ ¢ |
# GUI - Python o B8 X

Hello Svaneti!

[ ¢ GuiPython - |

Click Me |0| Hello Svaneti!

.

99¢9mdobgdol  2odmbo@obo o  godmoygbgds

©535BHgdomo  messagebox dmo, MHmIgeros dgoiegl
showinfo() ®w9bJgosl, MMIgwos godmo@sbl  GgduBH®
39080 993960 BaduBL. dgEsbowo EgduEol dobomgds
300m0ygbgds  StringVar  3md3mbgb@o, GOmameE  ogm
50F9M0wo ghHm-9mHom [obs 09dsdo.

3934dbs»  MRG®™  GOIO  FoPIWODO d9@obols
a3mmIoom:

from tkinter import *
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from tkinter import messagebox
def display_full name():
messagebox.showinfo("GUI Python", name.get() + " " +
surname.get())
root = Tk()
root.title("GUI - Python")
name = StringVar()
surname = StringVar()
name_label = Label(text="090@&s690 Lobgero:")
surname_label = Label(text="890¢sbgm a3560:")
name_label.grid(row=0, column=0, sticky="w")
surname_label.grid(row=1, column=0, sticky="w"
name_entry = Entry(textvariable=name)
surname_entry = Entry(textvariable=surname)
name_entry.grid(row=0,column=1, padx=5, pady=5)
surname_entry.grid(row=1,column=1, padx=5, pady=5)
message_button = Button(text="Click Me",
command=display_full name)
message_button.grid(row=2,column=1, padx=5, pady=5,
sticky="e")

root.mainloop()
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w

# GUI- Python o B X

Boyo@abno babgenn: (Sandro

Byo@sbnom aasén:  [Lomjaria

[ ¢ GuIpython o C“d"”“"‘:"|

| Sandro Lomjaria

Entry 8g00m@9d0

Entry 9wqgd9b®dl g3l dogero Gogo 9gmm@gdo. doom
dm6Hob JoMH0Ms©Yd0s:

— insert(index, str) - &9duGH® 39080 BsLZLAL LEGHMOJMBL
0bgdlbols Jobgz00;

= get() - 50MbgdL Houd N 3gwdo Bg@sboe HoudL;

— delete(first, last=None) - §58col LoddmmL first 0begd-
Loom. v JoMoMYOME0s last 356589@M0, 5006 Fodws
dmbggds last 0bgdlsdy. dmermdg Folsdergws
d9mMg 356M5d9GMo dgodengds Entry  3609369wmdols
259myabgde.

396boo 890000 99M30Ygbmm 3OMAEMSTsdo:
from tkinter import *

from tkinter import messagebox

def clear():
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name_entry.delete(0, END)
surname_entry.delete(0, END)
def display():
messagebox.showinfo("GUI Python", name_entry.get()

+"" + surname_entry.get())
root = Tk()
root.title("GUI - Python")
name_label = Label(text="890@&sbgm Lobgero:")
surname_label = Label(text="890@&69m 33560:")
name_label.grid(row=0, column=0, sticky="w")
surname_label.grid(row=1, column=0, sticky="w"
name_entry = Entry()
surname_entry = Entry()
name_entry.grid(row=0,column=1, padx=5, pady=5)
surname_entry.grid(row=1,column=1, padx=5, pady=5)
# Loyobo IMbs39dgd0L Bl
name_entry.insert(0, "Anna")
surname_entry.insert(0, "Karden")
display_button=Button(text="Display", command=display)
clear_button = Button(text="Clear", command=clear)
display_button.grid(row=2, column=0, padx=5, pady=5,
sticky="e")
clear_button.grid(row=2, column=1, padx=5, pady=>5,
sticky="e")

root.mainloop()
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36MHMyM5dol 45939005 mM039  GH9JuBHG  39wdo
059953995 39dLGHo Mo oom:
name_entry.insert(0, "Anna")
surname_entry.insert(0, "Karden")
Clear @030 SLMBMOZ90L ™mGO39 390, delete
39000 25dmdsbgdom:
def clear():
name_entry.delete(0, END)
surname_entry.delete(0, END)
d9mM9 ©ows3o get 9gomMmEOl dsdmygbgdom doowgdl
39¢obow BadudL:
def display():
messagebox.showinfo("GUI Python", name_entry.get()
+"" + surname_entry.get())
05653, MMaMOE 350589GHM0D BBl 565300909~
wos Entry-8o ol 08030sGommod  StringVar  @odol
33Woom, b T9A30dW0s  453539JNM®M 306306  get

9d9MEOm.
12.7. Checkbutton

Checkbutton  gwqdgbGHo 6oL  5¢sdo, MMIgELsls
990dgds 3Jmbgl MmMo dyMIs®mgmds: dmbodbro s
dm96006530.

093936500 56030 Sensdo:
from tkinter import *
root = Tk()
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root.title("GUI - Python")

root.geometry("300x250")

ismarried = IntVar()

ismarried_checkbutton = Checkbutton(text="@omy sbgdmeo",
variable=ismarried)

ismarried_checkbutton.pack()

ismarried_label = Label(textvariable=ismarried)

ismarried_label.place(relx=.5, rely=.5, anchor="c")

root.mainloop()

Checkbutton g9gd9bGHOL  gobbgz939dwo  bodsbos
IntVar 3m33mb6963056 808536900l 99lodemqdemds variable
3965393HM0oL  89d39mdom.  dmbodbmer  IMIsMrgmdsdo
IntVar 53538060930 3m33mbgb@L 5gd3b 1 8603369amds,
boem  dmmbodbsgdo - 0. Lodmeomm xoddo  IntVar
99939mdom 389330005  80300Mm»  dMIbIsMgdols  doge
80001900 8603369 mds.

§ GUI- Python = | B |

™ @i shndeyemo
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Checkbutton 3mblEMWJEHMOO 0090l Jdger oY

3565393M90L, OMIOoL sbTsMYdom TgodEgds  Sendgdols

Sbobgol sHgmdo:

Checkbutton(master, options)

master 35659930  (oMmMoygbl  8dmwls FdMdgw

7obx M5B, bmwm options  39M6dgBHO0  [oMmIMoygbl
39900930 356589@ 900l b5369dU:

activebackground-s¢ndoll  gmbol  ggMo  ©sFgOOW
9 MBs6M9Md580;

activeforeground - o¢d0oL G9JuAHOL FJOHO  EOFIOOE
9 M3o69Md5d0;

bg - 5¢d0l Bmbols B9GO;

bitmap - 5¢30LmM30L JMbMJOHMTMEo F5FMbObMEgds;

bd - LoBEZIMO 5ol OMYZ0G;

command - 3370 Bw6J30BY, HMIGEoE godmodebgds
5e053Bg ©5FGOOLSL;

cursor - 396OLMOO JergdgbEmob do@sbolal;
disabledforeground - &gJu&Hob gg®o DISABLED dgogmds-
9md5J0;

font - IHox®0;

fg - HoduBob Bgoo;

height - 90093960l Lodsweng;

image - @6M53039Wo  25dMBobmEgds,  gagdgb by
SbobEo;

justify -39JuGHoUl gomsbodmgds: CENTER, LEFT, RIGHT;
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offvalue - 55856 sbmgo®mgdmwo IntVar  (33eoob
36003690™d5 8mbodbsg dymBs®mgmdsdo, Moo
G005 0-ol;

onvalue - 5@odmob SLmE30MgdMo IntVar  (33a0oo0b
9603369 mds dmbodbmer dymIstmgmdsdo, ©Idowoo
G™Meos 1-0l;

padx-dqf3900  GH9JuBo©sb Totrxgbog s dsbbog
5endol LoBM3MY;

pady - 89593000 Hogduhowsb bg30m ©s J3g3000 SeEwdols
LoBO3M3Y;

relief - 5¢d0oL bEHOE0,dowom od3b I60IZbgeMds
FLAT;

selectcolor - 5¢»dol 335MoE0L BIMO;

selectimage - 950mbobmEgds sesdBY, GMEILSE 0O
009433905 3b0dbv)en dyMIs®mgMdsdo;

state - 9w9dgb@ol dyMAsMgmds, F90dwgds JoomU
36009369wmd900 NORMAL (wdowwom), DISABLED o
ACTIVE;

text - 929d96Gob Badudo;

underline - 2obsHMo LoddmEml 0bgdbo  SeEdol
GadbHvY;

variable - 33990 3305BY, Hmyme3 fobo, IntVar @oso,
GdgoE 0bsbs3L sedols IMTsgmdsls;

width - 9e9396@0b Logsby;

wraplength - 9wwg3d96@0b  GaduBHbg LoddMEMgdOL
390053965 Bb3s baHby.
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3ob30bowmm 3Gy Bmoghomo  dobbowrmeo
356539¢3M0bL 259myqbgdoom:
from tkinter import *
root = Tk()
root.title("GUI - Python")
root.geometry("300x250")
python_lang = IntVar()
python_checkbutton = Checkbutton(text="Python",
variable=python_lang,
onvalue=1, offvalue=0, padx=15,
pady=10)
python_checkbutton.grid(row=0, column=0, sticky=W)
javascript_lang = IntVar()
javascript_checkbutton = Checkbutton(text="JavaScript",
variable=javascript_lang, onvalue=1, offvalue=0,
padx=15,
pady=10)
javascript_checkbutton.grid(row=1, column=0, sticky=W)

root.mainloop()

[ # GULPython  lecalo(E). [ |

[ Python

[ JavaScript
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12.8. Radiobutton

Radiobutton = ge0gdgb@o  sOOL 20O MN3gE0,
MmIgeoi 039magds M6 dEymdscgmdsdo: dmbodbver b
dmbodbsg. Checkbutton 9wgdgbEobasb  goblbgeggdom

090496905  29@IMM39Egd0L  XaR0,  OHMIGWDSYSD
IONEOMMWI© Fgodwgds IbMEmE goomo  gwgdgb@ol
56B93o.
39630bomom dsgowomo:
from tkinter import *
root = Tk()
root.title("GUI - Python")
root.geometry("300x250")
header = Label(text="s06Bogo 39OLO",
padx=15, pady=10)
header.grid(row=0, column=0, sticky=W)
lang = IntVar()
python_checkbutton = Radiobutton(text="Python",
value=1, variable=lang, padx=15, pady=10)
python_checkbutton.grid(row=1, column=0, sticky=W)
javascript_checkbutton = Radiobutton(text="JavaScript",
value=2, variable=lang, padx=15, pady=10)
javascript_checkbutton.grid(row=2, column=0, sticky=W)
selection = Label(textvariable=lang, padx=15, pady=10)
selection.grid(row=3, column=0, sticky=W)

root.mainloop()
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5  29bLOBOZOMWOos MO0 QOIFOMZI0,  ogMsd
06039 808305 gho - IntVar (33s09b. $8530MMMMS©
o 9930  goblbgeggdmeo  960d3bgermdgd0, OHMIgdOE3
©5496@9ds value 356M599GHMOL 99039mdom. s80GH™MI 9MHMO
395IMOM39oL BsOHMZ0LOL, gJMEg 53EMISGHTIMIP JOWO3S
9dmb0dbsg dmotgmdsdo.

[ § GUI - Python [N

sofafogo py@lbo

" Python

{*+ JavaScript

2

e

2953OM39eol  offymdoliomgol Radiobutton  3mbLE)-
GO0 8000qdL M6 3609369 MdLL:

Radiobutton (master, options)

306390 35M539@®0 - master s6OHOL ddmo JIMdYE
706X 965D, brrgom Igmeg 356053930 590705690l 9990
3565993HM9gd0oL bo3MgdL:

— activebackground - 93MM39wol  Bmbol  ggMHo
Q5 F9MH0 3MIoMgmd5d0;

— activeforeground - 25059H»390l F9gduGHob B9OO ©sF9-
Mo daM3s6MH9Md530;

—  bg - 3905960mM39wol Bmbol BgcO;
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bitmap - 25053639 obmM30L dMbmdOHMIMwo Qsdmbs-
bEgds;

borderwidth - Lsb©35M0 45IOMNZIOL 0MY30G;
command - 3370 Bw6J305BY, HMIGEoE godMmodsbgds
39O M39 DY FIMHOLL;

cursor - 396OLMLEOO gargdgb@ by do@sbolsl;

font - IM0x®0;

fg - Hodudob Bgoo;

height -9e9396&0b Lodswmary;

image - 9ww9d96GHBg SLObWMWO FMIBOIMEO QoTMUsby-
GHSRY

justify -39JuGHol gomsbsd®9ds, Joomgdl 3b0d3zbgemdgdL:
CENTER, LEFT, RIGHT

padx - 99%93990 G9gduBHosb dotx3bog o dobibbog
39053OM39obL LEBOZMOY;

pady - 99f93900 HIJLEH0 bg30m @ J393000 oS-
dOmM3900L BobEZMSIWY;

relief - 25@3MM390L LEHOEO, Ewdowom J3L 960d3-
Bgemds FLAT;

selectcolor - 25053OHmM39w0l FOHob 39Mo;

selectimage - 259mbobgds 25390 DY, MMEILSS
090 09Yym339d5 dmbodbmen 8ymdsmgmdsdo;

state - 9w9396GHoL IEAMIMGMds, Fg0dwgds FooMML
3600369wmd900: NORMAL (wydoerom), DISABLED s
ACTIVE;

text - ggdgb@ol G9du@o;
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— textvariable - @o09gbgdl StringVar (33e0o@msb 80ddsl,
IG5 09935 25ITOMZ90L BH9JLEU;
— underline - 9¢9396@&0bL G9JuGHTo gobsbmwo Loddmemls
0bgdLo;
— variable - 30305 33WobY, GMmymeE fgbo IntVar Eodoo,
dgoE 065H3L 49O MZgerols IAMISMGMdL;
— value - 50530mM39col 360dg3bgEmds;
— wraplength - 9wg396@0L Ggduddo  LoTdMEMgdOL
3905365 b3 baHbyY.
399m3099bmo  obbowEo  356599BHMJO0  3MIAGS-
dsdo:
from tkinter import *
languages = [("Python", 1), ("JavaScript", 2),
("C#", 3), ("Java", 4)]
def select():
1 = language.get()
ifl==1:
sel.config(text="s6bgocros Python")
elif == 2:
sel.config(text="s0Bgxos JavaScript")
elif] == 3:
sel.config(text="s6Bgmos C#")
elif 1 == 4:
sel.config(text="s6hgmn0s Java")
root = Tk()
root.title("GUI - Python")
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root.geometry("300x280")
header = Label(text="s06bogm 3MLo", padx=15,
pady=10)
header.grid(row=0, column=0, sticky=W)
language = IntVar()
row =1
for txt, val in languages:
Radiobutton(text=txt, value=val, variable=language,
padx=15, pady=10, command=select)\
.grid(row=row, sticky=W)
row +=1
sel = Label(padx=15, pady=10)
sel.grid(row=row, sticky=W)

root.mainloop()

[ # GuI- Python ESESS=)

soffonom pflbo

{* Python

" JavaScript

" C#

" Java

3R pmeos Python
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12.9. Listbox

Listbox 9gdgb@o §ocmdmoygbl mdogd@gdol Losb.
3963L5B3OM™ JoMEH030 Los:

from tkinter import *

languages = ["Python", "JavaScript", "C#", "Java"]

root = Tk()

root.title("GUI - Python")

root.geometry("300x280")

languages_listbox = Listbox()

for language in languages:

languages_listbox.insert(END, language)

languages_listbox.pack()

root.mainloop()

listbox 9a9dgbEol dg3lgdolmgol for 303¢do Mbs
3930560mo languages Lool yzgers 9egdgbG by o (39039
9w9996GL 35953 90m listbox-do insert() dgomoom. insert()-
do 306390 5MHMIgbEBHOL Loboo 993995 9w9dgb@ol
Bsbdol 0bggdbo. vy @30bs  9egdgbBHgdol  56d0d-
©I3OMWSO  F5FH0o, 35806  0bggduol  bozzero

d90dgds END 3603369¢0mdols godmygbgds.
# GUI- Python e[ S ]

Python
JawaScript
_=

Jawa
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listbox 0ggbgdl 93y 356539GMYOL:
bg - 3mbol B39co;
bd - LoBEZgOOL Loldg 9ergdgbEHOL 0MY3W0g;
cursor - 3v)OLeOOo Listbox-bg do@sbolbsl;
font - IHoxEHOL ©sygbgds;
fg - HadbHoL Bgoo;
height -99996¢0L Lodowerg LGHMOJMbIdT0; ©Toom
SLobogl 10 bGMmoJmbls;
highlightcolor - 9eqd96@0b B9M0, HmEgbsg 00 0LIdL
B3LL;
highlightthickness-9¢g396@0b Lsbmg®ol Lolbdg, Gmg-
Lo 030 BM3MLA0s;
relief - ©5599690L 9e9396E0L LG, Toom 3L
396003369 mds SUNKEN;
selectbackground - godmymgowo 9gwgdgb@ol  gmbols
BIOO;
selectmode - 256L5BO3M3L ModIbO 9ergdgbEo dgodeg-
05 0ymb @odmygmaowo. dgodegds dooeml 89dwgao
d600369wmdgd0:  BROWSE,  SINGLE, MULTIPLE,
EXTENDED. 09sgoomo©, ¢ ULsgomms BsoGmmls
9w93963900L M3 MBOMO godmymazs, d5dob dgodengds
MULTIPLE 56 EXTENDED 8608369003900l g59tygb9ds;
width - 9¢9396@&9d0b Logsbg LoddmEmgddo. wdowom
- 20 9e9dgbo;
xscrollcommand- 30A0BMmbEsw M0 2o000b3939;
yscrollcommand - 396 3035¢0M0 25000b3930.
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Listbox 9939630l go8myggbgdolislb  bmgogdom
Lol Homdmoagbls Asobzg3zol  d94dbs. 3bsbmm
QMO 1B STOL go39m9ds:
from tkinter import *
languages = ["Python", "JavaScript", "C#", "Java", "C/C++",

"Swift", "PHP", "Visual Basic.NET", "F#",
"Ruby", "Rust", "'R", "Go",
"T-SQL", "PL-SQL", "Typescript"]
root = Tk()
root.title("GUI-Python")
scrollbar = Scrollbar(root)
scrollbar.pack(side=RIGHT, fill=Y)
languages_listbox = Listbox(yscrollcommand=scrollbar.set,
width=40)
for language in languages:
languages_listbox.insert(END, language)
languages_listbox.pack(side=LEFT, fill=-BOTH)
scrollbar.config(command=languages_listbox.yview)
root.mainloop()

395b3930L  MmMsb0Bgdolmzols  0ddbgds  Scrollbar
09996¢0.  30OG0PYNE  3oEsb3gzoLeZoL  Bogy-
0™ 350539 3O0:

yscrollcommand=scrollbar.set.
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[ § GuL-Python SRS

Python &
Javascript

C#

lava

C/C++

Swift

PHP

Visual Baszic,MET
Fz

Fuby -

m

dmenmdo scrollbar sbmEoMgds gmbjgoom, MHmIgaros

mbs gLl goobz930LLL. ImEgdmen 89dombggzsdo
9L 560U listbox gergdgb@ol yview dgommo. h396 993dwqdom
92999560 920b 20@2b393°b 3INGOILYH.

Listbox - ols J06005¢0 390030

Listbox 9egd9b9@oob Lsdmdsme godmoygbgds domgaro

600 39000J00. 25630b0M DMY0gM0 FomYsbo:

— curselection() - 506MHbgdL odmgmBoo gargdgbEHgdol
0bggLgdol 653609dL;

— delete(first, last = None) - {odcol 9939639l 06cgd-
bgdoo [first, last] ©0535HMb0IL. 0¥ Fgmg 3565390
390mGH™M390Me0s,  358ob  (odwols  dbmerm  ghom
999963 first obgdlom;

— get(first, last = None) - sdOMBIOL 30O, OMIgEwos
3903393L 9e0gd96@& 900l BHaJuBL 0bgdugdom [first, last]
©0535DMb0sb. ™ Fgmeg 356M539gBHO0  FodMmEHM39d-
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@05, OMMBEYds FbmemE 9egdgbEol Ggdudo first
0bgdlom;
— insert(index, element) - 993963L Boligzodl 4oBLsBEZOHYY)-

o 0bgdbom;
- size() - 506bBgdL 9e9d96@EJdOL MoMmgbMdL.

39630bowmm dsgoomo (o@mdmpygbowo dgmmgdols
399mygbgdoo:

from tkinter import *
#250mymz300 9e9d9gbE ol Hodwms
def delete():
selection = languages_listbox.curselection()
#000:309¢00 G000 flssdergero gergdgo obegilioo
#selected_language= languages_listbox.get(selection[0])
languages_listbox.delete(selection[0])
#5550 99996@ 0L ©oTs3gds
def add():
new_language = language_entry.get()
languages_listbox.insert(0, new_language)
root = Tk()
root.title("GUI - Python")
#39JGHO0 390 S VO30l LOSTO ILHTSEHJIS©
language_entry = Entry(width=40)
language_entry.grid(column=0, row=0, padx=6, pady=6)
add_button = Button(text="@o05390ds",
command=add).grid(column=1,

row=0, padx=6, pady=6)
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# 349600 Losl

languages_listbox = Listbox()

languages_listbox.grid(row=1, column=0, columnspan=2,

sticky=W+E, padx=5, pady=5)

# L0500 3595390 LYol 9e9gdgbE 9oL

languages_listbox.insert(END, "Python")

languages_listbox.insert(END, "C#")

delete_button = Button(text="{sd¢s",

command=delete).grid(row=2,
column=1, padx=5, pady=5)
root.mainloop()

ool 9e9gdgbEol 35603290 gdOLM30L 4obLYBOZMY)-
W05 MO0 QOWS30. 306039000  VOS30  0dobgdl  add()
B9bJgosk, Gmdgrog 0egdl GadbdHy® 3gwdo FgBsboww
96003690md5L o 535@gdl Aol Losdo 306039 >EYOWDBY
insert() d90m@oL 459tmygbgd0o.

d9mMg 0030  ©5FJOOLSL ool  godmymaoen
99996@¢)L.  58oLomzol  B39h  093WI30MZ9WO©  300JOM
3o0mymR0 0bgdLgdL curselection() 9900MEO.
6599650053 B396 990mbgz93580 259moymazs bmerm 9Mmo
9939630, 990@H™I 300900 ol 0bgJul  selection[0]
3900bsbMgdols 99839md0m s 53 0bgJLL 2533900
delete() 8900mUL {odgoliomzol.
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[ § GUL- Python ESREEE™S)

C++] @At

C++
Pytheon
C#

12.10. 996091 d9Jabs

096Ms6OJomeo  dgboml  Iglogdbgero  2odmoygbgds
Menu 36MHmyM58Mwo  IMOMWO. d9bovy  890degdos
89035301 3M535¢  gegdPPAL, ™Mby gb  gergdgbhgdo
3900905 0300Mb Fo6HIMo9bql 3960l s FgoiEeggL
bbgo 9w9896390L. dgomo FgoMbg3zs odol dobgzom, mv
999963900l OHMIgemo  GHodo by ©sgdsG™L  dgbonb.
396dm@, dobsizmdos 99990 IJNMEIIO:
— add_command(options) - 3960930 ©595@gdL gargdgb@l
options 356539GHMol d9939Mmd00;
— add_cascade(options) - 3960930 @5535@ gL 9e9dgbAL,
OMIgwoig moz0l  dbG®og Fgodergds  HomImoagbogl
9399960vU;
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— add_separator() - s595&9dl 353gmg3 bobls;
— add_radiobutton(options)- 9960930 55353 JOL Q5IOM-
30l;

— add_checkbutton(options) - 396080 ©s535EHJOL S¢db.
39393650 doerEogo dgbov:
from tkinter import *
root = Tk()
root.title("GUI - Python")
root.geometry("300x250")
main_menu = Menu()
main_menu.add_cascade(label="File")
main_menu.add_cascade(label="Edit")
main_menu.add_cascade(label="View")
root.config(menu=main_menu)
root.mainloop()

d960mL  3bgdBHgdol  @oLLTSEJOWSE  Fodmodabgds
add_cascade() 9gomqo. 53 9gMmETo gos9i39ds Igbonls
3mbd@ol  356589@®9d0, ImEgdmee dgdmbgzglzsdo  olobo
Pomdmpqbowos GgdudMo Fom, HMIgdoE sYygbgds
label 356539&H®M0l d9939M00m.

dbmem@  dgboml  994dbs  9G5L53MOL0S.  LyFoMHMS
dobo  ©oygbgds  B0dEobstg  FIbXMOLbgol  menu
3965393M0L ©sbdsMgdoom config() dgomdo. Lodmermme,

3055303 Bobx ML 99690 9090 d960vy:
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" § GUL- Python E=REERT)

File Edit VYiew

L

535953 Mo J399960v:

from tkinter import *

root = Tk()

root.title("GUI - Python")

root.geometry("300x250")

main_menu = Menu()

file_menu = Menu()

file_menu.add_command(label="New")

file_menu.add_command(label="Save")

file_menu.add_command(label="Open")

file_menu.add_separator()

file_menu.add_command(label="Exit")

main_menu.add_cascade(label="File", menu=file_menu)

main_menu.add_cascade(label="Edit")

main_menu.add_cascade(label="View")

root.config(menu=main_menu)

root.mainloop()

dogoomdo  oblobzMmeos  file_menu J3999609,
OMIgog 9053905 doMomso dgboml 3oMzger 3mbJEL

menu=file_menu m33000:
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main_menu.add_cascade(label="File", menu=file_menu)
[ ¢ GuI- Python oo

File | Edit View

Mew
Save

Open

Exit

d9bomls sLoHgmds Menu 3mbLEGHOVIIGHMOI0 Gg0dEgds
3°9m30996m0 899090 M3(30900:

— activebackground - d960L sg&HomMo 316JEoL BgHo;

— activeborderwidth - 3960l oBHomGo  3mbJEHol
LsBL3OOL Lobd9;

— activeforeground - 99600 sd@omGo 3964BHob GHgdu@ob
23960;

—  bg - 3mbol g9®o;

— bd - bL5BEO3OOL Lobdg;

— cursor - 05330l 35B39690¢0l  3MOLMOO  IgboMLmb
do@obolsls;

— disabledforeground - @960, GmELsi d9bovy 0dYmgzgds
DISABLED 808569 d53d0;

— font: - 39duEobL IGoREo;

- fg- 39duBHol ggmo;
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— tearoff - 9960w 990degds Rooblibols AMsx303wo Goby-
(0sb. 39Mdm, J399960mL bgzom BBL 9y39GH0w0
bsD0o, ®MmIomsi 030 890dEgds Bsoblbsls. o tearoff=0
93999609 56 Bsoblbgds.

from tkinter import *

root = Tk()

root.title("GUI-Python")

root.geometry("300x250")

main_menu = Menu()

file_menu = Menu(font=("Verdana", 13, "bold"), tearoff=0)
file_menu.add_command(label="New")
file_menu.add_command(label="Save")
file_menu.add_command(label="Open")
file_menu.add_separator()
file_menu.add_command(label="Exit")
main_menu.add_cascade(label="File", menu=file_menu)
main_menu.add_cascade(label="Edit")
main_menu.add_cascade(label="View")
root.config(menu=main_menu)

root.mainloop()
# GUI Ha Python = | B
Edit View

New

Save

Open

Exit
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3960l 9e9d963Hgdol  gobdslibgzs390gmo  mogzoligdv-
09055, M3 0o  MbEs  ©750090©IL  ©(353905DY.
53obsm3z0l  FgboMl  Bo3gME  gargdgb@l  8g0degds
dogmoomml command 350599GHM0, OHMIJWoE  ©I9Ygbgdl

09l BMbJgosty, MmIgwog  Mbs IO gl
50393900U05L.
from tkinter import *
from tkinter import messagebox
def edit_click():
messagebox.showinfo("GUI-Python", "©s3g®oos Edit")
root = Tk()
root.title("GUI - Python")
root.geometry("300x250")
main_menu = Menu()
main_menu.add_cascade(label="File")
main_menu.add_cascade(label="Edit",
command=edit_click)
main_menu.add_cascade(label="View")
root.config(menu=main_menu)

root.mainloop()
# GUI - Python == 2

File Edit Wiew

[ @ Gul-Python (S |

I maFooreos Edit
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